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Topic:- Child Development & Pedagogy (CDP)

1) Claustrophobia is a fear of enclosed places. It is an example of : / mm R Canca
BT 1 TS T IT60I &

1. Global Developmental delay / %fi.@ IGEak] %:QQI

2. Obsessive-Compulsive Disorder/ JT-a1HPBRI fdbR
3. Anxiety disorder / @19 f[ABR

4. Autism / 3fifeeH

Correct Answer :-
« Anxiety disorder / T1d fd®R

2) In “heuristics,” the child is free to go for any kind of possible rules or ideas to reach the solution.

This rule is called as:/ “WHYIAF My Jomel” §, =8 IUIYHE 6 g9 & o fousdt ot woR & wounfaq
oy sryar faemR &) Weraar @ 94 €, 39 oW & @1 $er S 82

1. rule of thumb/ SIHARIE F9H (Fd 3% YyT9)
2. differentiated rule/ fARfed Fm

3. mimicking rule/ S{JHIUI Ao

4. cognitive rule/ TITATHD g

Correct Answer :-

« rule of thumb/ SIHARTE FHIH (T 3{1th Yw)

3) Which is not the step of scientific method? /

e o A S19-91 agf=e YomTelt &1 @R A8l 82
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1. Experiment / TART
2. Interview / &P R

3. Prediction / Ga@iqHM™
4. Observation / 3{d@le

Correct Answer :-

« Interview / HI&TH IR

4) According Jean Piaget, children develop abstract logic and reasoning skill during ./
S e & OER, & R =l § 3d a& SR a9 SIRId [deiad sid ol

1. Concrete operational stage / Ilj HishaTed ST

2. Formal operational stage / 3fToTRes TfhaTeres g

3. Preoperational stage / d-SifFaTeT® Saw

4. Sensorimotor stage / Had] TR )T HIEY( AR

Correct Answer :-

» Formal operational stage / e Tfeharad Siawil

5) A self - directed learning process is arguably the most powerful model for facilitating and inspiring individual,
group and organizational learning and development. It means learners ___ /

e W-FER siftrmy wftsar, aafdama, e Sik we-Tars oftrnT ok fasry &t gfawr 3
.- weE ged TRl Aisw 81 s9®T Aaad & fb siftmmsal |

1. gke responsibility for learning and become goal oriented / AT 1 Rrart e % 3R E‘f&ﬁl’ﬂ,@ gl
I

2. compete with others / m%wmﬂfW%l
3. achieve the best scores / 35T TRUMH U Hd] %I
4. enjoy learning / 3T &I 3G AW@WRI

Correct Answer :-

« take responsibility for learning and become goal oriented / ST Bt TR e § iR ?T&Zhw ERGI

6) In which stage of psychosocial development does the child feel shame and doubt? / G EICRIBE
e & forg =xor & o= @) I SR Hig weH ghar 82
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1. Preschool / ?ﬂ'ﬂ?_d
2. Adolescent / fHRIRTGRIT

3. School age / ¥h ¢ 31Y
4, Early childhood / QJQ"‘\W—(ﬁ CISEAN

Correct Answer :-

« Preschool / UIpa

7) Proper sex education should be rendered at stage. / 3fd T fRra SARIT IR
TG DI ST T1feT

1. Childhood / dTcdp Tl

2. Adolescence /%@ﬂﬂ?«’-ﬂ

3, Adulthood / dU¥h

4. Barly childhood / URfH® STeddh1d

Correct Answer :-

« Adolescence / CRUNERI)

8) The ‘Hypothesis of Critical period’ was proposed by siF ‘Hﬂa’l}:ﬂf 3afy &1 TREedAT
% gRT ywaTfad o1 78 0

1. Helen Keller / %@HW
2. Noam Chomsky/ 19 AR |

3. Bloomﬁeld/ﬂmﬁ@
4, Eric Lenneberglma:l@f

Correct Answer :-

« Eric Lenneberg/ Eﬁﬁ?"a:lﬁ"f

9) Who is credited with the concept of Intelligence Quotient (1Q)? / ﬁﬁ'ﬁ] (IQ)
D YR HT 7 fH fear simar 82

1. Theodore Simon / WW
2. Spearman / AT
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3. Alfred Binet / 38 fo
4. William Stern / faferam T+

Correct Answer :-

. William Stern / faferas e

10) According to Piaget, intellectual growth occurs through adaptation to the world. This happens

g;l(_]ru%gh: / Frams & IguR, fS® e gfHar & srgged & wrerd | ghar 31 98 feas mum &

1. Absorption and Accommodation / S{ARIHU 3R JHGH (THIHSTH)
2. Acquisition and Autocorrelation / U 3R Taa: BRREL

3. Assimilation and Accommodation / STEHTEHRUT 3R FHG (‘Qaﬁ'ﬁ%—?ﬁ)

4. Assimilation and Acclimatisation / TETRIEHROT 3% SpEEAIR

Correct Answer :-

« Assimilation and Accommodation / 3TEFHTERRUT 3R THSH mﬁﬂ%m)

11) According to Albert Bandura, the process that is involved in acquisition, organization and use of
information is called process. / 3a¢ GgT & AR, I8 UfehaT S JET1 & SIRRISUI, Wie+
3R IUIRT F A il &, S Aferar w1 ST 3|

1. Cognitive / HJHTHS
2. Affective / THTS!
3. Self regulation/ & FIHA

4. Motivation/ U0

Correct Answer :-
« Self regulation/ W FITTT

12) What concept of conservation focuses on the amount of a substance that exists? / GI&UT PTHE AT

Rrgia fo=ft Aiver verd St A w Hfea g2
1. Weight / dqd
2. Area / &%
3. Mass / gHHE
4. Length / aTg
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Correct Answer :-
o Mass / gHHH

13) What cognitive ability are children displaying when they attribute human-like qualities to objects? /

T BIH-H WFATHS &HdT 32T I8 & o9 9 a3 1 AT YU & Haifda v 82
1. Egoccntrismf@rlg‘l-ﬂﬁ(ﬂ"ﬁ@%@)

2. Conservation / §&f0r
3. Animism / SI19dIG
4. Object permanence/ d¥] paJjibare |

Correct Answer :-

« Animism / SIS

14) Some children experience excessive anxiety at being away from home, even after a long period of
time. What might they be suffering from? / 9 T 6 THT AP IR oY TAF TG ’l-ﬂ', WY 14 A
TR 3l R o1 3gua Fa g1 I fra A RfEa gt awd 82

1. School phobia / Wlﬁﬁtﬂ

2. Social anxiety / R ISEAER]]

3. Conduct disorder / 3fTeRUl fdehR

4, Separation anxiety / {19 G RG]

Correct Answer :-

« Separation anxiety / 3G CARER]

15) An example of self-report measures of personality is/ i & TeA-RUe SuTal &1 Uh JqleIvul

1. MMPI / GHEAeS
2. Sentence Completion Test / dTeR] q;ufufr&rm

3. Rorschach Test / Idich TRI&0T
4. TAT / et

Correct Answer :-

+ MMPI / THUHUISE

Page- 5



16) Intense mood swing is a characteristic of / ?‘ﬂﬁ:@'%ﬂ @1 agor g:
1. Learning disorder / STRRTH Sf&rFT

2. Bi-polar disorder / ﬁiﬁf ICEAR

3. Conduct disorder / 3TRRUATA fd®hR

4, Anti-social personality / SIS A fddd

Correct Answer :-

« Bi-polar disorder / ﬁfifcﬁ faPR

17) Which of the following best describes Maturation of a learner? / Frafafea 9 & w1 e Rendf #
URUSHAT BT HTH SIS JUH Bl 82

1. Tt is a continuous process of individual development/ U8 e ﬁwﬁw ET‘IHE@TCIT%I
2. It is related with cognitive capabilities/ T8 HITHD Wﬁ%ﬂaﬁﬁ%l

3. Specific environment is required/ ARy IR Ft sragHAT eI B

4, It takes place at specific age/ 48 fafry S Hed el

Correct Answer :-

« Itis a continuous process of individual development/ 4% HfeaTTd fap™ &1 Us Uad ufehal 21

18) Which type of memory takes special account of context? / 5 yoR ot F[ﬁf e &1 oty sa=
Tl 82

1. Iconic memory / Hﬁ@t_‘fﬂ%

2. Echoic memory / Ui §fd
3. Episodic memory / WTRiRIH F{ﬁ
4. Sensory memory / Fadt F{ﬁ

Correct Answer :-

« Episodic memory / U ¥

19) Students who disturb others in a classroom are likely to have type of learning style./ Elf

gﬁﬁ&nﬁ;ﬂﬁaﬁqﬁmﬂmﬁ%’aﬂ%m THR Bt WG Bt Al g Bt FHTaHT geit
|

1. Kinesthetic/ ﬂﬁ'ﬂﬁfﬁ @Eﬁ@ﬁﬁﬁ)
2. Tactile/ TR (daeEa)
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3. Auditory/ 49Ul

4, Visual / €29

Correct Answer :-

+ Kinesthetic/ TTfagder @Eﬁ@ﬁ'ﬁﬁ)

20) Who carried out an experiment on memory involving nonsense syllables? / ﬁmﬁwﬁrwqwmﬂﬂ
T, o a@arT Rregier =nfHa 42

1. Ebbinghaus / TfeS-TaT
2. Atkinson / Tefch g

3. Posner / URGR

4. Calkins / BTeifch S

Correct Answer :-

» Ebbinghaus / TfsS=amg

21) Who proposed the concept of zone of proximal development? | Frpewy foeTa & & &t sraurn
T I¥ATd foa T@m?

1. Abraham Maslow / Wm
2. Lev Vygotsky / ©id argTiceht

3. Carl Rogers / T T
4. Albert Bandura / 3{GSIC SUGRI

Correct Answer :-

» Lev Vygotsky / GCESIEIRSCA|

22) The spinal cord develops earlier to the heart. This is because of the operation of the following

tendency. / ¢ 9 g3} ged & yd ReRra 81t 81 ue Frar ughy & e & SR g &:
1. General to specific / ITATY ¥ Ay &

2. Cephalocaudal / RitFaiBSST

3. Proximodistal / MIGITHATSC

4, Part to whole/‘-ﬂ"TﬁWW(‘Wf@éﬁ)

Correct Answer :-
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« Proximodistal / TIRIHAT ST

23) The following is an example of a secondary reinforcer. / ﬁaﬁi@aﬁ?ﬂwmww
IeTERu g

1. Ice cream / Hﬁﬁ'ﬁﬂ
2. Dress / UIRI&

3. Money / 8

4. Juice / IH

Correct Answer :-

* Money / U

24) Maladjusted children are generally seen in / HTHI-: Wﬂﬂﬁlﬂ T ﬂ'éf%.@ ST %
1. Broken family / o uRarR #

2. Rural arcas ATTHI0T &1

3. None of these /E:I'Ef T ﬁg T8l
4. Poor family / TRIe gRaR o

Correct Answer :-

» Broken family / foey ufvar &

25) One learns to use one’s muscles and acquires a skill due to: /
U i, AU BT SUINT A1 ARGl § 3R SHP PRI Ueh DI YT HIdT &
1. Maturation /

PITCESGI|

2. Exercise /

SN

3. Learning /

ST
4, Parents’ force /
USR] T SR

Correct Answer :-
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+ Maturation /

26) During the first half of the 20th Century, students, those identified as
having special needs, received few or no special services in the schools.20 / af

YA P UEA DURI P ERME, o, RFd! ugar faiv smawasar
@A aTdl & FUH B T3 A, I @l § O 1 Dy (A=Y HaT gl fyeit A

1. Above average / 3T T 31fds

2. Exceptional / STTERUT

3. Mentally retarded / RS U Y Hg
4. Poor / HRG]

Correct Answer :-

¢ Exceptional / S{HTYRU
27) CANCELLED

VARK model of student learning was proposed by: / ©TA SITH BT a1 Hied E%W
yaTfad foar /™ T

1. Kohlberg /aﬁ@ﬁ

2. Neil Fleming /:ﬂﬁq@iﬁq‘ﬁ
3. Piaget /fﬁm@r

4. E. Erikson / 3. 3R

Correct Answer :-

« Neil FIeming/:ﬁ?ftI@Iﬁ"T
28) CANCELLED

During the emergence of language, the ‘jargon’ period is present during / W%Wa?a?ﬁ, “Rleguilel
AT ST A $6 R Bl 6:

1. Nine months to one year / ﬁiq‘a‘]ﬁ ﬁ@ G
2. Birth to three months / 5+ I 49 7814

3. Three to six months /dH 9 &: A
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4. Six to nine months / @: ¥ 7T ﬂ'&ﬂef

Correct Answer :-

« Six to nine months / &: ¥ AT AEA

29) Which of the following is the best way for parents to support and help children cope with

failure? / FFETAITET & A SI-I1 AT gRT a1 BT 3P adar A fAuea & ¥ 39 o
IAP! Hag DI DT T ST A IbT 82

1. Create a comforting environment for the child to engage in another activity to forget their failure / AP

BTl Bl YA & fo18 s ol fpdt o nfafafl Ff ovd v 3 U IRMes uRaw &1 Hafor a1

2. Listen, empathize, then focus on opportunities to learn, not abilities / {1, Hﬁilj‘lﬂzﬁ ], e

TRIA & IR TR &M dhigd H31, 7 b ewarsi i1

3. Create an environment for our kids that shelters them from potential failure or disappointment /

3 g1 & fore U Ui &1 Ao 6% S I8 THITIT SR erdr I HR=n & =

4. Push kids beyond their capabilities / S B ST &S T X HYhET AT G BT

Correct Answer :-

« Listen, empathize, then focus on opportunities to learn, not abilities / I, {-ISI:J,‘{% -], i

TR & IR TR & Digd H3A1, 7 b eHarsi |

30) Inquiry approach method develops the ability of learners for / Uars efy®ivr faftr & Rrenfat #5
e & o emrar &1 fawr ghan 8:

1. Using the experience of a teacher / U& R1&/h & meml

2. Assimilating more information in less time /mwﬁ B AFHR! B AT BT
3. Experimentation /EI@FT

4, Maximizing verbal Iearning/ﬁm &maﬁmﬂ?ﬂmwm

Correct Answer :-

« Experimentation / TaNT

Topic:- General English(L1GE)

1) Fill in the blank with the correct option in the given sentence:

The ‘run’ of courses in an educational institution is called its --riculum.
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1. epi--
2. trans --
3. cur --

4, pre -

Correct Answer :-

2) Fill in the blank with the correct option in the given sentence:
The subway system was designed to be expand --.

1. --ablity

2. —-ing

3. --able

4. --ings

Correct Answer :-

e --able

3) Which of the following options best combines the given sentences?

Dogs are friendly. Cats aren't friendly.
1. Dags are friendly but cats aren't friendlier.
2. Dogs are more friendlier than cats.

3. Dogs are friendlier than cats.

4. Cats aren't so friendlier than dogs.

Correct Answer :-

+ Dogs are friendlier than cats.

4) Choose appropriate articles for the given sentence:

important element in telling story is following ____ time or chronological order.

1. The ... a ... no article required
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2. No article required ... the ... no article required
3.An..a..a

4. An ... no article required...the

Correct Answer :-

5) Choose appropriate article for the given sentence:
After the show was over we used van to go back home.
1. an

2. the

3.a

4, no article

Correct Answer :-

6) Choose the appropriate option that rewrites the given sentence in its passive voice.
I bought two cans of fruit.

1. Two can of fruits was bought by myself.

2. Two can of fruit was brought by |

3. Two can of fruit has been bought by myself.

4. Two cans of fruit were bought by me.

Correct Answer :-
+ Two cans of fruit were bought by me.

7) Choose the appropriate synonym for the highlighted word in the given sentence.

Eric was infuriated when he found out that ink had been poured over his assignment that he had
worked hard on the previous day.

1. blissful
2. incensed

3. worried
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4, calmed

Correct Answer :-

» incensed

8) Choose the appropriate tense to fill in the blanks in the given sentence:

Yesterday I to the market, although it .
1. goes... is raining

2. go... rained

3. went... is raining

4. went... was raining

Correct Answer :-
* went... was raining
9) Choose the appropriate tense to fill in the blank in the given sentence:

Tonight, I a letter to the coach to provide better facilities in the locker room.

1. have been writing
2. was writing

3. am going to write
4. had been writing
Correct Answer :-

« am going to write

10) Choose the appropriate antonym for the highlighted word in the given sentence.

There is a lot of controversy about cloning.
1. beliefs
2. strives

3. acceptance

Page- 13



4. arguments

Correct Answer :-
» acceptance
11) Choose the appropriate conjunctions for the given sentence.

was his strength he was single handedly able to move the fallen tree.

1. Whether ...or
2. Neither ... nor
3. Such ... that

4, Either ...or

Correct Answer :-
« Such ... that

12) Choose the appropriate determiner for the given sentence:

In spite of ____ opposition, he had to surrender eventually.
1. less

2. much

3. no

4, little

Correct Answer ;-

+ much

13) Choose the appropriate prepositions for the given sentence:

Every minute, three billion cells ____ a little girl's body is being replaced ______ new ones.
1. in ... for

2.in ... by

3. of ... through

4, from ... with
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Correct Answer :-

14) Choose the appropriate indirect speech for the given sentence:

“| am here to bury Caesar, not to praise him” said Mark Anthony

1. Mark Anthony remarked that he was there to bury Caesar, not tc praise him.

2. Mark Anthony remarked that he is here to bury Caesar and not to praise him.

3. Mark Anthony was here to bury Caesar and not to praise him.

4. Mark Anthony said | am here to bury Caesar and not to praise him.

Correct Answer :-

« Mark Anthony remarked that he was there to bury Caesar, not to praise him.

15) Choose an appropriate modal for the given sentence:

I____ go to Delhi day after tomorrow if I get the reservation.
1. would

2. might

3. may

4, can

16) Choose the option that best explains the highlighted expression:
At last our work is bearing fruit.

1. producing fruit

2. producing a positive vibe

3. producing good or successful results

4. reaping a burden

Correct Answer :-
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+ producing good or successful results

17) Choose the most suitable pronoun for the given sentence:
I found this book in my cupboard. Is this book 7

1. their

2. your

3. yours

4. my

Correct Answer :-

* yours

18) Read the content carefully and answer the questions given below it:

A gentleman once advertised for a boy to assist him in his office, and many applied. After a short
time, he chose one among them. When asked why he had chosen that boy, the gentleman said, “"He
wiped his feet when he came in, and closed the door after him, showing that he was orderly and
tidy. He gave up his seat instantly to that lame old man, showing that he was courteous. He lifted up
the book, which I had purposely laid on the floor, and placed it on the table. When I talked with him,
I noticed that his clothes were neat, his hair well combed, and his teeth very white. When he wrote
his name, I observed that his finger-nails were clean; he waited quietly for his turn. Therefore, I
chose him”.

The boy was courteous because:

1. He offered the gentleman some gifts

2. He wished the gentleman as he entered the room
3. He asked the gentleman about his health

4. He gave up his seat instantly to a lame old man

Correct Answer :-

« He gave up his seat instantly to a lame old man

19) Read the content carefully and answer the questions given below it:

A gentleman once advertised for a boy to assist him in his office, and many applied. After a short
time, he chose one among them. When asked why he had chosen that boy, the gentleman said, “He
wiped his feet when he came in, and closed the door after him, showing that he was orderly and
tidy. He gave up his seat instantly to that lame old man, showing that he was courteous. He lifted up
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the book, which I had purposely laid on the floor, and placed it on the table. When I talked with him,
I noticed that his clothes were neat, his hair well combed, and his teeth very white. When he wrote
his name, I observed that his finger-nails were clean; he waited quietly for his turn. Therefore, I
chose him".

What was the advertisement for?

1. To get an assistant for the gentleman in his office
2. To get a partner for the firm

3. To employ a peon for the office

4, In order to advertise the company’s products

Correct Answer :-

» To get an assistant for the gentleman in his office

20) Read the content carefully and answer the questions given below it:

A gentleman once advertised for a boy to assist him in his office, and many applied. After a short
time, he chose one among them. When asked why he had chosen that boy, the gentleman said, “He
wiped his feet when he came in, and closed the door after him, showing that he was orderly and
tidy. He gave up his seat instantly to that lame old man, showing that he was courteous. He lifted up
the book, which I had purposely laid on the floor, and placed it on the table. When I talked with him,
I noticed that his clothes were neat, his hair well combed, and his teeth very white. When he wrote
his name, I observed that his finger-nails were clean; he waited quietly for his turn. Therefore, I
chose him”.

What is the passage all about?

1. How to attend an interview?

2. Fashion and grooming

3. Boasting of one’s knowledge

4. Importance of good grooming and manners

Correct Answer :-

+ Importance of good grooming and manners

21) Read the content carefully and answer the questions given below it:

A gentleman once advertised for a boy to assist him in his office, and many applied. After a short
time, he chose one among them. When asked why he had chosen that boy, the gentleman said, “"He
wiped his feet when he came in, and closed the door after him, showing that he was orderly and
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tidy. He gave up his seat instantly to that lame old man, showing that he was courteous. He lifted up
the book, which I had purposely laid on the floor, and placed it on the table. When I talked with him,
I noticed that his clothes were neat, his hair well combed, and his teeth very white. When he wrote
his name, I observed that his finger-nails were clean; he waited quietly for his turn. Therefore, I
chose him".

According to the passage, which of the following sentences is TRUE?

1. Only two applied for the post
2. Many applied for the post
3. Three boys applied for the post

4, One boy and two girls applied for the post

Correct Answer :-

» Many applied for the post

22) Read the sentence carefully and choose the option that has an error in it:
After having dinner, I felt badly and had to be taken to the hospital.

1. After having dinner,

2. and had to be taken

3. | felt badly

4. to the hospital.

Correct Answer :-

+ | felt badly

23) Read the passage and answer the question that follows:

After lunch, Susie played for a while by the brook. She threw sticks into the water, and Rover swam in gleefully and
brought them back. Then she began to pick berries again. She did not enjoy the afternoon as she did the morning. The
sun was bright, the berries were sweet and plentiful, and she was neither tired nor hungry. But good, faithful Rover
was hungry, and she had not given him even one piece of meat. She tried to forget how self-centred she had been and
quite early she started for home. When she was nearly out of the woods, a rustling in the underbrush attracted her
attention. "I wonder if that is a bird or a squirrel,’" she said to herself. She wanted to catch it and tried to make her
way quietly through the underbrush, but she was terrified when she saw a large snake coiled up before her prepared
for a spring! She was frightened so much that she could not move. But valiant Rover saw the snake, and springing
forward, seized it by the neck and killed it. When the faithful dog came and rubbed his head against her hand, Susie
put her arms around his neck, and burst into tears. Rover understood and capered about in great glee, barking all the
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time. You may be sure that he had a plentiful supper that evening. Susie never forgot the lesson of that day. She soon
learned not to be selfish and became a happier and more endearing little girl.

How did Rover show his bravery?

1. He jumped on Susie and tried to protect her.

2. He sprang forward, caught the snake and killed it.
3. He went into the water and fetched a stick.

4. He rubbed his head against Susie’s hand.

Correct Answer :-

+ He sprang forward, caught the snake and killed it.

24) Read the passage and answer the question that follows:

After lunch, Susie played for a while by the brook. She threw sticks into the water, and Rover swam in gleefully and
brought them back. Then she began to pick berries again. She did not enjoy the afternoon as she did the morning. The
sun was bright, the berries were sweet and plentiful, and she was neither tired nor hungry. But good, faithful Rover
was hungry, and she had not given him even one piece of meat. She tried to forget how self-centred she had been and
quite early she started for home. When she was nearly out of the woods, a rustling in the underbrush attracted her
attention. "I wonder if that is a bird or a squirrel,” she said to herself. She wanted to catch it and tried to make her
way quietly through the underbrush, but she was terrified when she saw a large snake coiled up before her prepared
for a spring! She was frightened so much that she could not move. But valiant Rover saw the snake, and springing
forward, seized it by the neck and killed it. When the faithful dog came and rubbed his head against her hand, Susie
put her arms around his neck, and burst into tears. Rover understood and capered about in great glee, barking all the
time. You may be sure that he had a plentiful supper that evening. Susie never forgot the lesson of that day. She soon
learned not to be selfish and became a happier and more endearing little girl.

What was Susie doing by the brook?

1. She was throwing sticks into the water.
2. She was sleeping on the grass.

3. She was walking up and down.

4. She was reading quietly.

Correct Answer :-

« She was throwing sticks into the water.

25) Read the passage and answer the question that follows:
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After lunch, Susie played for a while by the brook. She threw sticks into the water, and Rover swam in gleefully and
brought them back. Then she began to pick berries again. She did not enjoy the afternoon as she did the morning. The
sun was bright, the berries were sweet and plentiful, and she was neither tired nor hungry. But good, faithful Rover
was hungry, and she had not given him even one piece of meat. She tried to forget how self-centred she had been and
quite early she started for home. When she was nearly out of the woods, a rustling in the underbrush attracted her
attention. "I wonder if that is a bird or a squirrel,” she said to herself. She wanted to catch it and tried to make her
way quietly through the underbrush, but she was terrified when she saw a large snake coiled up before her prepared
for a spring! She was frightened so much that she could not move. But valiant Rover saw the snake, and springing
forward, seized it by the neck and killed it. When the faithful dog came and rubbed his head against her hand, Susie
put her arms around his neck, and burst into tears. Rover understood and capered about in great glee, barking all the
time. You may be sure that he had a plentiful supper that evening. Susie never forgot the lesson of that day. She soon
learned not to be selfish and became a happier and more endearing little girl.

What attracted Susie while she was walking home?
1. Two squirrels were running up and down the trees.
2. There was a rustling in the underbrush.

3. The berries she had picked were very sweet.

4. Rover was swimming in the water to fetch the stick.

Correct Answer :-

e There was a rustling in the underbrush.

26) Read the passage and answer the question that follows:

After lunch, Susie played for a while by the brook. She threw sticks into the water, and Rover swam in gleefully and
brought them back. Then she began to pick berries again. She did not enjoy the afternoon as she did the morning. The
sun was bright, the berries were sweet and plentiful, and she was neither tired nor hungry. But good, faithful Rover
was hungry, and she had not given him even one piece of meat. She tried to forget how self-centred she had been and
quite early she started for home,

When she was nearly out of the woods, a rustling in the underbrush attracted her attention. "I wonder if that is a bird
or a squirrel,” she said to herself. She wanted to catch it and tried to make her way quietly through the underbrush,
but she was terrified when she saw a large snake coiled up before her prepared for a spring! She was frightened so
much that she could not move. But valiant Rover saw the snake, and, springing forward, seized it by the neck and
killed it. When the faithful dog came and rubbed his head against her hand, Susie put her arms around his neck, and
burst into tears. Rover understood and capered about in great glee, barking all the time. You may be sure that he had a
plentiful supper that evening. Susie never forgot the lesson of that day. She soon learned not to be selfish and became a
happier and more endearing little girl.

What was the lesson that Susie learned that day?
1. She learnt that she should be careful while walking about in quiet areas.

2. She learnt not to be self-centered and always think about herself.
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3. She thought that Rover was a very sweet dog.

4. She thought that picking berries was a very tiring job.

Correct Answer :-

« She learnt not to be self-centered and always think about herself.
27) Rewrite the following changing the active sentence to passive.
Naina probably won't attend the lecture tomorrow.

1. The lecture probably not attended by Naina tomorrow.

2, The lecture probably won't been attended by Naina tomorrow.

3. The lecture not probably attended by Naina tomorrow.

4. Probably the lecture won’t be attended by Naina tomorrow.

Correct Answer :-

« Probably the lecture won’t be attended by Naina tomorrow.
28) Choose the right tag:

Everyone attended the concert yesterday, ?

1. hasn’t they

2. haven't they

3. has they

4. have they

Correct Answer :-

+ haven’t they

29) Choose the option that substitutes the given phrase appropriately.

Lasting for a very short time
1. Ethereal
2, Ephemeral

3. Bubble
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4, Eternal

Correct Answer :-

» Ephemeral

30) Choose the right tag:

He loves literature, ?
1. isn't he
2. does he
3. don't he

4. doesn't he

Correct Answer :-

+ doesn't he

Topic:- General Hindi(L2GH)

1) TEETAL.... A, T 30 H HTT g R gort et gat A1 sifiraafe o1 areny (@ SR Wed e
3+ fRrg) ar af SRiSH AT (SrwE) a1 Sy, Twia | B, AT U a1 & forg | o+ usial, H-ard oe uRaR, ok
3T T & G BT URIATE 3ol § 19 fhl UTHT B A Hft B1E Slar A IR e @Sl 7 8 9Pl &l W 5ed
1 Af&TSS F B AdH BT §9 a1 &1 & 5 & &9 B BIs GreqT Hrr a1 FRreq ot 78 F= goor1 & 3 i
g 39 THY AU 3R Wi, SHST WY SRT af A A1 # fFR1ar i v 9, 379 Ui Se R 3fR sarsrae-
TR 3R gaTgTae & fadt wifefRie ararazor & st & frem arar visare=1 8ii &S amor off sroeft ek &eeh
2, 9Ta5[g PH-O HH Y1 4l B gl 3R e o33 ardt A dhiof, Finerfie ardravor F1

IUYe TR B USSR e YR T YUY HT IR Id159:

- A @t f& 7 sroet 3k forw safdaea & R s fpar?
1. feez

2. TgIed! gl

3. 9=+
4, TR

Correct Answer :-
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LRI |..... Y, T 30 H HrT At B gt ge-oft gt 1 siftaafa &1 wem (e SR w3 wer=aa: SR
o) ar at SRISH ot (SrwE) a1 IS TSI | BT, 3T U aTd & forg & 39 uoiel, fY-ard we e, o s
T F T DI UIAIE o1 § 16 [puT YT $ Y FI B8 AR WY IR aE T 7 &1 Tl o W g T
TfeTSH P UR A | HHHIT TH SAT 51 € 19 A OH B Dlg WY1 UTHT 1 167 Y 181 B Fpr G 2 = g
I AT A 3R S, 3BT WY R G A A9 # PR o U9 9, 399 We IR S SareEre-
T 3R gareraTe & fed) Tifefe aramazor & fis @ fram arar dieres 1 ok &6 omer oft oot ofiv St
2, ITao[E HH-8 BH T o1 B gET 3R faver B arel U FeHI0l, WivGae ardraRv |

IU T FT UgH? ¥ IR T U BT IR IaTga:
TR SHERT BT T 82

L gH T

2 §:’@'Eﬁ:ﬂ

3. gQ BT

4. P T

Correct Answer :-

. g@'fﬁ:ﬂ

3) FEE@l.... al, | 30 & yroT gt Ed gere ge-dt got Ot siftrarfaa &1 aream @@ 8k Wda ueTaa:
mﬁﬁlmma’raraﬁﬁm(&mmeﬁmla TS] U a1 & fore # 3o+ ystel, We-ard oie oRar, ik
am%aaq%fgnaﬂw%ma%%ﬁwﬁﬁwwﬁaﬁéaﬁaﬂﬂ%mﬂmaﬁqﬁmﬂﬁm
T AFRTSP P UX Ad1 | EEIH a9 Sa-1 81 & o6 & o9 $ SIS qreqr Hiwr a1 Riew #5171 o2 gor1 & 3w
T I T 3T 3R i1, ST TP HROT al At A1 § FHR1ar iR Ua A, 379 Wi TR 30R SATeTane-
WG 3R gaTeTETe & & WifefQre araravor o for & firem arer wieire1 SiiR f&dt st oft sroeit 3k Eiarelt
2, STa9g -3 $H G S 1 gl 3R faRad B et v A, FiNere arararvr 1

ITYT TR B UGH 1 IR ¢ U BT I Id154:
WA- 3 a1 SaTeTaTe # ST aTaraRur AUT?

1. O A®

PARISERED

3. YT

4., GTHTSID

Correct Answer :-

4) TEETal.... @, 9 30 # wr1 gt gerd ge-at gt A sifvaafda @1 wremm (@ ok Wl geT:
3o forg) ar oY SEiSh T (3rwRA) T I Tt | &7, 3TST U ard & fore # orue uwsiel, Wd-urd wire uRanw, ok
3T T & G D) YIS o1 § 19 [ a UTAT B A i FIE SHar I TR TR ol 7 8§ 9! ot A ged
T AiRTwH BT B Al | SHART G99 a1 81 & [P T TH B Pis AT ST a7 Rieq ot 781 & |11 G 2 i
g@wmarq‘—ﬁaﬁ?tﬁm wmwa‘rﬁﬁﬁamﬁﬁvwaﬁwﬂﬁ mmwaﬁvw
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UG 3R gareTare & fedl Wfefe aramazor # fiml 3 s arar vieare1 oir &St smer Wi eru=t o Wit
2, 9Taoe $H-Q FH G Sl B guit 3R faved &3 aret 3= Sasiof, giverfie ardrawor &1

IUYE TR B UgH A1 U T YUY BT IR 134
- AP BT HaY UT?

1, TR0 ORaR

2. $AH UREGR ¥

3. Olc URAR &

4, SR URGR T

Correct Answer :-

. S URaR ¥

5) FEETdl.... aY, T 30 F yror gt 3 g3 geit gt 4t arftranfe @ wrerw (@ ok w9 vaTa:
3T forg) At &t SiIST AT () AT I, T | g1, 3111 Ueh a1d & forg & o= il Hie-and wie uRaR, oiv
U T & I BT YRAATE ol § 19 [l HTHT BT ADY SH BIg GIaR A% TRI aXW TSI 9 51 GBI ol 7R 564
1 Af&TE B U AdH BT §9 3a-1 81 8 i & o9 B BIg Freqr wrr a1 Rreq @ 78 w7 gon1 7 A i
T I UG U 3R T, ST TP SR af A A= & FHran iR ua 2, 379 e GpR SR sarerane-
AT 3R geEEE & fedl Tiefdie ammaru d fEl | fiem arer vieare | 3R &t ame ot oot ene et
R, ITao[E HH-8 BH I o1l D) gt 3R faverd B arel U HeHIUl, Winerie ardraRu |

IUY TR $I USHR 19 U T WY T IR aTsd:
- AGD $! {5 910 FTHY 82

1. Al 1 gIa T 3 oM

2. HTST T THR 37eaa = & UMl

3. G0t

4, 3qTgdIG W g UMl

Correct Answer :~

« YT BT YR 3099 7 H UFT

6) TEXETd|.... &Y, T 30 # uro gt & gard et gt i aftreafy &1 wreaw (A 3R Wda TwTI:
3 o) T <t SRISR T (W) a1 I TSI | BT, 3TST U 91 & forg & o uwiel, Wa-ard s uRaR, ok
U T S I B U=GATG ST § 19 [hu UTHT B ADX HU P13 AR AR TRI o Wel 7 g1 Fd! of A% gad
1 AfRTSS S8R AdH BT T9 a1 81 8 5 & 577 B BIs =1 Hrer a1 Rreq o1 78 F= g1 7 3 i
T 3 T U 3R S, ST WY SR aF A A1 & FHRrar o ua 2, 379 W ShR SR sargrane-
AT 3R SeRETE & fEdl I ammaxu A fsl | fiem arer vicime= | 3R &t omer o oot one et
R, Fracie H-8 BH g3 ol ) gt 3R e w3 a1 arva westof, wiverie araraor &1

IUYa T FI UgHR 12 U T WY BT IR darga:
UL AEE P BN 3?2
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1. STH Y BIS el

2. YTST B HIYAT 7 B UM 1|

3. YIS & §7d 7 6 UM S|

4, YTST BT TIR-JGR = B UH 1|

Correct Answer :-

« YTYT T HIYET T B U BT

7) TEReTdl.... @1, T 30 # HoT e o) g gt gt ¢ sifteafaa #1 Aremw (@ iR Wed veTa:
U Torg) TT <Y SIS AT (3IHRTINT) AT g, Tt | 1, TS T a1 & o & v+ usiet, WA-1d 91e uRaR, iR
3T T $ G DY YRIATE 3T § 19 Fhl UTHT BT A FH B1E Slar N IR RE TSl 7 8) ! ol W g4
7T AfETes B B AT SFANT 99 3071 81 & 15 & 570 B IS =1 Hrar a1 Rieq ot 78 & 11 G 3 waf
T 39 I ST 3R ST, THST WY SR dF A A7 | FR1ar iR U ¥, 34 W ISR AR gargrane-
TR 3R gegraTe & f§dt Wit fRe amamazur & st @ fem arar wisarea | ok &S amer +ff aroeit ek weeht
?, ITdu[g BH-O TH G ol ®1 guit 3R favad w39 a1dt Sue Hehivl, Fivegriie araraR F1

IUe TR B UgHR A YD T U BT IR dd154:
- AP b1 HaY b g 82

1. UG g

2. TG

3. YRAg g

4, UG G

Correct Answer :-
. FEEAYTY

8) FexeTdL.... dl, ¥ 30 H wrut g Rt g3t geft gt M1 aifvaafda &1 wrerm (A SR w9 T
3 foTg) a7 1 ST AT (P I) a7 I, Teiat | BT, 3T TP 1 & fog § S usiel, Wrd-urd oie gk, iR
3 T & I BT URIATG a1 § 1% Tl UTHT BT A F 1S Slar A IR v @Sl 7 §) "l ol WX 54
7 AfKTSS Pt 8T A | FHIT a9 ga- o1 & 5 & o9 7 18 nem wrr a1 Rew #1717 g 76 A i
T I T ST 3R ST, FHST TP RO @ A A7 | FRTar iR a2, 379 W IRGR AR sATeTane-
AT 3R TaEETE & &) TfefQe armaru § fsl | fem arer vieire= | ofR &) ome ot ot ok et
7, ITavg $H-A FH T S B gut 3R faved &3 a1dt o= Hastof, Hiveriies araraRor F1

JUR TR BT UGHR A TR 7Y WY BT ITR IaIsa:
- e A §:

1. fae=h

PAGRSE

3. dhad
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4. SIS

Correct Answer :-

9) TERETA.... A, T 30 & W At R gar ge-it gt i siftefda &1 wreaw @ SR Wdq veTaa:
U Torg) ar oY ISR T (IHAT) T S, Toret | B, 3ATST U a1 & g & v usiet, WA-ard oie uRan, ok
3T T & G BT YIS 3T § 1% Fhl HTHT BT A Ft F1E SlaR W IR e TSI 7 8 ! &l N 534
1 AfRTSS B U AdH BT T9 31 81 @ I & 9 B DS Freqn Hrr a1 fRreq ot 78 o= gor1 7 3 i
T3 39 THY U 3R T, 0BT WY BRUT al B A1 § AR 37 ua 3, 394 Wit TShR S gamerane-
AT 3R FETeTETe & fEdt Wit ararazur & fost @ fem arar vieare=1 oiiv &€ amor off sroeft sk wiadh
B, ITa5[g PH-O $H T 94l B gt 3R fived 33 arat 3rva Shiof, Hiverfie araravo ¥

IUYET T B UgH A1 I T UY BT IR 133
TH- TeTel” g &1 82

1. 3RSl

2. BT

3. BIREL

4, g1

Correct Answer :-

10) TEIQTEI.... @, T 30 A UTaT g R et ge-ft gat i siftraufd o1 wrenm (@ SR Wed veTa:
3o forg) ar St ot (3w a1 I T | BT, 3Tl U a1d & fore # 3 e, ftd-and wire uier, 3R
3T T S Y B Y=IAIE Sl § [ fpil HTaT B A F F1E Srar A IRY RE WL 7 8 I39! St A ged
1 AFRTSS B 2R A BN T9 3011 81 & {5 & &9 $ SIS A1 Hren a1 fRreq &1 78 F= 11 7 3 T
T3 39 THA AT SR ST, FHST WP FRUT df A Aa=1 & FR1ar 3R U ¥, 374 Wi T¥pR S gargrane-
T 3R garsTeTe & &) ifefQe aramazor # fost @ fraa arar viears 1 oz & omer oft srot oiv waedt
§, ITd5[g $A-O HH T oIl &1 guit SR fived o7 a1et SruA Hahiof, FiverRie araravor &1

IUa TR B UgH A YD ¢ UY BT IR dd154:
TH- <dar et Frea A | g

1. gfeeT

2. TtfeiT

3. ST Y PIS T8l

4. IvTHY

Correct Answer :-

o T
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11) TEREIA1.... @, ¥ 30 § Hrwr g St g ge-dt gat A siftraafaa &1 arew @ Sk wea Taaa:
U forw) T oY SiISH AT (SHRANT) AT g, 7Tt | &7, 3HTST U a1 & fore # o= usiet, WA-urd wie uRarw, ok
A T & G B UATE ST § (P [Pl U FF A Hl $1 Slar I TR e @) 7 g1 gt ol TN gag
T QAT BT B Al | BT 99 a1 51 ¢ [ T OTH B D15 AT HTUT 47 ey o1 981 - 911 B 3«
U I Y AU 3R T, SHST WY SR af A a1 # FHR7ar 3R ud ¥, 379 We TP R 3iR ATerars-
A 3R gargTdae & fedt wifefe ararazur & s & fram arar widarea 1 ok &St et off sroeft ek weedh
2, FTavg $H-A T g ol B gl iR faved S et 3ru AHIof, Wingre ardravur &1

IUYET TR B U Ai1e IS 7T Y BT IR 134
URH- ‘§ST FT Ugigardt 98l 87

1. fea

2. fou

3. 98

4, oSl

Correct Answer :-

12) TERETEI.... A, ¥ 30 ® HToT g R ere el gat A siftraafd o1 wream @ ok Wed veTa:
3o+ forg) ar af SREish AT (I a1 3¢, Twiar | B, TS U a1 & forg | 3iu+ usiel, He-ard oie oRaR, 3R
3T = & G B UTATE a1 § 19 fpeil UTAT B s Hft H1E Slar A IRT e TS! 9 8 P! &l WX 534
7 Af&Tes H 8T AdH BT T9 31 51 @ P & 7 B BIs Fre[ET Hrer a1 fRreq o1 7 w= o1 & 3 waf
el 39 AT AT 3R T, SHST WY SR af A A1 # fHRrer i 4 2, 394 uie SR SR sdarerEne-
TR 3R gaTeTETe & fadt Wit amarezur & st & fram arar vieire1 SR &) amor off sroeft ok &aeh
2, 9195 BH-O HH Y ol B gaT 3R e o3 a1at 3 "ahivf, Hinerfie araravor F1

IR TR BT USHT A119 T ¢ ¥ BT IR TaA139:
T=H- foRTem iR U fPu gu & sfa &

1. AT

2. WIfdarg

3. TARTaTG

4, TS Hgar

Correct Answer :-

13) TERETE.... A, T 30 ® HTeT g Rt et et gat i siftraafa o1 wreaw @ ok Wed ueTaa:
3+ fRrg) AT af SREiSH AT (W) T g, Teiat | B, TS U a1 & forg | v+ usial, WA-ard oie oRaR, 3R
3T T & G BT YRIATE 3ol § 1% Fhal HTAT BT AR Fft FIE Slar A IR e T@S! 7 81 B! &l W 53d
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a1 AT Y B AT | BT G4 a1 81 § b & 70 32 18 AreFn umar a1 ey $t 98t o= 911 B 2 i
g9 39 AT 3T 3R T, SHST WY SR A8 A1 & FHRrar i 9 2, 399 uie 9R SR gdreTdre-
T 3R SARIEE & (&) wiiefie araravor # M | firam arer vicare 1 iR & oot off sroeht ik wiedht
2, ATao[E H-8 BH I S B g IR favert B arel U HHIUT, WivEie dardraRu |

IU TR $T UgH 19 U T UY T IR JaTsa:
- AT T AT 82

1. W

2. IR

3.9

4, TR

Correct Answer :-

14) SEYETCL.... 1, € 30 # W ATl foEt g ge-dt gt &t siftreafaa 1 ATem @ 9k Wea TeTaa:
3o forw) ar oY SiEiSh Ut (3rwRI) T g Tt | 8T, 3HTST U aTd & e # orue uwsiet, WA-urd wie uRarw, ok
3T T & T D) U=IdTE 3T § 19 [pa UTAT B A Dl Hig Sar I TRI TR ol 7 gt bl ot A ged
T AIRTSP BT BT Al | BT 99 a1 81 & [ H OTH &= DIg AIeHT U1 a1 ey o1 81 o 9ol G 3 «ai
g 39 O 0 3R Ear, gHST WY SR dt A Aa=1 A fARTar 3R a2, 399 uied WReR SR gargTare-
AT 3R eEETE & ) TfefQe ardraru d s | fem arer vieare= 1 oiR & amer ot oot ofiv it
2, STau[g -8 $H g1 S 1 gl 3R faved B aTet U= W1, ISP arararvl &1

UG TR B TG ~1d YD T U BT v T3
7= fRa wTfaea 82

1, Gapiof

2. 3TEd

3. O

4. 35

Correct Answer :-

15) STH WX &} T IR & a7

a1 fafver ¥ AR g € wrd 34

w1 Sl 3 @ R §

T faaht vl @t

FT PR UETS b A g 7Y § AR Ras
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a1 et ogehu @ 2 ¢ @

TR Tzl Y AR

T IR A, TR T 3R Wi & ST

@™ §l Y § TPIUH

ar fby a=n € @ @ s g A2

faea Hare giar SR T giar

IS § Afe g0 ot wurer a8

o & At I gvawT

IR UIRT Bl UgHR A4 I T WY HT IR Id134:
URH- TR ST A $a 5 fAsrm o ik 3R 33 W1 82
1, I faswemT

2, 579 QB &

3. TrHIr-3nfie fagTam

4, giRaTRe fagremr

Correct Answer :-

. MR- 3o fagmam

16) HTH R T &1 & =7

w Safver # AR e & a1

a1 &t A @ forn §

IR 1 st et 1

TP UgTS & -4 ga U g 9 f{a
o fpdft ysu A g E §

TR TRl B gURA

FIT IR TG, IR TR 3R R & i
T B Y ¢ THILH

at {5~ & €t § s g e

e WS giaT SR T g

YA § difer g W waTeT I8

o & wrt it geemmg@

IUYad TR Bl UgH A1 YD T UY P SR Jas3:
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UH- GEaTHE BT 3 8 2
1. gYTRIfaT

2. 991

3, gYIad

4. QYIEHHT

Correct Answer :-

o QYIId

17) ST W Tl 1@ & aa?

a1 Sfafer ¥ AR @ ar @ A1

w1 dmel A R §

Ry 31 foft foparat &Y

FT P USTS P =1d &8 Y § W1 e
PR yPuice e

TR HERH! B gARA

FIT IR A, AR T Y R & ST
@ B § TP

@ R s ft v 3 s g A

e waTe BT SRR BT Fia

WA § diferT gl Wl wuTeT a8

% & Ot RS sewTE

I TR B Ugh AIY UD T UY P 37 Jalsa:
T=- 91 & #gl e MW B2

1. Id UGTS & Al

2. RI$ A

3. TR F IR

4 YA F A=

Correct Answer :-

. DA TGTS & AAd
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18) TH W T 1 T8 § a=?

1 Sfafver ® iR € F A A4

T ) A @ forar &

Tt 3 faaf fparai ot

1 P TgTs & -4 gd U & uR f[{ya

T fF yHudss e

IR Heww @ gARA

T IR M, TR T o R & S

T T E THID

it O3 o €t § s gfrar |

e T SraT R T BYa

YIS § afes 3o W surer ag

o & ardt A seumga

IR U= B g 19 T T U BT SR Iq154:
T=H- Tl Bt J-faR fraral @1 foram @ ferm g2
1. 7= A

2. EHeHT A

3. UPIRBI A

4. fagreg

Correct Answer :-
. el A
19) FTH W I AR & T2
a1 Siafve # AR 73 § 9 A
a1 St A @ forar §
|t 31 faatt fvaret ot
T BT UETS & 19 ga 1Y & W faas
F fFR T ATE TR T
R He¥Hl B gARA
TR A, IR TR 3R W F U=
W B Y B THhIeS
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at ftb s ) e § s g A

fopaT v T SR QT Bie

IS § AferT 5o Wi <araT 98

& & wrdt il geamT@

SRIT U= B USHR 1 UD T UY HT IR Iars:
WRA- “HeR | ared 82

1. AT BT TR

2. UERI S Qd

3, Rran-=e

4. AfGIG

Correct Answer :-

. TRremwe

20) BT R I 13 & T

1 Jfafver & i & i 18

1 SRt 3 @ feran §

TRt T s foarat ot

TP UgTS & -4 ga U § 9 e
PR yHuAEE

TR T 3 FARA

FIT IR AeH, AR T oY o= & S
T § Y ¢ TP

a foms w2 €t e @ g g

e WS BiaT SR BT g

YIS ¢ Afp 39 Wi saer ag

% & ) i sewmg@

SRIT TR B UgH 1 I T U HT IR Iarg:
TH- fodH Teq # e 8:

1. for=IRTa=IT

2, STIEGRIT
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3. GTaRT
4, 9OIh

Correct Answer :-

21) PTH W T AR § T2

1 3iafver # R T § I 1

T vt A @ Rrar §

AR} 1 faht fovarat &t

FTHTA TETS & =1 g9 T¢ § IR faas

a1 et yHu A eg 18 ©

TR HERE! B gARA

FIT IR HEH, TR T 3R Wi F S

W™ B Y § THIIS

it fo5R s €t & g gfan |

famT waTe giaT SRR BT gian

HATS § Afeh o HI SaTaT 98

& & It A geawTge

IUYa UL ®1 UgH A YD T UY P IR Jalgy:
- TRgd Bfaar A A sfaw & e srawt &1 wrftfe o searg?
1. §9TH

2. WG

3. gAY

4, TPRIRTGRIT

Correct Answer :-

22) BRI AR E T2
1 3afve # R & 9 01
1 &t A @1 R §
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Tt 3 ol fparat &t

HIT HTd UGTS & =119 &d MY § AR faa
T fFR yHuAce = e

AR HeRE! B gARS

FIT IR AgH, TR TR 3R WA F =
T 1T B THIH

@ o s €t e @ g g A

e waTS SiaT SR T g
YAHS § A 5o I sareT 98

o & wrt it geamTg@

IR U=II= B UgHR 19 T T U BT IR Ia154:
- Hid &I Wg i e der 9 g2
1. BEHMA I

2, Sfaier ¥

3. gy

4, Y$Hq g

Correct Answer :-

- AT ¥

23) HTH R T 138 & T2

a1 iafver § R g § wrdt 1

1 St A @ forar §

| 1 feraft fasaral &1

FI BT TETS & 19 g T & W f{as
a1 et ypu A e TS ©

TR T P gUR

a1 R A, AR i 3R o & aiftre
T §1 7Y § UhITH

4t fthx 5= g & § S gl A

feen e giaT 3R T gl
YIS g afe sow W surer a8
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& & wrdt it geamm@

SRITT U i UgH -1 IS Y U HT IR qars:
USH- ‘BT W 1 511 38 & 9 ST 919 g2

1. UYATED TR

2, 519 Q BIS T8

3. THRIED TR

4. YHRTHD Al

Correct Answer :-

o UYdIded g

24) BTH R TG &% & g=?

a7 Siafvel # R g & w18

1 St A @ forar &

|y 31 foatt feparat &Y

FIT BT UGTS & i1 & 7Y & A Faas
RN P E e

TR WeTH! P 3RS

FIT IR AeH, AR T oY IR & SiFH
W §1 7Y ¢ UHIUD

@ R s ft 7 8 sw g

e v grar SR dwT gia
AT § difer gt Wl wreT 8

o & Ot A sreumga

IRIT T B UgHR 1 IS T UY FT I Ta13:
TH- <SS’ Th TSR 31 87

1. | BT

2. fpat & am

3. Uerdf
4, BleTDIE

Correct Answer :-
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25) STH TR I o1 3R & T=?

a1 3iafver § AR g & 9 1

a1 &Ae) A ar foran §

TR 3 faatt foraral

T BT UTS & +iId gF T § AR s
T Pl ybu e T

AR HeRH! $I SR

FIT IR HeH, TR T 3R Wi & ST
T B Y B THTTH

at e o Y 7 & s gfar A2

e T ST SR T gie

IS § AferT 5o Wl <aTaT 98

5 & wrdt i geammg@

IR U=IIRI B UgHR 19 T T UY HT SR Ia154:
ULH- “UGTS’ FT qaigard! grm?
1.9Y

2. 3
3. 7RG
4. Rk

Correct Answer :-

26) BT R &I o138 & g7

a1 siafve 7 i 8 § 9l

1 St A T foran §

Y 1 foatt foparat &

FIT TS UBTS F #d ga TT & A e
G KT e o o

WRARA DT
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AT AR A, IR T iR R & S
@ B Y § TS

@ R s ft 7 3 s g A

e v giaT 8RR BT Bl
YOS § afee g +ft st o

o & wrt et geewmg@

ITYT TR B UgH A1 UD T UY P I7R JaT53:
- ‘BT UgTS’ & A &2

1. 4%

2. 3t

3, TG

4, HHYRY

Correct Answer :-

27) TH R TSR & T=?

a1 Srafve # R 18 § 9 S

T Sl A @ Rrar &

FrY ¥ faeht feparalt

T FTA TETS & =i 39 0 & 9K f{a=
a1 et ahu A g I §

TR HeRE! B AR

T IR A, AR TR 3R R & A=
W §I Y § THIIS

ar fbr Tan &t/ & s g o

T v giar 3R Ta giar

WA § dferT 3o Wl SuTeT U8

o & wrt <fief geemmg@

IUYaI TR DY UgHR -1 YD 7T 7Y BT IR Ialga:
.- fpdre @1 vataardt wres 78 22

1.9y
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2.7
3. O

4, QR

Correct Answer :-

28) T W i oI ¥g § a=?

0 Siafver ¥ AR 18 & A 71

a1 St A T foran §

AR 1 ot fomaral 1

T HTA UETS P =11 ga 7Y § AR faas
a1 fpeft ybu i gg IS §

TR Hew! B FAR

1 HR g, R i 3R Ry & et
W §1 Y § THhIID

e s ft 7 § s gfrar He

a1 WA BYAT SRR THT Bl
OIS § AferT 59 Wi sarar a8

% & Al A seewmgE

SRIT U= i UgHR 1 IS T I HT IR Iams:
WR- <UITIS I BT RITH Y19 32
1.9

2. 3fTdd

3. fdera

4, FATDH

Correct Answer :-

« HY

29) T W T &1 T8 & a=l?
T 3fafver ¥ AR & I 1S
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a1 Sae! A foran §

TRt 3 foadf farai <t

T FTA USTS F =19 &9 TT & A1 e
e ypudes e

TR Teww 31 gHRA

1 AR WM, AR i R R & affr
@™ g Y g THeS

at fope s € & g9 g A

e T ghar SR ¥ gla
WIS ¢ dferT 3 W SuTeT T8

& & wrt <fief geammg@

IR U=II=I B UgPR -1 O T U HT 3w 9154
URH- U HYF T IUH HIRU?

1, Sl T TIU TIP & oia o SIeR gial g
2. T 1 S0 BA-5G 3R e 3 s |
3. §d] I FUA A &l B BT MR

4. 99| DI B & FolTd AR YIReTT A1 |

Correct Answer :-

. T B TIUT Gal-Be 3R e B @R |

30) FEXETEL.... T, T 30 F yToT ar=it &t g ge-wit gt ot sifroufd o1 AT @ ok Wea TeTa: o )

T Ay S AT () AT I, ToTe | B, 3T U aTd & e # oo uial, e-ard wie uRkar, ok oA g=- &
P YTATG ol § 19 (sl U B! dp? Hft I3 NaR W IR TRE TSI 781 6! Wil A geg a1 uferss 1 &R adt
I S ST 61 ¢ o 7 ST R SIS TTAT Uo7 7 e $1 781 o3 9T | = it g9 39 9wy 3= iR i,
ST TP HRUT a1 T =11 & FPRTa 37 ve 3, 399 Wil SR R SeeTeale- Ay 3R sarerre & ffd uiiefde
qrdraor # e & fre aren Wiemea 1 ok &S amer aft araft oiik Wiad 2, arasie #9-@ ou g ol o gt 3 faved
PR AT SUA Wil AeTRe ararar &1

IR TR BT GgHR A Y T IY BT IR 9133
- D D AT A DI & BiA A2

1. f&Te, 5=

2. FH Y DS Tl

3. UHeie, T

4. FRren, da
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Correct Answer :-

Topic:- Mathematics (MAT)

1) Which one of the following statements is true about integer? /
e # | SF-91 549 quiie & 9949 | 99 872
1. On multiplying any integer with 0, we get 1. / 0 & Ty fa5it +ft quifes &1 7qom o=t W, &H 1 9 g |

2. On multiplying any integer with its multiplicative identity, we get 1. / it +ff quifes 1 3w o domT®
F WY T IA |, §H | U ghar gl

3. For every integer, 0 is the additive inverse. / PG EUTTHT %ﬁﬂ{, 0 Up TNTIHSD UfTad %

4. On dividing any integer except 0 by its additive inverse, we get -1. /0 & BIg®x faat off qpﬁ D ITD
RIS Uferard 3 fauifod &3 W, 86 -1 Ul g o

Correct Answer :-

+ Ondividing any integer except 0 by its additive inverse, we get -1./0 DI BIsHe el ot W CARRRICT
AT Ve & i oe W, 58 -1 U i &1

2) If an amount of Rs. 1368 is distributed amongst 24 persons, then what is the amount that each
person gets? /

Ifg 1368 TUA B} YRR 24 RN F g Falka £ ordt }, @) vds safdwy o1 fpah Tl frad 22
1. Rs. 122/122 39T

2. Rs. 53/53 W

3. Rs. 153 /153 U

4, Rs. 57/57%4U

Correct Answer :-
+ Rs.57/57%49¢

3) A figure on a graph sheet covers 12 fully filled squares and 7 half filled squares. Find the total
area. /

TH I 2T W TH DSt 12 T $f T8 @R § WRaT & X 7 0 &I 3T WAl 81 $oI &% i
I
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9
1.

SR

sq units / 9§EI?T SIS
5 13§squm'ts /13 %aﬁs‘nﬁl@‘

N 15%sq units / 15§EET gHIG
4. 19 sq units / 19 T SHTS
Correct Answer :-

15§squnits / 15233’? SIS

4) A floor 4 m long and 3 m wide is covered with square tiles of colour blue, green and red. One-
fourth of the floor is covered with blue tiles of side 10 cm. Another one-fourth of floor is covered
with green tile of sides 15 cm. The remaining area is covered with red tile of sides 20 cm. Find the
number of blue and red tiles used. /

4 Hiex e 3R 3 Wiew i1 te Bl i, 8¥ ok e T & TR ergdl A ToT gol 8 | Bl &7 Uh TS
UTT 10 V7t B Yot a1t Hidt eTgal A aHT g & 1 WX 1 TP 3 TIUTS YTT 15 I BT Yol ard g8 T Bt
TS W 3T 83 21 T &7 20 A YOI IS 1 T3] | SPT 53T 21 IUANT fhY U A 3% e ezl Bt
Gre ek
1. Blue =300, red = 150/
=Ier = 300, <1e = 150
2. Blue = 300, red = 200/
=Tell = 300, <Te = 200
3. Blue = 150, red = 300/
=IeT = 150, 1< = 300
4. Blue = 150, red = 200/
=idr = 150, €€ = 200
Correct Answer :-
« Blue =300, red =150/
=Ter = 300, <Te = 150

5) Ages of Rahul, Rohan & Ram are 10, 6 and 13 respectively. The sum of their ages will give
Rajeev’s age. Suma is 5 years older than Rajeev. What will be the age of Suma after 3 years? /
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g, e 3R IH B AT HA: 10, 6 3R 13 1 TP ST BT G ISia PTG 1 AT, SN A 5
a9 oSt 81 3 Ul 91g a1 B Sy fpart ghftz

1. 34
2, 30
3. 29

4. 37

Correct Answer :-
« 37

6) Another name for Formalism is ./
TREUATE (WIHfRT) & g s A 2l
1. Abstractionism / SHTEA0T RERSERIEIEE)

2. Deductivism / fesfaefasH

3. Logicism / Wﬁﬂﬁ (ﬁﬁm}

4, Induction / SR

Correct Answer :-

« Deductivism / fSsfdefasa

g
=x"+ax+ bare -2 and -3 then % and bare= /

qﬁagqg?’(x) =x2+ax+b$rw_2 -3 %,Eﬁat{ﬁ'b?:

1.5&-6/5Td -6

7) 1f the zeros of the polynomial ()

2.5&6/5Wd6
3.5&6/-5Td 6
4. -58-6/-5Td-6
Correct Answer :-
¢ 5&6/5Wd6

8) Which of the following explains the commutative property?/
Frafafea & ¥ F9-w safafig 7o i aren s e?

1.103 +(25-35)=(103 +25)-35
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2. (at+b) = (b+a)
3.35-22=(22-35)
4. a(b+c) = ab+ac
Correct Answer i
+ (ath)=(b+a)

9) Which one of the following statements is correct about number? /
frafafEd & @ $19-91 $Y SN & HdY § 9d 82

1. Every number is a factor of one. / TP ST Uh BT 9P gial %I

2. 2 is the only odd prime number. / 2 THHE fuH 3Ts J@ 81

3. 2 is the smallest prime number. / 2 a4 Bt G{WWF@T%I

4. One is a prime number. / 1 U 3{Hsd T g

Correct Answer :-

« 2is the smallest prime number. / 2 I BIt H“—ﬂmﬂ'@’l%l

10) A frog falls into a well of 12 meter depth. It tries to jump out. Each times it jumps up it jumps as
high as 3 meter but slides down 2 meter because of slippery wall of the well. In how many jumps
will the frog reach out of the well? /

TS Hew 12 Hiex TER U $a & fRaT 81 98 a1eR fFean B SR &l 8| Tl IR 99 98 Tadl & a
g 3 Hiex SR UET W § Afp 3 & fpe arell SaR & RT 2 Hiex R fraa o 81 o8 3 awR
e ¥ o dew &) fra-it IR S gem?

4, 10

1) 1 ALMN 2M=70° znd LM=NM. Then ~N= /

ALMN#. 2M=70° Td LM=NM &, al 2N=
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3.

4, 10°

Correct Answer :-
559

12)  \Which of the following is not the solution of the equation y= %x-l-f*'? {

frrafafad & ¥ FieF-ar THEROT y= 1545 & G 76T 67
1. (4,19)
2. (-6,-16)
3. (-12,-37)
4, (-8,23)

Correct Answer :-

« (-8,23)
13) IfE-i- % = 0andax—by=2a"— b?, thenx &y =2/

aﬁ§+%=0'@ﬁ'ax—by=ag— b, dl xTd y =2

*1h*® b(a®+ b?
G DOy

1 as-b* a*-b*
- a(az—bz) - b(bz— 31)
5 T at+bt YT gl

3. x= a(a?+b?), y = b(a%-b?)
4, x=a, y=b

Correct Answer :-
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_ ala®-b?) _ b(b%- a®)

a?+b® 7Y T gZipt

13} Ifx + :'—r = 2then the value of x — i is:f

aﬁ:x+§=2%‘,a‘r:¢—§a:rmﬁ%:

15)
Find the number of line segments required to make a honey comb structure with 20

compartments arranged linearly? /

s &0 I gt 20 WSS ATl Teh HEHIT TRAAT Tellel o folT Taeds
YEES] @l &7 ATd he?

1. 100
2. 105
3. 101

4,120

Correct Answer :-

« 101
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2 ||@ and I be the transversal. 21=61° then £2=?/

2 ||gaur [vs O Y@ g1 21=61° §.dar 22=7

0y

»
.

A 4

61°
118°
60°

4 119¢°

Correct Answer :-

119¢

17)  1n a parallelogram ABCD if ZCDB=45° and 2 DAB=65°. then £CBD =7/
T FHEGR ageiel ABCD#, afg 2cDB=45° 3R £DAB=65°%, @ £CBD =?

70¢°
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Anumber "2’ divides 1320 and 781 exactlv. Given a=], then the number “a’ is not a factor of

ok
TH EWEAT 2’ 1320 3R 781 T qUI: faeTSIT w81 241 e R §, 9 I w0

__ I HCH del ol

1. 2101

2. Itself / TG
3. 539

4. 125

Correct Answer :-

« 125

19) Inatrangle ABC if 2CAB=7(°, and AB=AC then #B and £C are /
ue Pt ABCH, 9fg 2CAB=70° 3R AB=ACE, dl £B 3R «C¥&:

80¢, 80°
55¢, 80°

339, 33°

w

a, 20¢, 80°

Correct Answer :-
53¢, 33¢

20) i I [t 2x36_-2 %‘, |

3-Sx 3 3-%¢ 3

2.1
3.3

4, 4

Correct Answer :-
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21) Choose the number divisible by 9. /
9 ¥ faurfora g1 arelt em &1 9a+ oY)
1. 9987123
2. 3425816
3. 6789548

4. 4536279

Correct Answer :-

« 4536279

2 2
22) Find the value of m, if one zero of the polynomial (m® + 4)x® + 65x +4M g the reciprocal of the
other: /

afe agug (" +4)x* + 652 + 4m o1 yop I 3170 BT SYHH &, A m BT HE T BN
L V2
2.3

3.1

4. 2

Correct Answer :-

sl 2 _ D
23) Find the value of m if (x-1) is a factor of p(x) = x* +6x% —2x 57"'/

.qﬁ.p(x} =x3+6x2—2x— Smﬂo‘l‘ﬂﬁ(x-i) 2 @ m 1 HF 9 Y
1.-2
2. -1
3.2

4.1

Correct Answer :-
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24) Find the whole numbers. / J0f T&T FTd B3|

16 x 8725 x 625
1. 87,389,600

2. 87,250,000

3. 83,760,000

4. 87,110,000
Correct Answer :-

» 87,250,000

25) James is inside an aeroplane flying at a height of 7000 meter above the sea which is below sea

level at a level. At a particular point, it is exactly above a submarine depth of 1/6" the height of
plane. What is the vertical distance between James and the submarine? /

T Ud gaTsoeT & 3R € Wl g% dd o 7000 Hiex &1 FHars W 33 361 81 ve favy fig =, ug
TS TS F 31P SR & Sl SaTSoie™ & 1/6 HuTS 11 I0% ad & 519 81 9y Ud ygat &
7 Heafer gt fbeat 872

1. 8333.33 meter/8333.33 Hiex

2. 9166.66 meter / 9166.66 HieX

3. 9333.33 meter/9333.33 Hlex

4. 8166.66 meter / 8166.66 Hiex

Correct Answer :-

«  8166.66 meter / 8166.66 Hiex

26) Anil is 6 years older than Akhil. Akhil is 36 months younger than Vijay. If Vijay's age is taken as
y, then age of Anil is: /

3ffoa mg o fRa A 6 9 981 21 ifw omg A fawiy & 36 WA Bler 81 afe e ey y F = A ot
STt 8, ot orfrer oot 3y &:

1. 6(y-36)
2. 6+(y-3)
3. 6+(y-36)
4. (y+6)

Correct Answer :-
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27) If 76x — 189y = -37 & -189x + 76y = -302, then find the value of x and y. /
Tfg 76x — 189y = -37 T4 -189x + 76y = -302 §, &1 x Td y & A I B
lL.x=-2,y=-1

2.x=-2,y=1

x=2,y=1

4. x=2,y=-1

Correct Answer :-

28) '‘Mahabhaskariya’ an astronomical work completed in eighteenth century is written by: /
HETHRSIT’ S[REdl Mdled) § Qo frar o s wiiig e e ™ gri foar man g1
1. Aryabhata - IT / \?rﬂ?fﬂ-lg - 11

2. Sridhara / R

3. Bhaskar Acharya / HRhX St
4. Ramanujan / ATl

Correct Answer :-

« Bhaskar Acharya / YRR 3Ty

29) are related to growing plants. /
_ 9o iyl & et €

1. Natural numbers / U@Fﬁ?ﬁm

2. Real numbers / fﬂﬁﬁ?ﬂ'@ﬂ{

3. Fibonacci numbers / ﬁv_@éﬁﬁw

4. Rational numbers / uReg TEAY

Correct Answer :-

« Fibonacci numbers / Wﬁ?ﬁﬂ@m
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30) The length and breadth of a cuboid is 12 cm and 9 cm respectively. If the total surface area of
the cuboid is 678 cm? , then the height of the cuboid is: /

g%-—gﬁﬂﬁaﬁ 3R drerE AT 12 At ok 9 A B1 AR w=H 1 P gty dEee 678 A2 ], N wmy Y

1. 15¢cm/ 15 94t
2. 11 cm/ 11 9+t
3. 6 cm /6 9Ht

4,21 ¢cm /21 %t

Correct Answer :-

e 1lem/ 1194

31) The sequence of steps for mathematical modelling is:
1) Understand the problem.

2) Mathematical description and formulation.

3) Solving mathematical problem.

4) Interpreting the problem and validating.

/ Tifvred T wfeeuor (HisfiT) % e ==oi &1 3 &:
1) U /TARTd BT FHATI

2) ifordtg faavor eiv wtwv

3) TIORTT U/ TITS BT TUTHUTT BT

4) U /AT B ST BT 3R AR AT
1.3,2,1,4

2 14,8,

3.2,1,3,4

4.1,2,34

Correct Answer :~

32) The main body of the lesson plan is based on the Herbartian principle of: /
TS ST TG WA ____ & gae fRiegid UR 3erha 81

1. Presentation / ﬂ?ﬂﬁf

2. Conclusion / ey

3. Introduction /tlfﬁl'q
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4, Association & Generalization / T SR gt

Correct Answer :-

« Association & Generalization / ¥ 3R IreT=iieH 0l

39y3(50y2% — 98) + 2612(5y + 7

)/
I D

1. 2y(5y-7)
2. 3y(Sy+7)
3 ¥y =7

4 2¥(5y +7)

)

Correct Answer :-
, Gy-7)

34) Two triangles ABC and DEF are similar and the ratio of their areas is 25:9, then the ratio of their
corresponding sides is ./

a’rﬁuvr%BCQﬁDEF IR ¢G4T 5% &0 d &1 3UTd 25:9 €, df 39! T Yoirsi $T 3rgurd
I

1. 4:5
2. 53
3. 3:5

4, 54

Correct Answer :~

35) If mean and mode of a data are 11 and 8 respectively, then median=___ ./
Tfe T® fiPpsT & AT 3R gD HA: 11 dUTS §, A AfddI= Bl

1. 10

&1

3.8
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4. 12

Correct Answer :-

« 10

36) In a parallelogram ABCD, DC = 16 cm. If the altitude corresponding to the sides AB and
AD are respectively 8 cm and 10 cm, then AD=__./

TH FHHIAR a9g4s ABCD &, DC = 16 94 81 afe TWTd YSITT AB TUT AD 1 SaTS HHRT: 8 WA aUT
109, TAD=___ |

1. 16 cm /16 ST
2.12.5 cm/ 12.5 9
3. 12 cm/ 12 96t
4.12.8 cm/12.8 ¥

Correct Answer :-

o 12.8 cm/12.8 THI

37) The mean of 25 observations is 36. If the mean of the first 13 observations is 32 and that of

the last 13 observations is 39, the 13" gbservation is : /

25 W&IUT &7 UTE 36 B 1 TS Ug 13 U&IUN BT Wred 32 Ta 3ifaw 13 W&o &1 wmed 30 €, @ 1397 Der &:
122

2.25

3.26

4.23

Correct Answer :-

% 23

38) What is the ratio in which the join of A(-4,3) and B(2,-6) divided by the y-axis? /

g Ut F1 ¢, T g A(-4.3) T B(2,-6) &1 fram areit Y@ y-srer g fyunfora it 82
1. 1:4

2.2:1
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3.1:2

4. 4:1

Correct Answer :-
o 2:1

39) Construction of altars for the sacrifice, applying geometrical facts to perform duties by fixing east-
west was assigned to the ./

gferer ¥ fore Afeay o1 fmfor wrf, gd- ufd o1 FRR #3493 edal 1 R &34 & e safieda
T B AR A T D, Y TYaT TT 4TI

1. Sulbhakars / JedldhI
2. Aryabhatta / GI'I"‘JCI'J-IE'

3, Bhaskara / HRY
4. Brahmagupta / SIgl{ ]t

Correct Answer :-

« Sulbhakars / Jed[h¥

40) Three cubes each of edge 4 cm are joined end to end horizontally, then the lateral surface area of the
resulting cuboid is: /

4 T fFRY ara e v 7 oiferw g e o A 92 gu f, ) uRomdt vy &1 wief gty derea @
1. 120 ecm?/ 120 2

2. 150 cm?/ 150 2

3. 128 cm?/ 128 {2

4. 95 cm? /95 T2

Correct Answer :-

« 128 cm?/ 128 AH2

41) Which of the following is an example of a cubic polynomial? /
fFafafEa ¥ § $19-I1 99 9g9S $T TS ISeI0T 82

1. 0+x3
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2. X2+

3. x3+x

4. xtx3

Correct Answer :-
. X4

42) describes steps or a set of do’s and don’ts to a method or strategy. /

T faftr g1 Yo & ==o a1 At & HIA T A8l B BT qui BT el
1. Technique / GERIE
2. Tactics/g&f

3. Method / fafer

4. Approach / SUNTH

Correct Answer :-

« Technique / SEIE

43) The respective positions of three friends A, B and C are (3, 2), (6, 5) and (9, 8) respectively. What
does the three points joined together make? /

M ERat A, B TE C & G R FHR: 3, 2), (6, 5) 31 (9, 8) &1 1 farg e Ty fireress Fam et 82
1. An obtuse angled triangle / U Gﬁma’ﬂﬁ

2. A line segment / T Y@ €S

3. An equilateral triangle / T SHaTg By

4. A right angled triangle / T FH®I0T Y

Correct Answer :-

« Aline segment / T& 381 TS

44) One among the below does not belong to creative behaviours and that action verb is i

7 ¥ A TP TS FaER ¥ Wdw T8l tEar g iR a8 frares e R
1. reconstruct / :FHfoT

2. design / TUIHA

3. compare / &
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4, alter / uRad=
Correct Answer :-

« compare / T

45) The radius of a circle whose circumference is equal to the sum of the circumference of the two
circles of diameters 36 cm and 20 em is o

TS ga & A= 8, Frat af¥fer 36 At Tyt 20 Aeft e aret S gl Bt afif & 9T S R §1

1. 56
2. 24
3. 28

4. 14

Correct Answer :-

46) The major aim of mathematics education is: /

TIfora 181 &1 URa 3E=4 §:
1. Preparing for competitive exams / uﬁu’lﬁuﬁ&ﬂaﬁ%%ﬁmﬁm
2. Mathematisation of the child's thought process / g B! faTR ufdar &1 fordieo

3. Solving problems / U4l &1 eI
4. Improving computational skills / SITUFTHD CANIY ﬁgmm

Correct Answer :-

- Mathematisation of the child's thought process / g D1 [AaR UfdhdT &1 iUTiem T

47) ‘Micro teaching is a scaled down teaching encounter in class size and class time’
was stated by: /

TS| AT, P& P PR 3R B S THg & Rigor oo 1 a1 2, =9
P ERTHEITAII

1. Piaget / ot
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2. DW. Allen / 3. &, TaiH
3. Gagne/ﬁef

4. Bruner / §[-IX

Correct Answer :-

. DW. Allen / S1.8, Tald

48) Which of the following is considered as the most suitable approach in mathematics curriculum
organization? /

Frafafaa @ 3 f5a 7 Teuwa awT & Tad Sugad TSI 7T Sidl 872
1. Psychological / AFIAI®

2. Topical / TS

3. Unitary / ThTdHD

4. Spiral / G0

Correct Answer :-

« Spiral / gt

49) Which of the following is related with Cognitive Domain? /
FrafefEa & & S SeTHs 87 9 Hafta 82

1. Valuing / Hgw &I

2. Applying / ] ShRAT

3. Receiving / UgUT o]

4. Responding / TfcifehaT &

Correct Answer :-
o Applying / T DAl

50) Which of the following aim of teaching mathematics help the individual to become self-
reliant and independent? /

o vem F Fufeifa sExal # @ #1491 sexa, safdy &t sk eiR waa s &
g BT 87
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1. Disciplinary / 3{JRIHIHSD
2. Utilitarian / SGGI

3. Cultural / b ddh
4. Social / GTHISTS

Correct Answer :-
« Disciplinary / S{RIAIHD

51) Item analysis is a quality assessment strategy to prepare B/
e IR A & T U Turasn geais= Ui
1. Question bank / Uy b

2. Evaluation / et
3. Examination / ute

4. Student performance / EIERCLIE]

Correct Answer :-

« Question bank / Uy dF

52) CANCELLED

If the radius and height of a cylinder are in the ratio 5:7 and its volume is 550 cubic m, then its
radius is .

uﬁwﬁa;aﬁﬁmwﬁaﬁWWSﬂ%WMMHG 9 #ex 8, o 59! B
|

1. 6 cm /6 9T
2. ?cmi?i?ll'ﬂ
3. 5cm/ 5 9H

4, 4.5 cm/4.5 99

Correct Answer :-

e S5cm/ 59w

53) CANCELLED

Page- 58



Three-dimensional topology is a branch in mathematics which is more related with

-

: SATHT FifAfT (@raiarsh), 019 § U TRar g s T 3fe Fafia
|

L. Biotechnology/aaﬁ@ﬁﬁﬁ
2. Economics / YR

3. Chemistry/WﬁﬁH

4. Physics / %ﬁ)“mﬁ

Correct Answer :-

« Physics / ifae fagme

54) CANCELLED

The equation of line passing through (2,3) and parallel to x-axis is of
39 ¥@1 FT THHT 2. 511 (2,3) T TR ol @ TUT x-31& F TAAR &

1.:Ia:=2
2.x=—2
=
B =

Correct Answer :-

55) CANCELLED

Ifthe sum and product of whose zeroes are 2 and —% . then the quadratic polvnomial is A
: =3

afE AT 3R S Rl FH AT 2T — - B, A gfaud agve gl

1 5x%—10x -3

5. SxZ+10x +3

3, Sx%+10x —3
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4 x2—-10x+3

Correct Answer :-

56) CANCELLED

The angle which is 24° less than its complement is: /
gg HIOT ST 3T FHRF & 24° FH &

57°

57) CANCELLED

2
Area of a quadrilateral ABCD is 35 “'". The length of the perpendiculars on its diagonal BD from A
and D are 3 cm and 4 cm respectively. Find the length BD. /

TgYST ABCD &7 &% 35 THt2 81 A 3R D & 36 fqwul BD WX @d & dar1s Faxm: 3 A 3T 4
I 1 BD Pt waTS e B

1. 10 cm/ 10 9t
2. 15¢m/ 1594t
3.25cm /25 94t
4. 12 cm/ 12 g4t
Ct.:rr.e"f..:t Answér. -
+ 10cm/ 10 G

58) Express 486 as a product of powers of prime factors. /
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486 B AUTSY TUID| & °Td & UHEE & U 3 oIad P
1. 3°

% 12wsd

3.2 x 3%

4.53x2

Correct Answer :-

. 21X35

59) Jeevan fills a wall in his room with the photos he took. The size of a photo is 21 cm by 18 cm. If
he uses 6 photos, then what is the area of the wall? /

S 7 3UH AR P T SR B WY gRT o T3 aR) F W 33711 te TR 371 s 21 9t x
18 941 21 ufe 98 6 IR ST IUGNT ST g, d AR &1 &ahd fba-T 82

1. 2068 sq cm / 2068 T
2. 2268 sq cm / 2268 T
3. 378 sq cm / 378 & Gt

4. 2334 sq cm /2334 GG

Correct Answer :-

. 2268 sq cm/ 2268 AGH

60) Ii’x2 —3x+2 is a factor ofxé _px: +tq ,then find the value ofpand q'f
afy ¥ P t O grgem ¥ 30+ 23 P i 9 o1 W I ¥

1. B 5,=4

,P=4,q0=3

3, P= 2 1

4. P= 3,g=2

Correct Answer :-

" p=5‘q=4
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PROFESSIONAL EXAMINATION
p" Professional . BOARD
@bgné%rpcjnotlon Middle School Teacher
Eligibility Test — 2018
24th Feb 2019 09:30 AM

Topic:- Child Development & Pedagogy (CDP)

1) Claustrophobia is a fear of enclosed places. It is an example of : / mm R Canca
BT 1 TS T IT60I &

1. Global Developmental delay / %% ICEaE] %:QQI

2. Obsessive-Compulsive Disorder/ JT-aTHPBRI fdbR
3. Anxiety disorder / G1d fA®R

4. Autism / 3fifeeH

Correct Answer :-
« Anxiety disorder / T1d fd®R

2) In “heuristics,” the child is free to go for any kind of possible rules or ideas to reach the solution.

This rule is called as:/ “WHYIAF My Jomel” §, =8 IUIYHE 6 g9 & o fousdt ot woR & wounfaq
oy sryar faemR &) Weraar @ 94 €, 39 oW & @1 $er S 82

1. rule of thumb/ SIHARIE FUH (=9 3% YTa)
2. differentiated rule/ fqNfed Fm

3. mimicking rule/ {JHU fAog

4, cognitive rule/ TTATHD g

Correct Answer :-

« rule of thumb/ SIHARTE FHIH (T 3{1th Yw)

3) Which is not the step of scientific method? /

e o A S19-91 agf=e YomTelt &1 @R A8l 82
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1. Experiment / TART
2. Interview / &P R

3. Prediction / Ga@iqHM™
4. Observation / 3{d@le

Correct Answer :-

« Interview / HI&TH IR

4) According Jean Piaget, children develop abstract logic and reasoning skill during ./
S e & OER, & R =l § 3d a& SR a9 SIRId [deiad sid ol

1. Concrete operational stage / Ilj HishaTed ST

2. Formal operational stage / 3fToTRes TfhaTeres g

3. Preoperational stage / d-SifFaTeT® Saw

4. Sensorimotor stage / Had] TR )T HIEY( AR

Correct Answer :-

» Formal operational stage / e Tfeharad Siawil

5) A self - directed learning process is arguably the most powerful model for facilitating and inspiring individual,
group and organizational learning and development. It means learners ___ /

e W-FER siftrmy wftsar, aafdama, e Sik we-Tars oftrnT ok fasry &t gfawr 3
.- weE ged TRl Aisw 81 s9®T Aaad & fb siftmmsal |

1. gke responsibility for learning and become goal oriented / AT 1 Rrart e % 3R E‘f&ﬁl’ﬂ,@ gl
I

2. compete with others / m%wmﬂfW%l
3. achieve the best scores / 35T TRUMH U Hd] %I
4. enjoy learning / 3T &I 3G AW@WRI

Correct Answer :-

« take responsibility for learning and become goal oriented / ST Bt TR e § iR ?T&Zhw ERGI

6) In which stage of psychosocial development does the child feel shame and doubt? / G EICRIBE
e & forg =xor & o= @) I SR Hig weH ghar 82
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1. Preschool / ?ﬂ'ﬂ?_d
2. Adolescent / fHRIRTGRIT

3. School age / ¥h ¢ 31Y
4, Early childhood / QJQ"‘\W—(ﬁ CISEAN

Correct Answer :-

« Preschool / UIpa

7) Proper sex education should be rendered at stage. / 3fd T fRra SARIT IR
TG DI ST T1feT

1. Childhood / dTcdp Tl

2. Adolescence /%@ﬂﬂ?«’-ﬂ

3, Adulthood / dU¥h

4. Barly childhood / URfH® STeddh1d

Correct Answer :-

« Adolescence / CRUNERI)

8) The ‘Hypothesis of Critical period’ was proposed by siF ‘Hﬂa’l}:ﬂf 3afy &1 TREedAT
% gRT ywaTfad o1 78 0

1. Helen Keller / %@HW
2. Noam Chomsky/ 19 AR |

3. Bloomﬁeld/ﬂmﬁ@
4, Eric Lenneberglma:l@f

Correct Answer :-

« Eric Lenneberg/ Eﬁﬁ?"a:lﬁ"f

9) Who is credited with the concept of Intelligence Quotient (1Q)? / ﬁﬁ'ﬁ] (IQ)
D YR HT 7 fH fear simar 82

1. Theodore Simon / WW
2. Spearman / AT
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3. Alfred Binet / 38 fo
4. William Stern / faferam T+

Correct Answer :-

. William Stern / faferas e

10) According to Piaget, intellectual growth occurs through adaptation to the world. This happens

g;l(_]ru%gh: / Frams & IguR, fS® e gfHar & srgged & wrerd | ghar 31 98 feas mum &

1. Absorption and Accommodation / S{ARIHU 3R JHGH (THIHSTH)
2. Acquisition and Autocorrelation / U 3R Taa: BRREL

3. Assimilation and Accommodation / STEHTEHRUT 3R FHG (‘Qaﬁ'ﬁ%—?ﬁ)

4. Assimilation and Acclimatisation / TETRIEHROT 3% SpEEAIR

Correct Answer :-

« Assimilation and Accommodation / 3TEFHTERRUT 3R THSH mﬁﬂ%m)

11) According to Albert Bandura, the process that is involved in acquisition, organization and use of
information is called process. / 3a¢ GgT & AR, I8 UfehaT S JET1 & SIRRISUI, Wie+
3R IUIRT F A il &, S Aferar w1 ST 3|

1. Cognitive / HJHTHS
2. Affective / THTS!
3. Self regulation/ & FIHA

4. Motivation/ U0

Correct Answer :-
« Self regulation/ W FITTT

12) What concept of conservation focuses on the amount of a substance that exists? / GI&UT PTHE AT

Rrgia fo=ft Aiver verd St A w Hfea g2
1. Weight / dqd
2. Area / &%
3. Mass / gHHE
4. Length / aTg
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Correct Answer :-
o Mass / gHHH

13) What cognitive ability are children displaying when they attribute human-like qualities to objects? /

T BIH-H WFATHS &HdT 32T I8 & o9 9 a3 1 AT YU & Haifda v 82
1. Egoccntrismf@rlg‘l-ﬂﬁ(ﬂ"ﬁ@%@)

2. Conservation / §&f0r
3. Animism / SI19dIG
4. Object permanence/ d¥] paJjibare |

Correct Answer :-

« Animism / SIS

14) Some children experience excessive anxiety at being away from home, even after a long period of
time. What might they be suffering from? / 9 T 6 THT AP IR oY TAF TG ’l-ﬂ', WY 14 A
TR 3l R o1 3gua Fa g1 I fra A RfEa gt awd 82

1. School phobia / Wlﬁﬁtﬂ

2. Social anxiety / R ISEAER]]

3. Conduct disorder / 3fTeRUl fdehR

4, Separation anxiety / {19 G RG]

Correct Answer :-

« Separation anxiety / 3G CARER]

15) An example of self-report measures of personality is/ i & TeA-RUe SuTal &1 Uh JqleIvul

1. MMPI / GHEAeS
2. Sentence Completion Test / dTeR] q;ufufr&rm

3. Rorschach Test / Idich TRI&0T
4. TAT / et

Correct Answer :-

+ MMPI / THUHUISE
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16) Intense mood swing is a characteristic of / ?‘ﬂﬁ:@'%ﬂ @1 agor g:
1. Learning disorder / STRRTH Sf&rFT

2. Bi-polar disorder / ﬁiﬁf ICEAR

3. Conduct disorder / 3TRRUATA fd®hR

4, Anti-social personality / SIS A fddd

Correct Answer :-

« Bi-polar disorder / ﬁfifcﬁ faPR

17) Which of the following best describes Maturation of a learner? / Frafafea 9 & w1 e Rendf #
URUSHAT BT HTH SIS JUH Bl 82

1. Tt is a continuous process of individual development/ U8 e ﬁwﬁw ET‘IHE@TCIT%I
2. It is related with cognitive capabilities/ T8 HITHD Wﬁ%ﬂaﬁﬁ%l

3. Specific environment is required/ ARy IR Ft sragHAT eI B

4, It takes place at specific age/ 48 fafry S Hed el

Correct Answer :-

« Itis a continuous process of individual development/ 4% HfeaTTd fap™ &1 Us Uad ufehal 21

18) Which type of memory takes special account of context? / 5 yoR ot F[ﬁf e &1 oty sa=
Tl 82

1. Iconic memory / Hﬁ@t_‘fﬂ%

2. Echoic memory / Ui §fd
3. Episodic memory / WTRiRIH F{ﬁ
4. Sensory memory / Fadt F{ﬁ

Correct Answer :-

« Episodic memory / U ¥

19) Students who disturb others in a classroom are likely to have type of learning style./ Elf

gﬁﬁ&nﬁ;ﬂﬁaﬁqﬁmﬂmﬁ%’aﬂ%m THR Bt WG Bt Al g Bt FHTaHT geit
|

1. Kinesthetic/ ﬂﬁ'ﬂﬁfﬁ @Eﬁ@ﬁﬁﬁ)
2. Tactile/ TR (daeEa)
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3. Auditory/ 49Ul

4, Visual / €29

Correct Answer :-

+ Kinesthetic/ TTfagder @Eﬁ@ﬁ'ﬁﬁ)

20) Who carried out an experiment on memory involving nonsense syllables? / ﬁmﬁwﬁrwqwmﬂﬂ
T, o a@arT Rregier =nfHa 42

1. Ebbinghaus / TfeS-TaT
2. Atkinson / Tefch g

3. Posner / URGR

4. Calkins / BTeifch S

Correct Answer :-

» Ebbinghaus / TfsS=amg

21) Who proposed the concept of zone of proximal development? | Frpewy foeTa & & &t sraurn
T I¥ATd foa T@m?

1. Abraham Maslow / Wm
2. Lev Vygotsky / ©id argTiceht

3. Carl Rogers / T T
4. Albert Bandura / 3{GSIC SUGRI

Correct Answer :-

» Lev Vygotsky / GCESIEIRSCA|

22) The spinal cord develops earlier to the heart. This is because of the operation of the following

tendency. / ¢ 9 g3} ged & yd ReRra 81t 81 ue Frar ughy & e & SR g &:
1. General to specific / ITATY ¥ Ay &

2. Cephalocaudal / RitFaiBSST

3. Proximodistal / MIGITHATSC

4, Part to whole/‘-ﬂ"TﬁWW(‘Wf@éﬁ)

Correct Answer :-
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« Proximodistal / TIRIHAT ST

23) The following is an example of a secondary reinforcer. / ﬁaﬁi@aﬁ?ﬂwmww
IeTERu g

1. Ice cream / Hﬁﬁ'ﬁﬂ
2. Dress / UIRI&

3. Money / 8

4. Juice / IH

Correct Answer :-

* Money / U

24) Maladjusted children are generally seen in / HTHI-: Wﬂﬂﬁlﬂ T ﬂ'éf%.@ ST %
1. Broken family / o uRarR #

2. Rural arcas ATTHI0T &1

3. None of these /E:I'Ef T ﬁg T8l
4. Poor family / TRIe gRaR o

Correct Answer :-

» Broken family / foey ufvar &

25) One learns to use one’s muscles and acquires a skill due to: /
U i, AU BT SUINT A1 ARGl § 3R SHP PRI Ueh DI YT HIdT &
1. Maturation /

PITCESGI|

2. Exercise /

SN

3. Learning /

ST
4, Parents’ force /
USR] T SR

Correct Answer :-
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+ Maturation /

26) During the first half of the 20th Century, students, those identified as
having special needs, received few or no special services in the schools.20 / af

YA P UEA DURI P ERME, o, RFd! ugar faiv smawasar
@A aTdl & FUH B T3 A, I @l § O 1 Dy (A=Y HaT gl fyeit A

1. Above average / 3T T 31fds

2. Exceptional / STTERUT

3. Mentally retarded / RS U Y Hg
4. Poor / HRG]

Correct Answer :-

¢ Exceptional / S{HTYRU
27) CANCELLED

VARK model of student learning was proposed by: / ©TA SITH BT a1 Hied E%W
yaTfad foar /™ T

1. Kohlberg /aﬁ@ﬁ

2. Neil Fleming /:ﬂﬁq@iﬁq‘ﬁ
3. Piaget /fﬁm@r

4. E. Erikson / 3. 3R

Correct Answer :-

« Neil FIeming/:ﬁ?ftI@Iﬁ"T
28) CANCELLED

During the emergence of language, the ‘jargon’ period is present during / W%Wa?a?ﬁ, “Rleguilel
AT ST A $6 R Bl 6:

1. Nine months to one year / ﬁiq‘a‘]ﬁ ﬁ@ G
2. Birth to three months / 5+ I 49 7814

3. Three to six months /dH 9 &: A
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4. Six to nine months / @: ¥ 7T II'Eﬂ_;T

Correct Answer :-

« Six to nine months / &: ¥ AT AEA

29) Which of the following is the best way for parents to support and help children cope with

failure? / FFETAITET & A SI-I1 AT gRT a1 BT 3P adar A fAuea & ¥ 39 o
IAP! Hag DI DT T ST A IbT 82

1. Create a comforting environment for the child to engage in another activity to forget their failure / AP

BTl Bl YA & fo18 s ol fpdt o nfafafl Ff ovd v 3 U IRMes uRaw &1 Hafor a1

2. Listen, empathize, then focus on opportunities to learn, not abilities / {1, Hﬁlj‘lﬂzﬁ ], e

TRIA & IR TR &M dhigd H31, 7 b ewarsi i1

3. Create an environment for our kids that shelters them from potential failure or disappointment /

3 g1 & fore U Ui &1 Ao 6% S I8 THITIT SR erdr I HR=n & =

4. Push kids beyond their capabilities / S B ST &S T X HYhET AT G BT

Correct Answer :-

« Listen, empathize, then focus on opportunities to learn, not abilities / I, {-Islj‘ljﬁf -], i

TR & IR TR & Digd H3A1, 7 b eHarsi |

30) Inquiry approach method develops the ability of learners for / Uars efy®ivr faftr & Rrenfat #5
e & o emrar &1 fawr ghan 8:

1. Using the experience of a teacher / Toh fR1&/& & 3JHd BT IUTNT BT
2. Assimilating more information in less time /wwﬁ AP TSR B TEITT B
3. Experimentation /EI@FT

4, Maximizing verbal Iearning/ﬁm &maﬁmﬂ%ﬂmwm

Correct Answer :-

« Experimentation / TaNT

Topic:- General Hindi (L1GH)

1) e e F gt g ot srdorawit R ave omuw § I g3 & o9 aftewur a1 TeigargeR FEd 8l
FETeRU & o ATgh NI I T | ATSHINIUE &1 3SHIER ARG # 81 36 HUHT & AIIEd3R & $o S
YR 3R 31 F% 32 A a7d & | ANt & Airedsi T givar & sxdwma fsd wira §1 smifvet &1 wig
T TP 37 SSIET01 61 ThdT g1 IS 3 BIY oos J a7l & SR 3978 & a1 o1 fol & i 73 i 7o
STl & | §9P 3Tl §9 $UAT & RN aiew fHet o 371 ° a1d g1, Hie dee fadt ofik 3= #, wge, Rav sy,
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oz et 3= 31 § &1d 8171 R & wrHT |t urd 3renT 3ol 483 §R1 BIS Hiek &1 WS 3 o §,

R U@ 1Y Sie®? SR 918 et ¢ 1 377 9 fpar-wam) & ¢ff gftrar # A9 & sawR Yar gta §1 39
T g B srderawr wuTfad gt 1 3y oft Rl e SeuTe an War & IR | A TP & oRIpT ST
g & faftr uri  ghar 21 59 fay wR Y srforavyralt § wewR e &1 w0 gl 81

A i F 5t ot 71 B F Fear 81 59 ol ugar fwer g & o= exr # €t o Sraran
T WigT 9@ ! ANTd e MU | SRTAT fawed 8N {6 39 &1H & il T 3 § weardn Wi, S8l S9!
ANTE B A | T AT @ fF A W st g few &) il uRa, waikmn, 99 ok agam d o
T $F DA U Suaed § 3R 37 g2 # Forge Hf T # frer ot 1 5979 Scute o1 ovTa o4 81 it § oY
FHL BT AgAR GATPT S1T ¢ | SHIA WG 3T BI§ HAALY WG 8, A1 IHP SO UIC HATRAT U1 AT3ar o
T B T TRRR WRd | 791 ghaT & ok wiveda smReT & amar 81 siftw Seure 9w 3w & 9T @ et g9
AT ST R | 8 ISR B Telrn: gfe a¥e IIeR & SUISIaR Ureel A fbdt Saure &t @il forar € ok agf e =
F RIS TUA S BT GUTGT 81, ° S FT U1 o9 geM & R/ BIg 7 H1S Ao a4t it fapedt
T IR § 70 T DI IR HIP fae! agTs o Thal ¢ 1 3 F SR § fay &1 Fa Mardt &1 T duTg
Tt i 3R HRa A vear 81 T A o W Bt 3t Rt wredt @ 9 357 &) Aewyyl AR @Y AeRaiErs
T B TEa

IULTT TR P TGP A YD T U= HT I« Fa1gel
US: AISHIAITE $T Iy B8l 87
1. 3RS

2, gad

3. i

4. 3eql

Correct Answer :-

2) mgﬁmmﬁwgﬁmﬁammmmﬂqﬁgﬁ%ﬁﬂmmmﬁ%%i
ISR F o1 HISHIAUE B g | ATSHIHAIUE BT eSoPIeR SARDT U §1 59 $UT B HIUCIIR & PO 3
R 3R 3 $S 32N A a7d & | Mgt & AiredsRk it gfvrar § sxdwma i wird §1 eiifvet &1 »is
TR U 30 ISTEU1 81 Tohdll ¢ 1 ls D1 B1¥ A9 A a7dl & 3R s & a1 oK Al & ) o5 2l 9o
STl €1 SHP 3IeTaT 39 HUHT & R gTe [t 3 331 F 99a g1, Hie e el ofik 3w o, @ige, Rav g
iR fopeft o g &1 © 9914 B111 1| PR & AHT [T UTE 3ITT Sreiv A8 §R1 BIS AT Sl Twls (94 o &,
R U@ WY SeHR IR 9913 STt ¢ 1 37 9 rar-wramal & gt g # A9R & srawR der g 1 9
T g &t arfeaawr wurfaa gt 81 3my oft foreft 3 Seure o1 Sa1 & IR O W T € i Iame
i & faftra ymit & giar 81 399 fay wR Y arforawyrait § wewR e &1 - gian 81

U T i 5t Suit o DS F9 HRamT 21 39S i ugar fawey g 1% e 3= ¥ 8t o wear
W Wl S9! anTd 3 3mut | 3rTar fawed ghn 6 S0 ww &Y fonsdt 0 3w # SRarar Wi, wet suat
RTA H AR | g8 |10 § 76 @i W st gaw fdeer & gl | WRe, galm, 99 ok aigaa & o=
T 0 I IR ST § 3R 37 20 A Aorgy i e | et 9 §1 S99 ST $1 @ B Wil § 3R
HIT DI dgaR GATET ST & | AR d 31T DS LR Wil 8, df SUP $O IS TAar a1 arga= &
T 8 &, TR HRE 3 991 8T ¢ SiR Hiveaay SRt ¥ 3rmar 81 ifiw g 39 3w § 99d1 & oiel 59
I AT 81 719 ISR B AT Al IR IR & SATGIaR TTedi A fhul 31g i Wl forar € SR g8l o| =
F SRR WU g B HUTGAT 8, d FH DY 01 fIe"9 gem & R F1E 7 1S are=r a9 usthh fapeht
T IR # A TES] B dUR HIP 4! Te1S o Tobal 81 o & SR A Y & oo ) o1 ve =g
?%Wﬁ%%lﬁﬁﬁﬁﬂﬁ&%ﬁﬁﬂﬁﬁ%ﬁﬁﬁ@ﬁﬁﬁﬁﬁ%
Ey I
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Iue TR P UgH e YD T URH BT I« ga1sy|

TR HUTTAT ST ST ARIT HH Fe & o8 F1 Feelt 82
1. STET Se HIel 3R 4 T &) ag] Hiel STt @

2. TISIGR] Bl Bl Bl §

3. BH 3 A ®

4, T[0T & JHST Helt &

Correct Answer :-

. et S U SR 4 T ) 98T O S 8

3) 3myfre o1 A g g &Y srdferawn o e omuw # I 8¢ & 9 afierur a1 WiaargeR Fed g
ITEX0 F ol ATghNue & difvrg | ATSHINTTR &1 3S1ee 3MReT # 81 59 HU-l & TedsR & $O W
YR 3R 3T &3 320 A 91d 8| AISHIaIte & Aiteder T giar & sxaura fod ord §1 smifvet &1 wis
TIeY TS 3= ISV B AP &1 BIS B PR 998 § T4 € 3R IS & 711 w1 foep) & Rl o3 w7
ST €1 59 3raTar 39 HU & R oy fat o 31 & aa 8, e e ot ofiv 3w &, irse, R g
iR et org =1 & 9914 8111 PR & 4T Tl UTd 3T SreT A8 §R1 BIs Hiek $l 9wls (%4 oid 8,
org T I1Y Sie®R SR I415 Wt 81 37 Wt frar-waral & ot gar 7 I5R & 3awR YT B €1 59
T girar Ft srferawir wutfaa gt 81 ema ot frwit ag Seure 1 Har & R A Wi Aed § e Swre
g~ & fafta yrm & giar 81 599 fay wR ot erfoawunsi § wremr fHilRer &t o= giar 81

I Ao {3 et Su=it 31 BIE S0 a8 | 39S o ugan fawey s i 3= &x1 # & w1 $rarar
S WET gHa! anTd $ifte ameift| srTar e g f& I 1w &1 {6 0F 31 & wramn WY, Sel 9@
AR SH AT | 98 916 § & 1S o Sl gy fieer o) gaft | WRe, waflm, 99 ok agaq 3 o=t
TTd $H PIA IR ST & AR 57 320 A Aorgr W o e oI €1 399 IUTe B T FH & il & 3R
S 1 g% YATBI BIdT 81 ST od MY BIS HIYEI TWiled ¢, 9 IS S UIE Wyl a1 argar &
T TN T, MR HRE A 991 YT & 3R Sieedaw sfifiver & arar {1 sifaw Iaurg 39 3w § 9T § Wl 39
I T 81 12 I6IR 1 T IS IR IR & SUTGIR TTedi A fBat 31e i Wil forar € ok a8 @ 7
F RIS TUA &4 BT FUTGAT 81, 91 FH FT A1 {950 g & 7l S T F1E Ao a3t it
T IR # T TTEH] B GUR B3P fa! Te1s off Tebal 81 3 & SR A 3y & g Sard) o1 va s
e A o yRa T vEar 81 T8 § ot W St aiftres Rt aredt € 98 39 §) Hewyul 9o $Y AoReiarst
& B FH |

IR TR B UgTHR A1 T T Y PT IR qazu|

TEH: BIS PR SO S0 TN UIEH T 1 R W 66 82
1. 3TH I IR T

2, S-S R

3. 81

4. 7781

Correct Answer :-

o S{CTI-S{TT R
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4) anyfre e A g g Yt srfarawn R avg omue § g€t g€ § 3@ dsfiewu a1 WigarsanE BEd
ISTER0 F o ATSh IR Bl TOIT | ATSHINITE FT SSHIER ARSI # 81 50 U & WUEdIR & $o 3
URT 3R 3T F3 320 A 774 &1 AISHINITE $ Jitedsr T girar ¥ sxauma f5d 9 §1 iRt &1 wis
e U 39 IS0 G Tohdl &1 IS B B8 498 A a4l & 3R oS & a1 N A & o &3 ez ao
STt &1 3% ATl 39 U & TR S fedt o 3w | aea 81, Wi dee ) oiR &xr &, @mse, Ry,
Rz forlt o 31 T B | R & T Tt UTE ST e dS% RT BIS HieX &1 TWs fohd o &,
R U WY TSP FR 913 w1t ¢ 1 377 9 frar-srama) & gft e & A9 & srawR der g 1 39
Tt g St srdeaawn yuTfaa gidt 31 oy off fonlt o SauT ar Har & IR | Wi 9dd g st Sared
g~ & fafte wrm & ghar 81 399 fay wR oY srforawirel § R fARar &1 w1 g 81

A A i et Suft ot BIS S HRamT 21 3TF R vgar ey ghm & oA 3w # & weara
S WEl 39St AT it et | 3pTer e ed ghn P U e @ fhdt ¥ S § rarr WY, Siel sud!
NI B M | T8 WP & % B3 Y St g fdevey &) gl uRa, wafmn, 99 iR ageq § o=
TTd HH 1T TR S & SMX 37 3N A Auigy i T | e 9 €1 S99 SIS &t @Td 9 g il @ 3R
FFHI BT AgAR AT SrT ¢ | SHIA ST9 3T Bl HPYLR WA 8, Ol IHP $© UIE HeTRral a1 argar d
T T, MR URT A 1 81T & SR Wiredey st | omar 81 Sifew ST 39 &% # aaT & wief 39
9T ST 81 71 ISR ST AR G U AR & SATGIAR ATeH| o [l SedTg Dl WIG 10T & 3% 981 3 a =
& TSR WU BIH D HUTTAT 8, 91 SW B 3T fao 1 g1 & ford $1s 7 $18 g1 a1 usti | faredt
T IR § T3 TTES1 BT GUR FIPb Q! 9¢18 o ol 31 3T & SR § 3y 91 o a1t &7 T DA
?ﬁwﬁ:ﬂ;ﬂﬁ;wﬁm%@ﬁﬂﬁmmmﬁaﬁmﬁ%aﬂmﬁwmaﬁmm
R I

IUYET TR Pt TgH? A YD T U=H P IR garge|
US: B o1 o1 forg ey § 91 82
1. 9T

2. Wiy
3.9
4, ATRATSH

Correct Answer :-

5) 3y Frer A gt gl 3 srforawt R ave amuw ¥ et 5% & 39 AfieRur a1 Tiaegei $Ed
IeTeul & ford ATgwiTe @) Aiforg | ATSHINTTR &1 3s@Tee sMiieT § 81 59 $U-l & AR & $ %
YRH 3R 3= &5 ¢ A ad ¢ | AIgPINIte & ditedsr Tt gi-ar & swanra fd ora §1 smRet &1 wis
TIeT U 3= ISIET01 61 HHdl &1 BIs Bl PR U478 A Il & 3R I9% | a1 B faw! & R 5% 3= a
STt 1 §9% 3rdTar 39 $U & R aiey frdt o 3w o w91a 817, Wie See fandt ofik 3w &, wmge, Rav g,
iR foredt o 31 @ €171 R & 1T Tl U 3T 3T A% ERT BIS HIeY &1 Twis 6l o &,
e To 1Y Se®? $R F978 Wt g1 59 T frar-wam F ¢ g # A9R & e far g ¥ 3
T g B erderawiT wuTaa gt 81 3y oft fRfY e Seure ar War & IR | A TP & oRTpT St
i & faftrer vl # ghar 81 39 fay wR ot srforamyrait # v falvar &1 s g 21

I i P 5t it 3 B S Fear 81 39 i ugar fawer g i o= 321 # € o FRaran
T Wgl S9! ARTd e U | SRTAT fawed 8N b 39 &1H &1 fhall T 3 § wvardr Wi, STef sHe!
AN A A | T AT @ fF B Wt st g e &) ganfl uRa, wafkmn, 99 ok agae # v
TTd ©H D 1d IR Iuas § 3T 37 22 o gorgy +ff o= & frer o1t €1 399 Scure ot ora 4 8 il @ o
FH Y JgaR AT ST § 1 SR S 3T IS FHYER WEd §, 1 S $B UIS AR a1 argar F
TR T TRR URd & o1 81T & SiiR wiveda omiReT & amar 81 ¢iftw e Su S § a9ar @ wief g9
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AT AET 81 7 IR B Al UG 9 aToR & SUTgIaR AIedl A bl Icurg &t wlg forar § ok agl s =
F TR TUF 1 DI TUTEAT 8, O SH F1 391 oo sgm & Rl Hi8 7 315 giorn gt S| i
T IR T 78 TTEH! $I IR TP fash! T3T8 o Tohall &1 3 F SR § fay &) Fa METE! $1 TF AATS
e 9 o URa A vear 81 82 A s W Fre aiftre fas) Tmeeht & 98 59 &) Aew gl aeR) @Y AeReies
TE R Tt

IR TR B UGS A Y T A BT Sk Fargu|
e 591 9t prdeel § givar § @ der g 82
1. dH

2. 81
3. TSR
4, I

Correct Answer :-

6) Snyfiw w1a & T gl 3t srdorawn e @re omow & 9t g5 & S aefiwvur ar welaarsoRe $Ed 71
TETERUN & o) HISHIATUE B TivIT | AThIHITe ST 3SHIe SMRET H 81 30 $UHT & WIHedsR & T8 o
R 3R 31 F3 32 A a7d | WIgshiNTte & Airedsi Ot givar § sxdwma fsd ora €1 eriifvest &1 wis
TieX TP 3T ISV 81 TPl 81 BIS Dt PR A5 A a-d1 ¢ iR I8 § a+1 B faw! & o 75 i oo
Tl § 1 §HS 1Al 39 B & R gt fpet o/ =1 1§ a9d g1, Wie dee fhet ofik 3= o, @irse, Rav =g,
oz et o= 331 A 5919 €171 PR & T |t urd 3renT ST AR gRT WIS Hie 61 WS A o §,
g u® 91y Siie®? &R 9418 Wl g1 37 9t fpar-saral & o gfar # A5 & Jawr Tor g €1 g9
Tt g &t srferawr ywifaa gt 81 3y oft fneft arg Seure ar a1 & aR § Wi wad € RieT Iared
i & faftra wiil # ghar 31 30 fay wR 91 arforawyrait # wrenR fyafar o1 o= gian 81

A WHfere o it it At SI $1 FRar 81 IHS fordk wgen faey i 5 oo 32 A € $1H HRamn
T WET 39S AT Sifire e | 3RTeT AP ew ghn fF 39 SrH &t fhft ¥ 31 # FRarr WY, Siel s9a!
ARTA HH AR | I8 F16 § 76 i3 W Hro-it ger fdwer & gl | WRe, walkm, 99 ik agaa d o=t
T FH P IR ST & S 377 &30 A Aorgy Wi T & et 9t &1 S99 ST &1 @Td & & oIt 8 3R
FHT DI dgaR GATET ST & 1 SRR T 31T DS YL T §, °f S $S IS ARmar a1 argar &
T 0 &, TR WA d 991 81T & SfiR ATty SReT § 3T 81 ifm Seug 9 3w § 99T & oie 59
9T ST 81 T ASIR BT AT G TR AOR S TG ATEHI A [Pt SdTG DY WRIG (o € 3R 987 3@
& TR WU B4 DI GUTGAT 81, T FHL S 31 fIead 9e1 & ford &18 7 $is gio=r a1+ us | faedt
T AR § 7 UTe D] B dAR HI&b 9! FeTg ol bl 8| 3 & SR H 3y &1 T nardl &1 v aurs
?ﬁw%wﬁm%ﬁﬁﬁﬁmﬁaﬁmﬁaﬁmﬁ%%ﬁﬁ@wﬁﬁwﬁ
2 I

IR TR B UGB A1 Y T YA T & Farzu|
wA: defievur & YRSt SR 7 ufrn @ @ fFrafa g ure
134

2. Rfffa ama

3. d=THI

4, T €Ty
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Correct Answer :-

o b= HIA

7) yfP F1a A g g B srforawi N7 aRE 3w # 9t 8% & S9 Sfierur a1 Wiaage Fed ol
IeTevul & ford ArgshiNe @) diforg | ATgHINTTRe &1 fs1ee sMfieT d 81 59 Ul & AR & $o 3%
YR 3R 3 $3 32N & g7d § | At S iredsr Tff giar § sxdvra 5 ore §1 sifvet «1 wid
TeX TS 3= ISIET01 §1 HHdT ¢ | IS Bl PR U478 A a1l § 3R 95 A a1 B fawl & o &3 3 o
STt €| S99 3rdTaT 39 HUAT & R aiey frelt om 3x1 o s91d 817, Wie aee fomd) ofR 3 &, wmge, Rav g,
o forelt o 31 T €11 R & T T U 3T 3T AR ERT BIS HIek &1 Uwis fhd o &,
g U@ 1Y Sie®R R 913 et ¢ 1 377 9 frar-waml & ¢ gftrar # A9 & sawR dar dia &1 399

g &t srdegat gutfaa Bt 81 oy oft forlt o Seute a1 Tar & IR A Wi W & e Same
g & faftr wii & giar 21 59 fay R 1 arfogawreit & wewR fHyfar &1 w1 g 71

7 i 6 Rt ot @1 H1S B Bear 81 3 o vgen feven gt 6 o= < & 8 o1 wvara
T WEl gHe! ARTd e U | SRTAT fawed 8N {6 39 &1H & fhadl T 37 # Heardr Wi, S8l sHe!
NI S A | g8 916 § 7 i Wt s g fiwer &Y gaht | ure, walRm, 6+ ok aigam 3 o=t
Tl $H DIACT U U g ¥ 37 2 # Aoigy 1t g & e o §1 S99 Seuied 1 &vd o4 81 ol ¢ Y
HHI BT AR GATPT ST 31 SHRR 9 310 HIE $TeR TG &, df SHS $O UIE AT a1 arga &
T B T, MR HRA A 9971 a7 © SfR Wi das sAfeT & oirar 21 Sife SeuTe 99 3% & aaT & wief 39
9T ST 81 1 ISR BT T 7S T TR S SR Aeah) 3 {5 3 o) @il R € ek aef e =
F TR WU B P JUTE 81, O ST B 3o faom geM & Rl S 77 &1 Fiemn o gathh fash
T4 IR # T8 TTEH! DI TUR BIP ST T5T8 o Tebel 81 3 F SR A f3y &1 Fa AMaTdt &1 TP AUTS
R 919 iR yRa # tEar 71 ¥ F st Wit wroeh offtres s aredt @ 97 39 € Aeayl aeiR) $Y AeRaiers
T B TPt

IR TR B UgHR A Y T A BT S* g1z
U 5o fIywR @Y srferawnaii # e e Hig Uer glar 82
1. FfRar

2. JgbR
3. GO

4. ggam

Correct Answer :~-

. ffan

8) anyfie wrar & gt gfran Ft srfaraw o ave oo & 9t 53 € 99 Aefiwur ar TaiaargoR BEd 81
IR & o) AISHIATUE Tl THRIT | WISHINITE $T 3SHICR SRS H 81 30 HUHT & ISR & TO o
YR 3R 31 F3 =M & g7d & | HIShiNte & Airedsr T g & sxdwra f5d ora €1 sriifvet &1 oI
Hiex TP 30 IGIEVT 61 HPhdl 8| IS Bl BIY A78 A Iell & 3R T8 A a1 oI o & ford &8 &2 ao
STl &1 39S 3raTar 39 U & R arey et o 3w A aa 81, Wi dee el ok 3w A, @nge, v g
oz et 3 331 A 719 €171 PR & T HT it urd 3renT e dE% §RT B Hiex 61 9w 6 o §,
8 U A1Y Sie®R PR a18 Tt ¢ | 571 |l fbar-saml & gt gfoar & AoFR & Sraer ter g1 €1 39
T g ot srdegawr wunfaa gt 81 e oft feft e Seure a1 WAt & aR A W wed § e Iarg
2o & faftre ur & gl 81 399 fay wR 9t erferawral ¥ wraR ke &1 s g g1
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A Wiforg 6 fredt Uit @1 BIE B BYar 81 SHS i ugar fa®er g & 3 321 A € &1 wwaran
ST el gaPt arTa Siftre e | 3pTer fawed g fF 39 B @ fel 0% S F FRarar Wi, wet gue!
NI B ST | 98 W% § fF 1S o Froeit g e &1 gt URe, wafRmn, 99 ok argam & o=
Td $H PIAd TR IUA § 3 37 330 A Torgy N v & e ol 1 S99 ST 3 @I B 8 el @ 3%
TR} BT SR GATET SIaT 31 SRR 5G9 $IS Hgex Wied 3, df IUS o U AR a1 argar §
T B T, TRRR HRT | T 217 & SfR WIeeday smieT | omar 31 Siftw 3eure S 3w d @ et 39
T ST ] 1 1 IR B Tern: I W IR & SUISR Ured! A fbadt Saure &t wiie fRrar € ok ggf e@
& ISR WU 84 DI HHTIAT 8, a7 S S AT fAo ToH & o1 BIS 7 B3 dior=r a1 uaai | faedt
T IR # T TR $ IR HIP (3wt TeTs o Tobel 81 39 & SR A Y &t oo mard) o1 vw aims
T A it yRa 8 vear 81 88 § ot W st aiftres Rt aredt @ 9% 29 §) Hewyul 9o} @Y AeRsierst
el X I@dtl

IR T BT UGH A YD ¢ U BT I*ik ga1gu|
TR: TSP & TICATR Fol-Pal IAT (5 I 82
1. Y

2. HRd

3. Qg
4. ATHIH]

Correct Answer :-

- g

9) 3nyfie w1 § g girar #t srferawt R we s & 92t 5% & ¥ Ao ot WiaarsaE $8d 8
ISR F o1 HISHINUE B T | AISHIHEIUE $T eSPIe? SARDT U §1 59 $UT & HIUCASR & PO 3
YR 3R 37 &3 320 A 97d &1 A Iate & ditedsr T gar § sxaura fd wira §1 et &1 wis
TIeR TP 3= ISV B Tohdl &1 IS D1 B A7 A T7d1 & R 39S & o N A & Rl o3 < 7o
ST &1 3% 3AATAT 39 U & R gy fdt oy 3w # a8, Wi 9w Y ok g A, wmse, R g
iR fopeft org 31 © 9999 81111 $R & U [ UTE 3IeRT SraT A8 §R1 BIS AT Sl TwlS (54 Wd &,
g U@ 1Y SSHR R 918 w1t 31 577 9 frar-wardl & gff gfFar & JorR & srawR a1 8 ¥ 59
Th g oY srdferawt gutfaa gt 81 oy oft el o Seute O St & IRk | T Taa § Rrve Same
gt~ & fafter wim A giar 81 39 fay wR &1 srdorawirel § wenR fHaRer &1 90 giar 81

I AR i et ot o BIs F9 FRamT 81 3TF R vear fawey ghm & e 3= # € o weara
A Wl S9! aTd 3 e | 3rTaT fawed ghn % 39 w1y &Y fandt U 3w ¥ FRarar Wi, S8t suet
NI SH AT | 98 |10 § [ @i W St g fdwer & it | URe, galdmn, 99 ok aigaq & o=
T S P11 I ST & SiX 37 o301 A Auigy Wi Twd # e oI €1 S99 SIS B! & 5 & ofeil © 3R
H P1 g TATBT B1aT 81 SURM oI 317 H1S STYe WIed 8, 91 IS S UIE iRl a1 argar T
T B9 2, NRRR HRd A 991 a1 € iR WIeeday 3R & arar 2| ifew Ieurg 99 3w & aaT & wef 39
I AT B 1 12 ISR B AT Al IR IR & SATGIaR TTedi A fhut 3a1g i Wi forar € SR agf | =
F IR GUF B B HUTFAT 8, 1 S BT 301 e 9em & il F18 7 F18 Ao g9 gt faeht
T IR # T TIEH] D) TYR B3P faeh! T8T8 o Toball 21 3 F IR A f3y A Fa a1 &1 v Aurg
?ﬂﬁmwﬁw%lﬁﬁﬁmmﬁmﬁaﬁmﬁﬁﬁﬁﬁWWaﬁww
G I

IR TR B UGB A Y T UIH BT SER Tzt
TSH: 99 31T BIs LR Wiled ¢ af IUP IR Ul TH 3% F 94 814 &2
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2. 3{CT- 3T ATl §
3. S{CI-3fTT <20 |
4, [T Tial H

Correct Answer :-

. SIS A

10) 3nyfe o1a # gt gl Bt srferawr o ave s ® 9t 5% € S i ar weaegeRE FEd
£ IeeR0 & Rl APt o | AEwIbiTe o1 5o 3MR®T & §1 39 $U-l & GiredsR & $O
3 YR 3R 3T T3 &1 A a1 & | ATSHINITE & AR T g § swaard frd o €1 smifveT &1
IS AIcY U 3T IGTeT01 6l Hhdl &1 BIS &1 BIY Aols A 9l & 3R 978 A a1 B1% faspl & fd &< =
T STl €| 39 3fATaT 59 HU & Fraw gy Pt o=y 33 & 591 €1, e Jee fpedt o S , wrge,
R o iR frslt o 31 o 991 @191 | PR & @y Il uTd 31T 31T d8R §IRT BIS HieR &1 Jwrs fFd
e &, 8 U A1y iR SR 718 Wit 21 39 Ot frar-wat 3 ot g & A5k & e Uer Bie €1
TR O gforan Ft areferawur wfaa gt 81 ama off fpedt o Seurg @1 A1 F aR F Wi Iwa € Rrae
Jaure givrar & fafta uri & gt 81 39 Ry wR 9t erferawyrelt & e frefkar @1 s g 21

UM difore & el Ul S S5 S8 $IaF1 81 IS9P ol ugan [awew s i erm= 3= & € o™ svamn
T WET 3HPt aTa Siftre et | apTer fawed g i 39 B @ fedt 0% 3= F SRarar Wi, oiet gu@!
AN T M | T AT ¢ fF H1E ff st R e &) ganfi uRa, wafmn, 99 ok e d o=
T $H DIAd U U g 3R 57 g0 | gorge Hf "wd & e od 1 S99 S o1 o &4 g1 ol g oY
PG DY SgAT YT BIaT ¢ | ST oIF 31T HIS Hre? TG &, df ST P U Ao g a1 argar
5 €19 §, TR YRa & 51 €T § Sk Witedar SAReT & orar §1 sifew Swrg 36 391 & o441 § el 59
AT WET @1 4 ISR B Aerr: Al 9o II6IR & SUIGIR ATedl A fbdl Ieure &t Wil forar € 3R agl e
F IR TUA B4 Pt FUTGAT 81, 1 S P 31 o9 FeM & Rl SIS 7 F1S I a1 it e
T IR ® T TSR] 1 IR HIP 91 818 ol Tbal g1 3o & SR U {3y T Fa AEISt HT UH A4S
T 919 ok WRa & vear 21 0 A ot Wt o arftres faeh) wredt © 98 5 9 Hewqul ariR] @) AeR3iarst
& B THa

FRIT TR B UGHR A4 U T U BT Sk qargu|

T I g o srferawi o ave omuw # 9t g% 99 1 $ed o2
1. Hldrul

2. THRIBIU

3. SISIRIHRUT

4, qefieT

Correct Answer :-
« qsfieRor

11) T TR AR & E
Y fram A &Y wfear?
FAITATYITATE
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3 Ioead BRI B HRar?
I ST ST A

P IHFA § A THIA?
AHS AR AR A A

DI gHE ¢ Al qHGH?
T T § F St

3T TR BT U TEATHT?
el R, el UR, IO
fae¥ guvaq € A

TS AR FAIRETR

Fi g & gy Sarelte
I Iua A e &Y @
fram Surach fFrreft?

St gYar, 39 ot FUl Bt
3foTell & WX TR W $M1S?
Tl 3T e PR v
3 W Hi4ar U S5 |
FRIT U= B UgdR e YR o+ a1dl U= &1 Sk a1zl
TR: TR A By RIS 1 B 1 ST ATear 82
1. ST

2, HXeldl

3, Sfidaar

4. dqdm

Correct Answer :-

12) s o R AR & g
I forea ot &) @fgar
FEAITATITATE

Y owadl g1 DI PN

ST A ST ST
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HI g9 § af aHEn?
AU S TR AR A Y

DI GHE ¢ Al qHGH?
T ITT 8 B et

3T ¥R BT U WATHT?
Tl UY, Tl U, T
ey gu ¥a= & =

TS IR FAET

Fi- g 7 g Saredle
FIIUTT A A R

e Siuradt PRt

Sft gtar, g 3 Bl Bt
3eTefl A WX IR A 3MEH?
gt T Pre PR wx
1 WX HIal U& a1 |
ST Ui B UeR A U@ 9 a1l UEH 61 Ik ad1sgl
U A & AR S A TR UR BT T e 82
1. T gy

2, Gl

3.9

4, M G

Correct Answer :-

13) TR R AR HE
3 forem Ol 9t wifeai
SHITA IR

q Iooad BRI B HRAT
T A ST ST
B THDq § af THIa?
AHF TR AR 4 A
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HI9 gD ¢ I GHGH?

TET A1 § $I St

U W FT WRT G2

U R, Tl UR, WO

oy gu 3= € A

TS IR TAIEE

B G & ug aret?

FIIUaA A e Y 8

e drurach fFrref?

it g, 39 o HUll i

SioTel & W IR A 312

@l v e fra v

3 R FI1 TP 915 |

IUYT T B TSR - IR W4 AT U B S} Ia13el
WR: 3 o Higd W YTy B 71 ST Aredi g2
1, iddl ferg

2. R ¥ BgHT

3, ST AT

4. SO AT

Correct Answer :-

o Diadr fera=n

14) T R HE
3 fpam il ) wfsan
CIERICE-RICR EIE

Y Iooacl BRI B BIAT?
I A SR ST
P TUEA § 9 THI?
AHF TP AR 4 A

DI GHSA § Ul GHGH?
T AT 8 B Siigdt
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3T ¥R BT U WATHT?

Ul WR, el U=, GITT

R gu e &

TS IR TATETR

P g2 & g Saredle

FIIUGT A AR

e dturach fFrret?

it g, 39 ot HUN Bt

3Tl H WX TR A 32

3@ 2T P Fra ae

9 TR HiId1 U a1 |

Iuad Ui B USHR I YD o1 9Tl U B Ik ad1gel
U= I I | P T971 §RI B AT HeDR Hid BT Thd [P 57
1. SqAT B 3R

2. oot a7 =7t

3. AT BT 3R

4, Upfa Bl &R

Correct Answer :-

. TP DI 3R

15) TR R AT
3 foraa widdt & @i
PHATTY U TR

Y Fooad §RI Bl BRI
I A SR ST A
P9 TS ¢ qF THEE?
AU B TR AR 4 A

P gHS ¢ Al qHGH?
TET T ] B Siedt
3R R BT U WSATHI?
el W), Bl U=, TRTOT
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fara¥ gu 3@ & A

IS HAY TG

B G # ug harer?

39 Iua A o § R

fram doradht PRl

it g, $ o Full Bt

SISTel & W R A 3?2

gt Tt e e v

3 W FAa1 TP T |

IUa U= B USHR A YD o aTd W= H1 IR Id1sel
TRH: 30 T U & WOl B B FeT T 82
1. dR

2. Sed

3,91
4, B

Correct Answer :-

16) T TR W RATH &
3 forem W &t wfgai
PEATTA I TR

? Iooad BRI B HiRai?
S A ST ST
P IAFA § A THIH?
AHF TR AR A
DI GH ¢ Al gHGH?
T 41 § B Siigdt
3T TR BT U W2
Tl W), Tl UR, IO
faa¥ gu a1 € AT
IS AN TGI8
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B gt & gg drareit?

FIITA A TA N

e droracht PRl

Sit gYaT, 39 ot HUn Bt

STl & WX TR A 312

! T R PR av

39 R HAa1 T 9155 |

IUe U B USHR H1E ID W4 aTd WA BT IR qa1s¢l
U duraeit Id # 794§, A Hfa &) a1 S@d) gag uradtt S @
1. T I IS A8

2. 31N IR GIS P! fhull Bl THS G@h

3. B B YA g3l

4. 1q 7 THG o] &A1

Correct Answer :-

. IR G B B0 DT TH0S T@HR

17) BT R AR G E
J foraa el &Y wfgai?
P Td W IR

} Iooad BRI @ HRA?
I ST ST
P IS & AT THIH?
A S TR aRI 4 A

DI g ¢ Al gHGH?
T A1 g 1 it
3T TR BT HIT WATT?
Ul R, el UR, WIOT
@y guvaq & 7
IS AR T TE1Y

i @it ¥ gg Shardt?
FASTEA A T
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e druracht fFrmel?

it ST, S ST Sl Bt

STl H WX TR W 3152

! ST PR Pra wv

T R Fa1 0P 1165 |

IUYE UL BT USHR e TR 9 aTd W $T I« Tage|

U U<, Bal 3R PEH-PEH TR 3 TV P AT TSR & 1 SR gu g
1. I

2. 9T

3. XA

4, A

Correct Answer :-

18) TR TR A E &
A fram Akt Y afdar:
PHATTH TITTE

q Iooad BRI DI BRI
T A ST ST A
P9 FUSA ¢ AT THTU?
AUF TR AR A

DI GHE ¢ Al qHGH?
TETITAT 8 P it
3T B BT U G2
Ul W), Bl UR, WIOT
oy g€ 3= € A
IS FARHATET

B G & ug areil?
9 SUaH ¥ W 6t 8
e Surah ARty
it gYer, 39 3 Sl Bt
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SfoTell H HR I A 317

@ T e P e

T IR HIAa1 TF T3 |

IR UL B UGHR Ad Y 1 a1d WA FT IR Tz

TRT: 3RT BN B U AT & UR B B FeT o 971 I1gar 82
LA H

2.RH

3. 9 NTH
4, 9aH

Correct Answer :-

« WH

19) s T R AR & &
F e wiet 3t afgan
P A [T

A Iooad ERI B HRAT?
L ST ST
P IHSA § I THIA?
AHS AR AR A

DI GHS ¢ Al qHGH?
TeT T § $1 it
3UH TR BT U WSATHT?
Ul U=, Well UR, TRTOT
fa@R gy & A
TS IR HATRETR

DA G F gg areit?
9 3ua A e &Y @
o dturach fFrred?
Sft g, 7 off e ol B
Jorelt  WR W @ 3%?
@ T e fFra v
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T W HiAa1 U 94915 |

IULS TR BT UgHR e IR 9 a1d W $T I&R Ta15¢|
T BfY 7 3 B B 5w fe B Hieai TR

1. At o1

2. 9 BRI Bt

3. A &t

4, G- DI

Correct Answer :-

. 39 BRI B

20) T T R A@T g
3 frem At o5t wfgai
PHETTH I TRTE

q Iosad sIR| DI HIvAN?
T A ST ST
B IHSA § A THIA?
AU F IR AR A A

DI GHE § A1 qHGH?
TET T B I et

ST TR BT U Gl
Ul W), Tl UR, WO
ey gu T &

TS A HAT TR

D G § ug areil?
1 IUT A T R
e Siuradht PRt

it gYar, 3 ot Hoil Bt
3eTeft & WX B A 3EH?
o v e Ffra a7
B WX PIAal U& a1 |
IUe TR B USHR A1 UD o1 9T W BT IR Ia1sel
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UL 9 O WR 3N Y §F fpw g o feaet €2
1. RIRR

2. 7RG

3. 89d

4, 994

Correct Answer :-

21) TN R @I E
3 frem Wt &5t wfgan
PHAICH IR

Y oA BIR| DI HIXAI?
ST | ST ST A
DI IHFA § 91 aHIA?
AU TR AR 4

DI GHD ¢ Al GHGH?
T 4T 8 I St

T W FHT WRT G2
U W), Tl UR, TRTOT
fora¥ gu = € AT

TS TR TG

Fi1 IR # gg Sarelt?
T IUaA A e Y R
fram droracht PRl

it gYa, 39 o U i
Sierell § WX TR @ 3?2
go! T e fFra w1
3 R FId1 TP T |
IUYE T B TSR 1 UD W4 ard WA $1 3w} Ia13¢l
UL ‘g1 T AR o &9 § fve 9 w1 arad @2
1. UgAMEAT
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2. T
3, SRl
4, TG

Correct Answer :-

22) T R v & &
3 foram e Bt wfgai
PHATTHA I TR

Y Iooqd BRI B PR
T S ST ST

P IHPd © al FHIH?
AP To AR 4 A

DI GHEA § Ul GAGH?
T T § B Sigsd

3T X BT HRT T2
Tl W), Tl UR, T
ey gu va= & =

IS A ARG

S G & g fare?

T IUa # e R
fram dturacht fFrreft?

Sit g, 39 S FUN B
STl & HR R A 32
@ 2T P P e
T W BRI TP TS |
IUY U B USHR i I o1 9T U= BT IR qad1s¢l
TR IS B TR0l UsH W 3N B 3RIRST § fohw ove guwa 82
1. FHIFE T

2. A1E BT aRE

3. TSl Bl g
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4. i Bl RwRE

Correct Answer :-

. SIS Pl AE

23) TR E
3 fre it &t wfan
P IGH U TATE

Y Iosadl G| DI BN
I A ST ST A
PIF TG § i THIH?
AU F TR AR A A

DI GHS ¢ Al GHGH?
TET T § B St

3T TR BT HRT G2
Tl W, Tl WR, TIOT
oy gu ra= & =

TS HAY WA

I g # g dlaredl
FIITAA A TAT R

e droractt PR

h gYar, g 3 Boil B
STl F WX TR A 32
! 2T P o e
3 W FAa1 TF 9135 |
IUde U B UgH 19 IR 9 aTd W $1 I« Tad1g¢|
WRA: HET QT TTT oI BIg SBS| &I FTATPHT Fax-Haw fearedt 71 5182
EE]

2. Qa-afeg o

3. R H

4, SFI-IET A

Correct An;u_rer -
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24) T RRAATHE
4 foraa widdt & wigai
B IGH LY TATE

Y Iouae oI DI BivAl?
T ST SATAET
DI IHTA & I gHIH?
AU P To A A A

DI GHEA ¢ Al GHGH?
T IT4T 8 I St

37U R T U WOATHT?
Tl W, Bl UR, T
ey gu e & =

IS FAY TAIEI R

P g o g arell?
FITETA ST HE

e dturacht fFrret?

it g, & ot Hull Bt
STl F WX TR A 32
3@ 2T P Pra o
9 TR HiIda1 U a1 |
Iuad Ui BT USHR HiE YD W1 ard U BT I) ad1gel
U gR1-831 U W) Hidl & afgal foosy S &1 Hg1 a1 82
1. 3N &

2. G 1 fzon &t

3. aui &l

4, T BT

Correct Answer :-

. D!
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25) T T R R@v g
3 forem Wl &t wfgai
PHATTATI TR

3 Iooad BRI @Y HiRai?
T A ST ST

P IHFA § A THIA?
AH S AR aRI A Y

DI gHS ¢ Al gHGH?
T 4T § BT it

3T TR BT U TTHT?
Tl W), Tl UR, IO
¥ guvaq € A

S AR AT 8

B G & g Sarelz

o SUaH & wen &t 8
[EEEALICRIRERGIH

STt T, 37 3N HUI Bt
SfoTel & WY B & T2
ERCARIN BECAE PRGE: 2y
R a1 TP T3 |
FRIT U= B UgdR i YR o1+ ardl U= &1 3wk a1zl
URT: TH & T7g aRI B RGN H8 gHBd 82

1. g6 forg

2. qHoH
3. Ut ferg

4, TSI ferd

Correct Answer :-

26) CANCELLED
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nyfIe e & Wi @1 srferaw forg ave 3w # I31 §% ¢ S0 dFIHRu U1 TleargeR $&d ¢
IR ¥ ferdy T I TOTT | ATSHITITE BT SSHIER ARSI H 81 §H BT & VAR & $O (T
YR 3R 3T F3 320 A 774 &1 AISHNITE & Aitedsr T g ¥ sxauma f5d 9 §1 iRt &1 wis
HIeR U 3g IS0 6 Tohdl &1 IS B B8 998 A a7d1 & 3R oS & a1 &N A & ol &2 i ao
STt &1 3% AATET 39 U & TR S fedt o 3w | aeia 81, Wi dee ) oiR &= &, @mse, Ry,
Rz forlt o 31 T B | PR & T Tt UTE ST e dS% ERT BIS HieR &1 WWs fohd o &,
R Tw 1Y SsHR FR 918 Tt 31 377 9 frar-wara) & g g & A9R & srawR der g 1 39
T g 3t srdeaaw puTfaa g1t 81 oy off fonlt o SauTe a1 Har & IR | Wi 9dd g fosT Sared
g~ & fafte wrm & grar 81 399 fay wR oY srforawirel & R fRar &1 w1 g 81

A A i et Hudt ot BIS S HRamT 21 3TF R vgar ey ghm & oA 3w # & & weama
ST WEl 39! AT it et | 3pTer fAded ghn P U e @ fhdt ¥ S § Hrarar WY, Siel sua!
ANT B M | T8 W & % B WY St g faerey &) gl uRa, wafmn, 99 iR ageq § o=
T HH 1T IR ST & S 37 o3 A Aoigy Wi e & fira & €1 S99 SIS o1 @d $H g oiieil @ iR
P B dgaR GATET iaT ¢ 1 SHRA 9 3T HIS HreR TG ¢, @ IS $° UIS TARAT a1 argar= o
T T, MR URT A S a7 & SR Wiredey st | orar €1 Sifew ST 99 3%  aaT & wief 39
9T ST 81 710 ISR ST AR G IS AR & SATGIAR ATeH| o [l SedTG Dl WRIG 10T § 3% 981 3@
& TSR WU B4 D HUTIAT &, 91 S B 3T fao g1 & ford $is 7 +18 g1 a1 usti | farwdt
T TR § T3 UTES1 B GUR $IPb Q! 9¢18 o Thdl 31 3T & SR H 7Y F1 o a1t &7 T DA
?ﬁwﬁmmﬂwﬁlﬁﬁﬁmmmﬁﬁmﬁﬁwﬁﬁwmﬁwm
1 I

IUYeR TR P USHR AR D T U BT IR Fasy|

TH: ford e A oRr & g & gay yri § SiieA &1 o1 e
1. 9 &€

2, ATHT &Y

3. T e

4. Ricshs &<

Correct Answer :-

27) CANCELLED

NYFIe Pra o G gieran 91 arforawt fory ave Mo ¥ 9t g3 & I AIRur a1 THiaangeiR $Ed
IaTeul ¥ ford Argw e @ iRre | ATSHINTTE &1 3s@1ee MReT A 81 59 HU-l & AR & $o W
YR 3R 31 $3 330 & T7d | ANt S qiredsi Tff giar & sxaama f5d oma 1 srifvet &1 wig
e TP 39 IS0 81 Thal &1 IS Bt B A98 A I7d1 & iR 398 & o+t R et & o &3 2=l oo
STt & | 399 3raTar 59 $UAt & R aiew feedt o 3w A a9 819, Wie doe faddt ok 3w &, wrge, Rav g,
Ry Pt o 31 # a91d 81711 PR & T+t Tt UTe 3ot 3renT 4% GRT WIS Hick &I 9wins [l oid &,
R we 1Y Sie®T BRI 918 STt 21 377 9 frar-wamd) & ¢ff g # A5 & srawr der gt ¥ 59

gfrar &t srdogawyt gurfaa et 81 e oft foreft o Ieute a1 Var & aR A wi gad & e Iamed
gi=ar & fafte yri & ghar 81 599 fay wR o srforawurelt & wenr fFRar &1 w0 glar g1

1 A fF Bt St $1 B F9 FamT 81 IS R ygar faeew ghm % oA a9 A € &8 Sanr
ST el 3uPt arTa St Mg | 3nTer fawed g f 39 B @ fel ¥F I F FRarar Wi, Set sae!
NI B ST | 98 W1 B fF A1 o Fwoeit g e &1 gt e, wafRmn, 99 ok argam & o=
T H BT TR ST & SR 377 201 # Aorge ot T & e o1at €1 399 ST 3t v 1d $H 8 9l @ o
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S D1 dgaR GHTET ST § 1 SR ST 1T IS FHYER WG §, 1 SHF $ UIS AR a1 argar F
T B T, TR HRA A 9971 g7 € iR Wieedis sl & oirar 81 SifeT SeuTg S99 A% # aar & wief 39
T ST 81 T8 IR $T AT TG T TR & TG ATeH| o [t Se1g BT WRIG 1o ¢ 3% T8 3@ 7
& IR WU 811 DI HHTIAT 8, 9 S S 301 [ e & o $1S 7 B8 gior=r a1 gt faeh
T ISR § T3 UT8S1 B GUR $IP Q1 9¢18 ol Thdl 3| 3 & IR # 9y F1 T 1S ST T AU
mmmﬁmélﬁﬁﬁﬁmmmﬁaﬁmﬁﬁﬁﬁwmaﬁwm
T PR I

IUYe TR P UHY A1 U T U BT Ik ga1zg|
US: 3D U ¥ UAT Ula BTy dul~al or a9+ 18?2
1. 3RS T

2. R U=t

3. SgRIPIA Ul

4, HR SHU-T

Correct Answer :-

+ SERIEH bl

28) CANCELLED

Ny Fra W G girar #1 arforawr Ry av8 3o # 9t g8 € I AuieRur a1 eiaargeiR $ed
IeTeRu F ol ATShIIe &) fRIT | ATSHINIR &1 2Se1e? MRS # 81 39 U & TSR & $O W
YR 3R 3T F3 o= A I7d 8| ISt & Aitedsr T givmar § sxaara f5d wira §1 siRet &1 wis
HIeR TP 39 IGIE01 B Thdal &1 IS 31 BI% 478 A T7dl & 3R 98 & a1 o AP & o &3 =l 7o
O €1 3P AT 39 HU S AR g Bt o 3 A g9a g1, i dwc fht ok exr ®, wmse, R oy
oz forelt o 321 ® o9 BT PR & AT T4 UTd 3T e 483 §R1 BIS Hiek &1 9wls 9l o &,
R uw W1y SisHR SR 918 STt 81 579 9 Rrar-waral & gt gfvar & Qe & srawr der gia &1 sa
T ghvar ot srderawur gutfaa gt 81 ama oft freht o Soure a1 Sa1 & aR § O o § e I
g & faftre ur & giar 81 599 Ay wR o srdorawireit & wenR fAkar &1 w1 glar 21

T g i et Su-it o BIs F1 FRamT 21 3ud R vear fawey g % srom 3= # & o wwar
ST el 3H AT Siftrr e | 3pTeT [T ed g fF S S & foh ¥F 31 F HRarn W, Set sua!
ANT FH A | T AT ¢ % @13 W st gk ey &) gfi uRa, wafkmn, 9 R agaa d o=
T FH 1A I STy § 3% 37 o0 A Aoigy Wi e # e 9 €1 S99 SIS Bt & FH 8 ot 8 9N
HYHT 1 AgaR GBI 81T 81 SARTY O 3T H1S HFYeR TG 8, 91 IS S UIE WarRrar a1 argarT &
T BN &, TR HIRT A 7911 giaT & iR Hiveaar sffveT | arrar 81 Sifew It 39 &1 § a97d1 @ Wiel 59
AT 1 81 78 IR B TR afe WY IR & SaIeeR Aew! 1 fhl Sarg & TRl forar § s agf e T
F TR WU B B HUTIAT 8, O SR B 301 e ggm & R F18 71 18 aiemn a9 usih fasht
T IR # T e ' R HIP At Ters o Tbal 81 3o & SR A fay & oo smard) o1 ue s
e 97 oiik wRa ¥ vgar 71 T2 o ot Wt pruet siftres fasht amedt § 98 59 o e qut aoTR] &1 Ao Sigre
T8 B w@wtl

JUS TR B UGHR A1 YD T A $T Sk qargy|
WR: YR & T W4T =0 A ugar?

1.9

2. BT
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3.3
4. Rrew

Correct Answer :-

29) CANCELLED

anyfre ora & gt giar 9 srforawr R avg amow A 9 g€ & 3/ afievor a1 wiaageRH Fed g
IeTeNul F o ATEwIIte B HivIg | ATSHINITR &1 3s@Te? ReT # 81 59 Hu-l & TiedsR & $o W
YR 3R 37 &5 o=11 A a1d ¢ | AIgHINITe & Hiteder T gi-ar 3 svaura fd ord 1 sRet &1 wis
HIeX TP 3T ISTETV B TPl ¢ IS Bl HIY Uols | a-ell & 3R Aa8 A a1 B1¥ fIdl & o &8 3= 9
STdl § 1 599 3raTar 39 $U & R afey fadt o 3w § s9a 811, die Soe fasdt o 3w &, wimge, Rav g,
Rz et o 31 & 91a €171 PR & Ay |t Uré et T d8Y g1 IS Hiex F1 qwrs fhd od €,
2 TP WY ISP PR T8 At ¢ 1 377 Wl forar-waml § I gforar & Aok & SraeR tar B €1 39
5t g rar Bt srfegavr wutfaa gt 81 3ma ot fbeit aa Ieurg 1 WAy & R W Wi AEd § oRieT Iang
g & faft yri & grar 21 399 fay wR Y srforavyreit & wewR ke o1 5 gl 81

U difore P el Ut B SIS STH HIaF1 81 S9F o ugan f[awew s & erm= 3= 7 € ™ svarn
T WET 39S aTa Siftre et | apTer fawed g i 39 B @ fhdt 0% 3= F SRarar Wi, wet su@!
AN FH A | T AT @ B W st geR fdeew &) ganhi uRa, wafmn, 99 ok agem d o=
T $H SIAd U U g R 57 g2 | Forge Hf "wd H e ofid §1 S99 ST o1 oiTd &4 g1 ol 8 oY
PG DY SgAT YT BIaT & | SHRA oIF 31T HIS Hrge? TG &, df ST P U Ao Rrar a1 argar
T A ¥ TRRR URT & 991 8147 & SiR S dar AR & amar 81 Siftw Swre 3W 39 § 9T § et g9
AT WET @1 71 AR B Aerr: Al 9o II6IR & SUIGIaR ATedl A bl Seure &t @il forar € ok agl @ =
F IR TUA B4 P GUTGAT 81, 1 S FT 31 o9 FeM & Rl SIS T FIS o= a4t vt et
T IR ® T TTEH! T IR HIP f91 Te1s ol Tobal g1 Ao & SR A {3y T T a1t 71 b =T
e A9 o UrRa A vgar 21 12 A st it S eiftre fs) el 8 98 549 o) eyl aeR) @Y AeReies
& B THa|

FRIT TR B UGEHR A1 U U U ST Sk qargu|
TRH: UTHTC 20 & TR b WIRela W ) Ue 3 82
1. fae fegwT SIR &%

2. TR A BIS TEI

3. HaTS fegsT ok g

4, ST SR Fest

Correct Answer

. Ry fegeT SR B3

30) CANCELLED

sy wra # ot givrar &t erforawir R ave smuw ¥ 93t g5 € 99 Asftevor a1 elgargeis $ed g
IeTeul F ford g iaTee @) difore | ASHINTeR &1 RSl MReT # 81 59 Hu-l & TiedsR & 5o 0w
YR 3R 3 F3 32N A g7d § | ISPt $ qiredsr it gfar & s 5 o €1 eiifver &1 i
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HIeY U 31 IEIEU1 81 HHdl 2| BIs D1 PN Auis § ad] & 3R 99 § o+ d1 fshl & ol ¢ 3= aop
STt €1 SHP AT 39 PU F R aiew [Pt 3y 32§ g9 g1, Wi dec 5t oiR S #, dnge, R oy
iRz Y o 331 A 519 €171 R & FrHeT it urd SreT SreiT SR §RT B Hiex 61 WS 5 o &,
8 T W1y SieHR $R T918 ATt ¢ 1 377 Wl fopar-svamdl & Tt gfrar & AorR & SR der g €1 3
T8 girar it srfeaawr wutfaa gt 81 o ot fpelt 3 Seurg a1 WAt & O # Wi qod § i Sdre
g~ & fafte wri & ghar 21 399 fay wR oY srderawra & e e &1 5= g 81

I AR fF el St &) B1E S Hamr 81 I9F o ugen ey g fF eram 321 # 91 S Hamn
ST WET S9! AT 3 St | SRTaT fdwed ghm 6 39 @y ot fadt U 3w ¥ #Rarar Wi, St suet
TRTd BH T | g8 91w & fb s of oot g e &t ganht uRa, waflRmn, 99 ok argam & o=
HIE BH BT U ST g 3MT 37 ¢l # Horg? ot T # e o1l €1 39 Sure 3t avrd &4 81 el @ @i
P! B dgaR GATHT gidT §1 SR 99 3T Hls HreR TG g, df SUb $© UIe AR a1 arga &
9 g0 €, TR WG A 991 21T § SfiR Wiready e o o 81 Sif Seurg oW 3u § 99T & wef 59
ST ST 81 T IR P Garsn: afe R R & SaIeaR el A fhdt Iwre o wile foan g e agt e
& TR @Y B B HHTIAT ), dF 3 T 301 faoa geM & ol $1E 7 $18 givrar gt gl faeh
T IR § T3 UTE S| B! SUR FIP (9! 9¢18 o Thdl &1 3 & IR § 3y 91 T A1) ST T AU
?ﬁwmwﬁwélﬁﬁﬁmmmﬁaﬁmﬁ%%ﬁﬁwmﬁwm
7 I

IUYa TR P UgHT A9 YD T IR BT I Fargu|
U YRA § 59 W YIS &1 y=a- 9¢ T 82

1. TS S VSH 3R PG

2, forsr oik Is@

3. TR 3R R

4, A 3R U

Correct Answer :-

. = ek gga

Topic:- General English(L2GE)

1) Read the poem carefully and answer the question given below:
Destination so far away

Miles and miles to walk

Oh! What fantastic troubles

With no one can he share or talk
Miles and miles walks each man

A traveller in his own way

A traveller in his own life
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He has to travel all day

However, occasionally a wise guide
Appears to this travelling man
While on his way he helps him find

The lord’s will and divine plan

The man’s journey is:

1. A solitary one

2, Not lonely at all

3. Comfortable and relaxed

4, A few miles long

Correct Answer :-

+ A solitary one

2) Read the poem carefully and answer the question given below:
Destination so far away

Miles and miles to walk

Oh! What fantastic troubles

With no one can he share or talk

Miles and miles walks each man
A traveller in his own way
A traveller in his own life

He has to travel all day

However, occasionally a wise guide
Appears to this travelling man
While on his way he helps him find

The lord’s will and divine plan
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All man's in his life.
1. a walker

2, a traveller

3. a tourist

4. an explorer

Correct Answer :-

« atraveller

3) Read the poem carefully and answer the question given below:
Destination so far away

Miles and miles to walk

Oh! What fantastic troubles

With no one can he share or talk

Miles and miles walks each man
A traveller in his own way
A traveller in his own life

He has to travel all day

However, occasionally a wise guide
Appears to this travelling man
While on his way he helps him find

The lord’s will and divine plan

"Oh! What fantastic troubles” — this line .

1. shows that there are great challenges that man has to face in his lifetime
2. describes how the man is enjoying his troubles

3. shows that the troubles were easy for the man

4, describes how challenging the troubles are

Correct Answer :-
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* describes how challenging the troubles are

4) Read the poem carefully and answer the question given below:
Destination so far away

Miles and miles to walk

Oh! What fantastic troubles

With no one can he share or talk

Miles and miles walks each man
A traveller in his own way
A traveller in his own life

He has to travel all day

However, occasionally a wise guide
Appears to this travelling man
While on his way he helps him find

The lord’s will and divine plan

What is the main theme of the poem?
1. Travelling to new places

2, Friends

3. The journey of life

4, Walking

Correct Answer :-

+ The journey of life

5) Read the passage carefully and answer the question given below:

Tamar first laid eyes on this beauty when he was 13. For some reason, he had never seen anything
as beautiful as this. It was dressed in red with a little glisten from the coating of olive oil it had all
over its body. It looked like wriggly snakes all piled up together, garmented with fresh, green basil
and cherry tomatoes. It had sprinkling of something that looked like uneven clouds broken and
sprayed on its surface. He didn't know what this was so he took a little bite into the white uneven
clouds bits and he thought it tasted a lot like salty solid milk. It was scrumptious! He then saw

Page- 38



chopped green, yellow and red capsicum chunks that were waxy on the outside but crunchy in
texture, distributed unevenly over this beauty. It felt altogether glorious. He had just met spaghetti
and fallen in love with it for life!

What did Tamar think was crunchy in texture?

1. Spaghetti

2. Olive oil

3. Cheese

4, Capsicum

Cﬁrréct Ansﬁvef -

+ Capsicum

6) Read the passage carefully and answer the question given below:

Tamar first laid eyes on this beauty when he was 13. For some reason, he had never seen anything
as beautiful as this. It was dressed in red with a little glisten from the coating of olive oil it had all
over its body. It looked like wriggly snakes all piled up together, garmented with fresh, green basil
and cherry tomatoes. It had sprinkling of something that looked like uneven clouds broken and
sprayed on its surface. He didn't know what this was so he took a little bite into the white uneven
clouds bits and he thought it tasted a lot like salty solid milk. It was scrumptious! He then saw
chopped green, yellow and red capsicum chunks that were waxy on the outside but crunchy in
texture, distributed unevenly over this beauty. It felt altogether glorious. He had just met spaghetti
and fallen in love with it for life!

What does this passage describe?
1. Beauty

2. Milk

3. Food

4, Clouds

Correct Answer :-

+ Food

7) Read the passage carefully and answer the question given below:

Tamar first laid eyes on this beauty when he was 13. For some reason, he had never seen anything
as beautiful as this. It was dressed in red with a little glisten from the coating of olive oil it had all
over its body. It looked like wriggly snakes all piled up together, garmented with fresh, green basil
and cherry tomatoes. It had sprinkling of something that looked like uneven clouds broken and
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sprayed on its surface. He didn’t know what this was so he took a little bite into the white uneven
clouds bits and he thought it tasted a lot like salty solid milk. It was scrumptious! He then saw
chopped green, yellow and red capsicum chunks that were waxy on the outside but crunchy in
texture, distributed unevenly over this beauty. It felt altogether glorious. He had just met spaghetti
and fallen in love with it for life!

What does the word scrumptious mean in this passage?
1. Tasty

2. Cloud-like

3. Healthy

4, Glorious

Correct Answer :-

8) Read the passage carefully and answer the question given below:

Tamar first laid eyes on this beauty when he was 13. For some reason, he had never seen anything
as beautiful as this. It was dressed in red with a little glisten from the coating of olive oil it had all
over its body. It looked like wriggly snakes all piled up together, garmented with fresh, green basil
and cherry tomatoes. It had sprinkling of something that looked like uneven clouds broken and
sprayed on its surface. He didn't know what this was so he took a little bite into the white uneven
clouds bits and he thought it tasted a lot like salty solid milk. It was scrumptious! He then saw
chopped green, yellow and red capsicum chunks that were waxy on the outside but crunchy in
texture, distributed unevenly over this beauty. It felt altogether glorious. He had just met spaghetti
and fallen in love with it for life!

In this passage, spaghetti is compared to:
1. Tomatoes

2. Basil

3. Worms

4. Snakes

Correct Answer :-

+ Snakes

9) Fill in the blank with the correct option in the given sentence:

His involve- in the programme helped in making it a grand success.
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1. -sively
2. d
3. -ment

4, -ion

Correct Answer :-

10) Fill in the blank with the correct option in the given sentence:
The scientist had to work very hardto _______ his invention.

1. refine

2. refinement

3. refinery

4. refined

Correct Answer :-
* refine
11) Fill in the blanks with the correct pronouns in the given sentence.

After school, and friend always meet up for studies.

1. he, his, theirs

2. me, my, your

3. I, my, our

4. you, my, their

Correct Answer :-

« I, my, our

12) Which of the following options best combines the following sentences?
He was a good player. He was selected.

1. Being a good player, he was being selected.

2. He was a good player, but he was selected.
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3. As he was a good player, he was selected.

4. He was selected and he was a good player.

Correct Answer :-

+ As he was a good player, he was selected.

13) Choose appropriate articles for the given sentence:

Many foreign leaders cameto __ capitalof ___ India to watch Republic Day parade.
1. a, the, no article required

2. the, no article required, the

3. no article required, the, the

4. a, no article required, a

Correct Answer :-
« the, no article required, the

14) Choose the appropriate option that rewrites the given sentence in its passive voice.

I was given a lift by my colleague when I was late to college yesterday.
1. My colleague dropped me at college when I was late to college yesterday.

2. My colleague was given a lift by me when I went to college yesterday

3. The lift was given by my colleague to me yesterday while going to college.

4. When I was late to college yesterday, my colleague gave me a lift.

Correct Answer :-
» When I was late to college yesterday, my colleague gave me a lift.

15) Choose the appropriate synonym for the highlighted word in the given sentence.

This lugubrious work of art was set up in white marble after his death in St. Paul's cathedral, where
it may still be seen.

1. humungous

2. joyful
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3. animated

4, doleful

Correct Answer :-
« doleful

16) Choose the appropriate tenses to fill in the blanks in the given sentence:

me. I to concentrate.

1. Den't distracting, was trying
2. Don't distract, am trying
3. Don’t distracted, tried

4, Distract not, try

Correct Answer :-
« Don’t distract, am trying

17) Choose the appropriate antonym for the highlighted word in the given sentence.
The presence of her children should alleviate her sorrow.

1. Allocate

2. Accelerate

3. Assuage

4. Aggravate

Correct Answer :-
+ Aggravate

18) Choose the appropriate conjunction for the given sentence.

A heavy storm was forecast the weather was clear.
1. but

2. because

3. unless

4, and
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Correct Answer :-

s but

19) Choose the appropriate prefix to fill in the blank in the given sentence.
A further fall in prices provided a great --incentive to investors.

1. ab--

2. ill--

3. im--

4, dis--

Correct Answer :-

o dis--

20) Choose the appropriate prepositions for the given sentence:

Several countries today are suffering food shortage, and unfortunately some people have
to do it.

1. in, besides
2. against, without
3. of, on

4, from, without

Correct Answer :-
« from, without

21) Choose the option that best explains the highlighted expression:

She took the line of least resistance because it was a lost cause.

1. a thread with no tension

2. the course of action which is the easiest to take even though it is not the right thing to do
3. to surrender the object and gain admission into

4. to support whole heartedly without any second thoughts

Correct Answer :-
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« the course of action which is the easiest to take even though it is not the right thing to do

22) Choose the option that best explains the highlighted expression:

He is a plain, simple and sincere man; he will always call a spade a spade.
1. help one and all

2. be outspoken

3. very diplomatic

4. very sensitive

Correct Answer :-

* be outspoken

23) Choose the option that best transforms the sentence into its Indirect form:
“Stand here and don't move,” He said to her.

1. He said her to stand there and not to move.

2. He told her to stand here and not to move.

3. He told her to stand there and not to move.

4. He told her to stand there and do not move.

Correct Answer :-

« He told her to stand there and not to move.

24) Choose the option that substitutes the given phrase appropriately.
A person who eats human flesh

1, Jain

2. Carnivore

3. Vegan

4, Cannibal

Correct Answer :-

« Cannibal

25) Read the sentence carefully and choose the option that has an error in it:
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The accountant stole thousands of dollar by juggling the company's books.
1. the company's books.

2. The accountant stole

3. by juggling

4, thousands of dollar

Correct Answer :-

« thousands of dollar

26) Change the given statement to indirect speech.

He said, "I have been working in a company for two years.”
1. He said that he have been working in a company for two years.
2. He said that he had been working in a company for two years.
3. He said that he has been working in a company for two years.
4. He said that he was working in @ company for two years.
Correct Answer :-

+ He said that he had been working in a company for two years.

27) Choose the right tag:

The kids dance very well, ?
1. do they

2. were they

3. aren't they

4, don't they

Correct Answer :-

« don't they

28) Fill in the blank with the most appropriate preposition in the given sentence.
We went for a run the rain.

1. in
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2. with
3. for

4, at

Correct Answer :-

29) Choose an appropriate modal for the given sentence:

Priya spoke very well. She __ have prepared in advance for her talk,
1. must
2. will
3. shall

4. can

Correct Answer :-

30) Choose the most appropriate determiner in the given sentence.
Would you like cup of tea?

1. any
2. another
3. the

4, some

Correct Answer :-

» another

Topic:- Mathematics (MAT)

1) Which one of the following statements is true about integer? /
Frafafes & @ o9-w oy Qe & ddu & g 82
1. On multiplying any integer with 0, we get 1. / 0 & 1y it +ft quifes &t 7qom 7 W, &7 1 e giam 8
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2. On multiplying any integer with its multiplicative identity, we get 1. / il m@ﬁ@ [SRiCY UMdHE ddHe
F I OT A W, 89 | I St gl

3. For every integer, 0 is the additive inverse. / Ui EI;UW ¥ farg, 0 Us grTies Ufadid §

4. On dividing any integer except 0 by its additive inverse, we get -1. / 0 €§'IS & [t mw?ﬁ\l@%
R Tl € fauiiid #3 |, 89 -1 I a3

Correct Answer :-
« On dividing any integer except 0 by its additive inverse, we get -1. /0 Bl BISHR (bl ﬂﬂqmﬁﬁm
T Tiaad & [T e ), 39 -1 U gl &

2) If an amount of Rs. 1368 is distributed amongst 24 persons, then what is the amount that each
person gets? /

Ifg 1368 TR B YRR 24 RN F = Falka ot 2, @ vd® e o) fpa-it iy fred 22
1. Rs. 122/122 30T

2. Rs. 53 /53 %W

3. Rs. 153 /153 30U

4, Rs. 57 /5730

Correct Answer :-

« Rs.57/579%UCQ

3) A figure on a graph sheet covers 12 fully filled squares and 7 half filled squares. Find the total
area, /

TH I 2T WR T HHST 12 T B T8 TR F AT § 3R 7 1 &I 3T HRAT 71 $oT &% Jid
i

: 9%sqmﬁtsf9§aﬂf$ﬂﬂé
5 13 = sq units / 13 > garg
3 15§squ11its!15§aﬂ?$fﬁr$

4, 19 squnits/ 19 CUEGIS

Correct Answer :-
15% sq units / 15;331' SIS
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4) A floor 4 m long and 3 m wide is covered with square tiles of colour blue, green and red. One-
fourth of the floor is covered with blue tiles of side 10 cm. Another one-fourth of floor is covered
with green tile of sides 15 cm. The remaining area is covered with red tile of sides 20 cm. Find the
number of blue and red tiles used. /

4 Htex oe1 3Y 3 Hew disT v B i, g iR 1 T & JuieR ergdl A el gaiT g1 B3l 1 U diu1s
YT 10 T Y Yot arat N gl A a1 g 21 BR BT T 37 TS YT 15 Aft Y Y ardd g T B
oTSEl A ST g 81 AW &= 20 [ Yo aTe o1 T & THT g3 & | SUUNT b T A iR wirer erg el
ST {1 B
1. Blue = 300, red = 150 /
T = 300, T = 150
2. Blue =300, red = 200/
ST = 300, TG = 200
3. Blue = 150, red = 300/
T = 150, TIE = 300
4, Blue = 150, red = 200/
=T = 150, &1 = 200
Correct Answer :-
« Blue =300, red =150/
<Iell = 300, 9T = 150

5) Ages of Rahul, Rohan & Ram are 10, 6 and 13 respectively. The sum of their ages will give
Rajeev’s age. Suma is 5 years older than Rajeev. What will be the age of Suma after 3 years? /

G, e 3% IH BT AT HHI: 10, 6 3R 13 §1 STP! 1Y BT TR Irsiid Bt 3G 1 JAT, TS A 5
a4 9} 81 3 Ul a1g YuT B Sy fpardt gnfiz

1. 34
2. 30
3. 29

4. 37

Correct Answer :-

e 37

6) Another name for Formalismis__ ./
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WeUare (BiHferen) d R e AT _ @)
1. Abstractionism / SFEETIET (U aforH)

2. Deductivism / f&SfacidsH

3, Logicism / TerHeABTUITATG (ATTfb )

4. Induction / SR

Correct Answer :-

+ Deductivism /%3%@

=x?+ax+b

7) 1f the zeros of the polynomial 2¥) are -2 and -3 then @ and ? are: /

qﬁmp{x) =x3+ax+b$rw_2 -3 %,?ﬁaqﬁb?:
1.5&-6/5Td -6

2.5&6/5Td6

3.-5&6/-5Td 6

4,-5&-6/-5Td-6

Correct Answer -

¢ 5&6/5Wd6

8) Which of the following explains the commutative property?/
Frafaf@a # @ S-u1 sufafig 1o sren s e?

1. 103 + (25 - 35) = (103 +25) - 35

2. (atb) = (b+a)

3.35-22=(22-35)

4. a(b+c) = ab+tac

Correct Answer -

* (a+h) = (b+a)

9) Which one of the following statements is correct about number? /
Fufafaa & @ F19-91 Y9 GBI & Ha # g4 8?2
1. Every number is a factor of one. / i IR&IT TP &1 UeH oidl gl
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2. 2 is the only odd prime number. / 2 TeHE WA 3rHsT F&IT 81
3. 2 is the smallest prime number. / ZWWG{WE’@T%I

4, One is a prime number. / 1 T& 34T @ €|

Correct Answer :-

+ 2isthe smallest prime number. / Zﬂﬁﬁ@ﬁamw%l

10) A frog falls into a well of 12 meter depth. It tries to jump out. Each times it jumps up it jumps as
high as 3 meter but slides down 2 meter because of slippery wall of the well. In how many jumps
will the frog reach out of the well? /

T Hew 12 HieX TR TH $om & FRdr 81 75 aiex Foa Bt SR & ¢ 1 Ui 9] ofd 98 $adT § at
g 3 Hie SR Ugd WIIT & A oM & fpea arell §laR & HROT 2 Hiex i fraa o 81 o8 | awR
o & fore dew &) frat aR T uem?

1. 12
2. 8
3.6

4, 10

Correct Answer :-

1) In ALMN 2M=70° and LM=NM. Then »N= /
ALMN &, ~M=70° Ud LM=NM &, T zN=

. 60°

50°
4, 10°

Correct Answer :-
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Which of the following is not the solution of the equation y=§x+5? I

ﬁﬁﬁﬁﬁﬁﬁﬁﬂ-ﬂﬂ?ﬁngﬁswwaﬁﬁ?
1. (4,19)
2. (-6,-16)
3, (-12,-37)
4, (-8,23)

Correct Answer :-

. (-823)

13) IfE-}-%: 0 and ax— by = a? — b?, thenx & v =7 /
gfe §+%=Oﬁéax—by=az— b2§, df xTd y =2

e a(e."-l-b::l _ bl:a:-]- b::l

1 al-ht at-h*
_ala*-b?)  b(b*-a?)
T atib® YT atapt
2.

3. x= a(a?+b?), y = b(a%-b?)

4. x=a, y=b

Correct Answer :-

14) Ifx+§= 2 then the value of x —iis:.-’
?:r%x+§=z’5‘, Fﬂ'x—i H AT B

1.2

2.0
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4. -1

Correct Answer :-

15)
Find the number of line segments required to make a honey comb structure with 20

compartments arranged linearly? /

(o ¥ F cgafud 20 &30 atell Tk HYHRI IG g & [T aeds

1. 100
2. 105
3. 101

4. 120

Correct Answer :-
« 101

16)  , ||g and /e thetransversal. ~1=61° then £2=7/

2 ||e T [T T Y@ 81 21=61° §.ar 2=

% 1 2
% -
/3
L 61e
5. 118
3, 60¢
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4 119¢°

Correct Answer :-

119¢

17)  In a parallelogram ABCD if 2CDB=45° and £ DAB=65°. then 2CBD =7/
T FHEIGR dgeiel ABCD#, afg 2cDB=45° 3R £DAB=65°%, @ £CBD =?

60°

4,
Correct Answer :-

70°

18) A number “a” divides 1320 and 781 exactly. Given a=1, then the number ‘a’ is not a factor of
i

Teh TEAT ‘2’ 1320 3R 781 &1 qoich: fasnfara et &1 o21 f&m amar 8, ar |ear 2
__ T HEs F@R gl

1. 2101

2. Itself / T
3,539

4. 125

Correct Answer :-

19) TIn atiangle ABC if ZCAB=70°, and AB=AC then £B and 2C are /
T T ABCH, i £CAB=70° iR AB=AC#H, a B3R .C§:

Page- 54



800, 80°
53¢, 80°
359, 35°

4. 20¢, 80°

Correct Answer :-
3% hae

20) 2xi6_-2 o 2x+6 -2 _
Ifa_g - then x=/Tf¢ PR %‘, ar x=

1.2
2.1
3.3

4. 4

Correct Answer :-

21) Choose the number divisible by 9. /
9 ¥ favfiora 1 arelt wen &1 999 F3
1. 9987123
2. 3425816
3. 6789548

4. 4536279

Correct Answer :-
* 4536279

+ 65x + 4m

2 2
22) Eind the value of m, if one zero of the polynomial (m? +4)x is the reciprocal of the

other: /

afe agug (m* +4x* + 65 + 4m o1 v YRIF 3T FT YHH 8, 71 m BT HE T FY:
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1, V2

Correct Answer :-

R 2 —
23) Find the value of m if (x-1) is a factor of P} = ¥° +6x* —2x— 5m.

qﬁ.p(x} =x3 + 632 —2x— Smmw(x_l) 2, A m &1 54 3 $Y1
1.2
2.-1
3.2

4. 1

Correct Answer :-

24) Find the whole numbers, / U0 &1 e B3|

16 x 8725 X 625
1. 87,389,600
2. 87,250,000
3. 83,760,000

4, 87,110,000

Correct Answer :-
« 87,250,000

25) James is inside an aeroplane flying at a height of 7000 meter above the sea which is below sea

level at a level. At a particular point, it is exactly above a submarine depth of 1/6 the height of
plane. What is the vertical distance between James and the submarine? /
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SR U BATSOETS & 3ie € Sl §4E a9 ¥ 7000 HieX P HArd W I e 21 0 vy fig R, we
TH Tgsdl & 31P FHUR & O FARue & 1/6 TS Ora-T I a9 & A4 81 ORI U9 Urgedt &
7 SR il fpadi 82

1. 8333.33 meter/8333.33 WX

2. 9166.66 meter / 9166.66 HieX

3. 9333.33 meter/9333.33 Hiex

. 8166.66 meter / 8166.66 HicY

N

Correct Answer :-

«  8166.66 meter / $166.66 HIET

26) Anil is 6 years older than Akhil. Akhil is 36 months younger than Vijay. If Vijay's age is taken as
y, then age of Anil is: /

Jfer omg § e & 6 ad ae1 31 e g A fora A 36 wdlH oter 1 afe fasa ot sy y & wu d ot
ST &, @ Sffa ot oy &:

1. 6(y-36)
2. 6+(y-3)
3. 6+(y-36)
4. (y+6)

Correct Answer :-

27) If 76x — 189y = -37 & -189x + 76y = -302, then find the value of x and y. /
Tfe 76x — 189y = -37 UG -189x + 76y = -302 §, dl x UG y & HIH JId B3|
l.x=-2,y=-1

2.x=-2,y=1

3.x=2,y=1

4. x=2,y=-1

Correct Answer :-

28) '‘Mahabhaskariya’ an astronomical work completed in eighteenth century is written by: /
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HETHRSY’ S3REdl Tdled) § quf fpar mnes @iieig ed R grr e mar 1
1. Aryabhata - IT / THYE - |

2. Sridhara / H14R

3. Bhaskar Acharya / YR 3{TaR

4. Ramanujan / JHIFOT

Correct Answer :-

o Bhaskar Acharya / HRHX 3

29) ____arerelated to growing plants. /
god Yl & WEfa g

1. Natural numbers / U@ﬁﬁﬁ =AU

2. Real numbers / WWH@TE{

3. Fibonacci numbers / Ww

4, Rational numbers / TR TEHATY

Correct Answer :-

« Fibonacci numbers / Wﬁw

30) The length and breadth of a cuboid is 12 cm and 9 cm respectively. If the total surface area of
the cuboid is 678 cm? , then the height of the cuboid is: /

maﬁﬁaﬁaﬁﬁﬁaﬁm: 12 9} il 9 Fft B1 ol oy &1 pa gty dawa 678 W2 8, o wnv @t

1. 15cm/ 15 TH
2. 11 ¢m/ 11 9+t
3. 6cm/ 6 IH

4,21 c¢m /21 Tt

Correct Answer :-

o 1lem/ 119

31) The sequence of steps for mathematical modelling is:
1) Understand the problem.
2) Mathematical description and formulation.
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3) Solving mathematical problem.
4) Interpreting the problem and validating.

/ Tifvrdta wferegur (disfeim) & fore wvoi &1 3w B:
1) U/ THETd S FHSAT

2) iRt faraRor SR EwRon

3) MO WS/ HHRUTS BT HHTYT HIAT

4) Y /AU Bt SRS BT 3R AT HATI
153.2.7-4

2.1,4,3,2

3.2,1,3,4

4.1,2,34

Correct Answer :-

32) The main body of the lesson plan is based on the Herbartian principle of: /

TS T BT T-T UTT & g fygia W et g1

1. Presentation / mﬁf
2. Conclusion / B

3. Introduction / gReg
4. Association & Generalization / T 3R AR

Correct Answer :-

« Association & Generalization / T SR T

33) simplify:- 0¥ (50y% —98) + 26y*(5y +7)
v IHE0 - 98) + 261255+ 7

L. 2y(5y-7)

2. 3y(5y+7)

3 By =7

4 20y +7)

Correct Answer :-
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34) Two triangles ABC and DEF are similar and the ratio of their areas is 25:9, then the ratio of their
corresponding sides is, i

Eﬁﬁ‘lﬁrgBCQﬁDEF TUEY § aYT §9% AT BT SUTd 25:9 B, df 37@! T Yorrait &7 rgurd
I

1. 4:5
2. 53
3. 3:5

4. 54

Correct Answer :-

35) If mean and mode of a data are 11 and 8 respectively, then median=___ ./
Ife UF BT & AT 3R Iga® HHS: 11 AUT8 &, A WiddT=_ I

1. 10

2,11

3.8

4,12

Correct Answer :-

« 10

36) In a parallelogram ABCD, DC = 16 cm. If the altitude corresponding to the sides AB and
AD are respectively 8 cm and 10 cm, then AD=___./

TF AR 9g4s ABCD #, DC = 16 94 81 fe TWTd YSITT AB TUT AD &1 SHdTS HHRT: 8 WA a4T
10T, TAD=___ |

1. 16 cm/ 16 I
2.12.5 cm/12.5 99
3. 12 cm/ 12 94t

4.12.8 cm/12.8 94
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Correct Answer :-

o 12.8 cm/12.8 &t

37) The mean of 25 observations is 36. If the mean of the first 13 observations is 32 and that of
the last 13 observations is 39, the 13th observation is : /

25 DEJUT T HTS 36 B 1 TS Ued 13 W&I0Tl T AILd 32 U 3ifaw 13 Ueon &1 A1 39 §, ot 1397 W&vr &:
1.22
2.25
3.26

4. 23

Correct Answer :-

« 23

38) What is the ratio in which the join of A(-4,3) and B(2,-6) divided by the y-axis? /

I8 SFUT T 8, R g A(-4,3) T B(2,-6) Y Rre arelt YT y-31af g1 R e 22
1. 14

2, 2:1

%12

4, 4:1

Correct Answer :-

39) Construction of altars for the sacrifice, applying geometrical facts to perform duties by fixing east-
west was assigned to the Vi

Fftrer & fore afeaY &1 fmfor v, od- afdm &t fRR w7 3T el 3 oA & forg snfda
T Y AR A T DY, Y T TR AT

1. Sulbhakars / JedlhX
2. Aryabhatta / GHTh-IE'

3. Bhaskara / HIXPY
4. Brahmagupta / STgl{ &
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Correct Answer :-

« Sulbhakars / GeaThR

40) Three cubes each of edge 4 cm are joined end to end horizontally, then the lateral surface area of the
resulting cuboid is: /

4 ¥ FFRY ard T v 1 eiforw g Afte o A 92 gu ?, O uRumdt weny &1 uref gty derea @:
1. 120 cm?/ 120 2

2. 150 cm?/ 150 I#2

3. 128 cm?/ 128 Ifi2

4. 95 cm?/ 95 T2

Correct Answer :-

. 128 cm?/ 128 JH12

41) Which of the following is an example of a cubic polynomial? /
FrafaRaa § § $1=-91 9 9gUG BT U IeeI0 87

L X503

2. X24x

3. 34X

4. xHx3

Correct Answer :-

o X34x

42) describes steps or a set of do’s and don’ts to a method or strategy. /

o fAf¥r g1 oA & == a1 Al & HIA Ud gl HIA BT quiH BT gl
1. chhnique/?‘lﬁ_"ﬂag

2. Tactics / Hﬁf
3. Method / fafer

4. Approach / SUNTH
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Correct Answer :-

» Technique / RERIED

43) The respective positions of three friends A, B and C are (3, 2), (6, 5) and (9, 8) respectively. What
does the three points joined together make? /

W IR A, B Ud C & Gl R HHE: (3, 2), (6, 5) 3 (9, 8) &1 A1 fag uep wry firaress Fm 9wl 82
1. An obtuse angled triangle / T &Iﬂﬁmﬁﬂﬁ

2. A line segment / T &1 TS

3. An equilateral triangle / T FHaTg Y

4. A right angled triangle / WWUT ﬁﬂjﬁr

Correct Answer :-

« Aline segment / T8 41 T8

44) One among the below does not belong to creative behaviours and that action verb is o
579 H A U@ YT e § Haw 81 tEdi ¢ iR dg fpurere fbar__ ®

1. reconstruct / Hqﬁ'quT

2. design / UIHT

3. compare / eIl

4. alter/‘TR’aT‘T:[

Correct Answer :-

« compare / &I

45) The radius of a circle whose circumference is equal to the sum of the circumference of the two
circles of diameters 36 cm and 20 cm is ./

TmgmdIte @ Rraet aiiiy 36 D aut 20 9 oy a1 < g B R S AT S RIER 21
1. 56
2. 24
3. 28

4. 14

Correct Answer :-
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46) The major aim of mathematics education is: /

1. Preparing for competitive exams / uﬁuﬁuﬂ&nﬁ%%@uﬁ XAl
2. Mathematisation of the child's thought process / = B[R Ufehar &1 TURSHT
3. Solving problems /uaﬁﬁgaarm

4. Improving computational skills / TITUTHTHD GANY ﬁﬂ‘éﬂ—\rm

Correct Answer :-

. Mathematisation of the child's thought process / 5= @1 [dIR UfehdT &1 OB T

47) ‘Micro teaching is a scaled down teaching encounter in class size and class time’
was stated by: /

HISH! FRASTUT, F&T P PR 3R P&l S THa | Rigror Fov $t gAar e, 39
_ S ERISEIA

1. Piaget/ﬁuﬁ
2. DW. Allen / 31.3&, Tl
3. Gagne/ﬁe[

4. Bruner / §[-IX
Correct Answer :-

. DW. Allen / 81 8¢, TelH

48) Which of the following is considered as the most suitable approach in mathematics curriculum
organization? /

Fafifaa 7 & fra i ureumy sraw # T Suged e v /1T ST @2
1. Psychological ;’IF'ﬁaEITﬁTﬁ
2. Topical / TTHRIE
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3. Unitary / UBTHD
4, Spiral / gt

Correct Answer :-

« Spiral / gita

49) Which of the following is related with Cognitive Domain? /
FPraffed o & S WS & @ Hefta g2

1. Valuing / ¥8@ &1

2, Applying / TR T

3. Receiving / UG UT BT

4, Responding;‘maﬂ

Correct Answer :-

* Applying / T AT

50) Which of the following aim of teaching mathematics help the individual to become self-
reliant and independent? /

Tforg wem & FRgfifed Sexal d O o 91 353a, fed & R ok wag s |
HeE BIal 82

1. Disciplinary / S{IRITHIHD
2. Utilitarian / SUARIT

3. Cultural / HW%EF
4. Social / TMHTIRIH

Correct Answer :-

« Disciplinary / SIRIIHIHDP

51) Item analysis is a quality assessment strategy to prepare i
e fawawor TIR I & 1T T urawr Yeaid o 2
1. Question bank / gy dp

2. Evaluation / Hedich
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3. Examination / e

4, Student performance / EIERCEE

Correct Answer :-

« Question bank / U¥ §&

52) CANCELLED

If the radius and height of a cylinder are in the ratio 5:7 and its volume is 550 cubic m, then its
radius is Wi

uﬁwéa;aﬁﬁww“mﬁmmsv%wwwsso o+ Hiex §, oY sqa ! B
|

1. 6 cm/ 6 9Hl
2. 7cm/79H
3. S5cm/5TH

4, 4.5 cm /4.5 It

Correct Answer :-

e S5cm/59H

53) CANCELLED

Three-dimensional topology is a branch in mathematics which is more related with

”

%ﬂqmm(ﬂu’lﬁﬁﬁ)ﬂfﬂmﬁww%ﬁ’r H aifere Hefta
|

1. Biotechnolog\//aaﬁl@ﬁaﬁ
2. Economics / SR

3. Chemistry / 910 a3

4. Physics / Hifaiep fagm
Correct Answer :-

. Physics / Wifas fasm
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54) CANCELLED

The equation of line passing through (2,3) and parallel to x-axis is o
39 Y1 &1 gHEr 2, 11 (2,3) T b ol 8 9T x-34&f & THHIR 2

1 r=2

55) CANCELLED

Ifthe sum and product of whose zeroes are 2 and —% . then the quadratic polynomial is i

afe AT 3R 3TS AT F AUIAHS 2 T —g AGIRACIECI S gl

1 5x2—10x -3
2. Sx%+10x +3
3, SxZ+10x —3
4. x%—10x +3

Correct Answer :-

5x%—10x —3

56) CANCELLED

The angle which is 24° less than its complement is: /
TE HIOT ST ITeT THQ R I 24° HH G

1L 57

o 47

3, 33°
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Ade
4 24

Correct Answer :-

57) CANCELLED

Z
Area of a quadrilateral ABCD is 35 CIM~" The length of the perpendiculars on its diagonal BD from A
and D are 3 cm and 4 cm respectively. Find the length BD. /

TG ABCD HT 7% 35 GHI2 81 A 3R D ¥ 59 fAwvl BD W da & aTs sHasn: 3 A i 4
I+l 81 BD &} wiars 31d B

1. 10 cm/ 10 TH
2. 15em/ 15 9Ht
3. 25 cm /25 9Ht

4, 12 cm/ 12 Tt

Correct Answer :-

e 10 cm/ 10 Tt

58) Express 486 as a product of powers of prime factors. /
486 B! AUTT UIDH| & °Td & UMD & U H oqad B |
%8

2 A 53

3.21x3°

4,55 %2

Corréct Ansﬁrer :-.

« 2L

59) Jeevan fills a wall in his room with the photos he took. The size of a photo is 21 cm by 18 cm. If
he uses 6 photos, then what is the area of the wall? /

9T 9 AU FWR P TP AR B WY gRT & T3 TR ¥ W f2an1 v aw R &1 R 21 It x
18 A B 1 92 98 6 TR &1 ST HaT B, A SIR BT &A% fba= 272

1. 2068 sq cm /2068 TR
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2. 2268 sq cm / 2268 AHT

3.378 sq cm /378 o 9HI

4. 2334 sq cm /2334 FAH

Correct Answer =

« 2268 sq cm /2268 AGH

60) 1¢x% — 3%+ 25 5 factor of - —P*> 9 then find the value of ® and 7 /
uf 2 —px g ey X — 32+ 23 AP 3k 9 o1 A yIE B
L P= 5,g=4

o 4,=3

3.;n=2,q=1

g 0= 8g=2

Correct Answer :-

. p:s,qzq-
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N PROFESSIONAL EXAMINATION BOARD
Plygeniten Middle School Teacher Eligibility Test — 2018
24th Feb 2019 09:30 AM

Topic:- Child Development & Pedagogy (CDP)

1) Claustrophobia is a fear of enclosed places. It is an example of : / ﬂ?ﬁ'ﬁlﬁ%&‘l e =T BT TP &7 %I FHDI D Jglgaor ?:
1. Global Developmental delay / e e A 38

2. Obsessive-Compulsive Disorder/ SFT-ameda ! fAFR

3. Anxiety disorder / T/ fd&1

4, Autism / 3Teeq

Correct Answer :-

« Anxiety disorder / 719 fdPR

2) In"heuristics,” the child is free to go for any kind of possible rules or ideas to reach the solution. This rule is called as:/ "E‘Fj‘lﬂﬁ?? ive woTeit” 'i'f, a=t
WY 9 UgeH & ol et ot vor & wnnfe Fam s frer # wemer @ v €, 59 o @t wm e e 2

1. rule of thumb/ SFIHATRE Faw (e 3t )
2. differentiated rule/ f7fT Fram

3. mimicking rule/ 3@ AR

4, cognitive rule/ TS Figg

Correct Answer :-

« rule of thumby SFHARE Fan (F=d i ¥

3) Which is not the step of scientific method? /
Frefef@a 3§ w-m dnfre voredt o v T 82
1. Experiment / Lot

2. Interview / TMETP N

3. Prediction / QaigAM

4. Observation / SddIEHT

Correct Answer :-

+ Interview / HI&TEP R

4) According Jean Piaget, children develop abstract logic and reasoning skill during __ ./
off e & o, & R @ A onfd ad ofk ad @ twra Refia g §)

1. Conerete operational stage / T HiohaTeT® SfawT

2. Formal operational stage / S0 ferareta siae

3. Preoperational stage / gd-sfurere s@an

4. Sensorimotor stage / Yad! I jHwliHe TR

Correct Answer :-

« Formal operational stage / o= Hfshareras eyl

5)
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A self - directed learning process is arguably the most powerful model for facilitating and inspiring individual, group and organizational learning and development. [t means
learners [

S W siftrmm wivkan, sfdme, At o Serars it o faera 91 gfaw 3g it aa wfdme visa 81 e waaa & f5
it |

1. take responsibility for learning and become goal oriented / STATH BT e T ¢ oiR e Sl 8l
2. compete with others / TER1 3 1Y Wieredef Har g

3. achieve the best scores / =31 URUITH VI &l 21

4. enjoy leaming / NI &1 3T A WIT

Correct Answer :-

« take responsibility for learning and become goal oriented / JiEMTH Y el a § SR dedi=pdl s=an 81

6) In which stage of psychosocial development does the child feel shame and doubt? / THIATF® faeTa ¥ i o # o= &1 3nf 2R TdE Teg@ T 82

1. Preschool ﬂ;ﬂ@
2. Adolescent / forSiRTa=T

3. School age / ¥pel 31
4, Early childhood / T{[‘@&H’rﬁ EIGREdN]

Correct Answer :-

+ Preschool / WRG@

7) Proper sex education should be rendered at _ stage. /3R o e B TR IR r R P S AR
1. Childhood / Sl Iel

2. Adolescence / o RIRTaRIT

3, Adulthood / GT93H

4. Early childhood / TRTYS dTeddTa

Correct Answer :-

« Adolescence /ﬁﬂ'ﬂ?ﬁ@ﬂ

8) The ‘Hypothesis of Critical period’ was proposed by . / eyl srafer @t alveensm & GRT Waiae @t g 4
1. Helen Keller / 80 eek
2, Noam Chomsky/ 1A Fi=D]

3. Bloomfield/ SABICEH
4. Eric Lenneberg/ Qﬁfﬁ INREUT

Correct Answer :-

+ Eric Lenneberg/ T &=af

9) Who is credited with the concept of Intelligence Quotient (IQ)? / Q@ﬁﬁi (IQ) P GYURON BT Qﬂﬁﬂﬁﬁmm %?
1. Theodore Simon / W@TW

2. Spearman /SR

3. Alfred Binet / 3/%hs fomy
4. William Stern / oo ©

Correct Answer :-

. William Stern / fafermy w=
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10) According to Piaget, intellectual growth occurs through adaptation to the world. This happens through: / m%@mﬂ, a‘r@wﬁmgﬁm%
HIHE & AT & §laT 2 | 98 v weaa & gar g2

1. Absorption and Accommodation / ST 3R FHOH (Qﬁﬁﬁ%ﬂﬁ’)

2. Acquisition and Autocorrelation / TGy ofR T BiRLEE|

3. Assimilation and Accommodation / STETHTERYT 3 THEH (THIHST)
4, Assimilation and Acclimatisation / TSI AR TEa

Correct Answer :-

« Assimilation and Accommodation / HTETHTEHRUI 3R THW (THIHST)

11) According to Albert Bandura, the process that is involved in acquisition, organization and use of information is called process. / 3reTe m%

SRR, € WisaT Sl a1 & e, W SR Sud # 2t g 8, 99 wishar FET T |
1. Cognitive / HFFTRHS

2. Affective / UHId!

3. Self regulation/ ¥ fgHT

4. Motivation/ JRUT

Correct Answer :-

« Self regulation/ % fam

12) What concept of conservation focuses on the amount of a substance that exists? / &7 ﬂ’!‘lﬂﬁ‘l o1 ﬁl@lﬂ ot "hﬁjﬁTW‘f AR Ha %‘.’
1. Weight [/ @

2. Area / SFAEA

3. Mass / GodHH

4. Length / ]

Correct Answer :-
« Mass /G0

13) What cognitive ability are children displaying when they attribute human-like qualities to objects? /a ﬁ?—?ﬂ‘m yuaTERI e e wE d E’\‘ﬂ@ﬁ'
B 7 Ui § et B 87

1. Egocentrism / 3[EHTd (3TTT-¢oH)
2. Conservation / GR&UT

3. Animism / Siqarg

4. Object permanence/ % A&

Correct Answer :-

« Animism/Sfigarg

14) Some children experience excessive anxiety at being away from home, even after a long period of time. What might they be suffering from? fﬁﬁé <E

WY 9% IR A R e F arg f, WA R R W @i fiar &1 squa oea €1 3 ra § difda s awa &2
1. School phobia / e WifeEr

2. Social anxiety / HrHIo® fefen

3. Conduct disorder / S{TERUT fAHR

4, Scparation anxicty / ST S feidl

Correct Answer :-

+ Separation anxiety / ${@TTd %1 fercll
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15) An example of self-report measures of personality is/ ftTa ¥ Se-RuE IuTal @1 T I S

1. MMPI / Trgadterg

2. Sentence Completion Test / dldd Eﬂlf gfiam
3. Rorschach Test / IrgTa tRlefuy

4. TAT / ETTS

Correct Answer :-

« MMPI / UHEHSE

16) Intense mood swing is a characteristic of / GiE] s i o &1 @eron %:
1. Learning disorder / HETH &l

2. Bi-polar disorder / Tgg[dl f[dR

3. Conduct disorder / STEUNTT fa

4. Anti-social personality / 3THTHTNI® Ffead

Correct Answer :-

« Bi-polar disorder / fag[dl [APR

17) Which of the following best describes Maturation of a learner? !ﬁ'ﬂﬁl@ﬁ' Hq Th ﬁT&mﬁ I U TSl ST HEd =51 avhm%'»

1. It is a continuous process of individual development/ Yg afaird faepre it Ueh Held m% |

2. It is related with cognitive capabilities/ T8 GHHAD &marail & Gafia g1
3. Specific environment is required/ fafe araraRr #9t enagEd Bt B
4. Tt takes place at specific age/ T8 fARRIF Mg & gIm 2

Correct Answer :-

= It is a continuous process of individual development/ U8 m ﬁ?ﬁmﬁ T Hed m%l

18) Which type of memory takes special account of context? / fd WHR i F}ﬁl s w1 gy v wed 22

1, Iconic memory / WiiHd Wi

2. Echoic memory / Widea Wi
3. Episodic memory / W& Sfd
4. Sensory memory ECE ﬂﬁ'

Correct Answer :-

« Episodic memory / WS Wiy

19) Students who disturb others in a classroom are likely to have type of learning style./ Sl BT B&T F m Bl WHE I § IAS T

TR Bt Hhaw 3 Seft g ot Bt gt 31
1. Kinesthetic/ Tfaiad] (Frgefe )
2, Tactile/ TR ez
3. Auditory/ %dU0

4, Visual / €20

Correct Answer :-

« Kinesthetic/ TIEda! (Te-1RICH)

20) Who carried out an experiment on memory invelving nonsense syllables? !Wﬂﬁﬂ e v foan, o asara wregiar wnfdre 47
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1. Ebbinghaus / Ufsiarg

2. Atkinson / Gefe

3. Posner / U

4, Calkins / BTeilEH

Correct Answer :-

+ Ebbinghaus/ Qﬁ’ﬁm

21) Who proposed the concept of zone of proximal development? 1 ey fae & &9 31 srgurn &1 wRarg fw T
1. Abraham Maslow / 3{gllgH ARG
2. Lev Vygotsky / &1d ST

3. Carl Rogers / BT¢ 018

4. Albert Bandura / 3fFae 5@?{

Correct Answer :-

22) The spinal cord develops earlier to the heart. This is because of the operation of the following tendency. {ﬁ%’ aﬂ ?*g& wad '\qﬁ ﬁﬁﬁlﬂ '&ﬂﬁ %I ﬂ?ﬁl’ﬂ'
yghr & e F PRU S

1. General to specific !Wﬁm?ﬁf

2. Cephalocaudal / RitFaeadsa

3. Proximodistal / WiadiHTE®a@

4, PantowhoIelW%Wﬂﬁﬂlf@Eﬁﬁ)

Correct Answer :-

« Proximodistal / UiadiHfeEa

23) The following is an example of a secondary reinforeer. / Fafulee s Hﬂéﬁ’lﬁl’ WW%I
1. Ice cream / Gﬂm

2. Dress / OIS

3. Money / 47

4, Juice /T

Correct Answer :-

+ Money [/ Y71

24) Maladjusted children are generally seen in / HHT: W@'ﬁlﬁﬂﬂ' ﬁa@ﬁﬁ %:
1. Broken family / f&%Y afar

2. Rural areas /ATHIOT e

3. None of these Sﬂﬁﬁﬂﬂ%"@

4. Poor family / Ti& uRaER &

Correct Answer :-

+ Broken family / f&R@R afar #

25) One learns to use one’s muscles and acquires a skill due to: /
T A, AR $7 Suhht S diad € o SU% FRUI TS B W 39l ¢

1. Maturation /
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i
2, Exercise /
SR
3. Learning /
siftmH

4, Parents’ force /

it TES] F1 9K

Correct Answer :-

+ Maturation /

ofyueEar

26) During the first half of the 20t Century, students, those identified as having special needs, received few or no special

services in the schools.20 / 91 TATE! & Ugd THTEI & SR, o, et vgar IRy sazadar WRaq arel &
U H ol 15 A, 3% Wal # $o a1 Bis Ay dan 75T et 4

1. Above average / Gﬁ'ﬂﬁ H 3P

2. Exceptional / STETYRTT

3. Mentally retarded mﬁﬁﬁ?wﬁm
4, Poorﬂma

Correct Answer :-

« Exceptional / STHTRNUT

27) CANCELLED

VARK model of student learning was proposed by: / B®TH aftrme Wﬂ'l%‘ﬁ@?lﬂ?%mmlﬁﬁm THT YT:
L. Kohlbergfﬁﬂ%ﬁ"f

2. Neil Flemlng/"ﬂﬁt@ﬁfm

3. Piaget / TORTSl

4. E. Erikson / &. gl

Correct Answer :-

« Neil Fleming / =@ TeifHT

28) CANCELLED

During the emergence of language, the ‘jargon” period is present during / WTGT & IFH & M, “Tregeie 9T S AEf g0 SR g
1. Nine months to one year / | ﬂﬁ‘-’{ Juw ay

2. Birth to three months / 571 ¥ o9 7gH

3. Three to six months /T & &: AEH

4. Six to nine months / : g

Correct Answer -

+ Six to nine months / &: ¥ AEH

29) Which of the following is the best way for parents to support and help children cope with failure? / ﬁ'ﬂﬁﬁﬁﬁﬁﬁ’ﬁw Hrar-foar FHEE
P 3rqpeadl @ Fraes § gadd 33 iR 36! Heg $ BT a9 331 aflet

1. Create a comforting environment for the child to engage in another activity to forget their failure / S&! 3Etheral &1 @ & U 7= ) el sr nfafal & arg 37
TG UF ARmeme ufaw #1 Ao &
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2. Listen, empathize, then focus on opportunities to learn, not abilities / T, TETIH[d TG, Ui Hie & Sfawil UR e dfed 1, 7 fob ararsit
I

3. Create an environment for our kids that shelters them from potential failure or disappointment / AU T &S fETQ 'Q'@f yfyawr o1 fAafor &Y Gt G%'
Yuifad srawaar ar R ¥ sgr|

4. Push kids beyond their capabilities / S 1 3! &A1 I W a1 41 Gl T
Correct Answer :-

« Listen, empathize, then focus on opportunities to learn, not abilities / AT, FETAH{A &1, R Tia= & SawRl W & Hicd B, A b amansit
I

30) Inquiry approach method develops the ability of learners for [ G805 e R | Brenfial &t Fra F R srmm e Rem e &
1. Using the experience of a teacher / U [RI&fE & SHT BT FWIN 1|

2. Assimilating more information in less time / ST AT T 3 SIHER BT MEHT S

3. Experimentation / WaITT
4. Maximizing verbal learning / Ff&® T &1 Team T4 9 Som

Correct Answer :-

+ Experimentation / WO

Topic:- General Hindi (L1GH)

1) mqﬁwmﬁq&gﬁmaﬁmﬁﬂmwﬁﬁﬁﬁaﬁwﬂmmmﬁmﬁﬂﬁl Ferewul ¥ Rl wrgmiaTe F1 Hiftrg | ArgwiaiR 1
FEHR AT § F1 T FU F WA S T AW YR X 34 FE I § 79 €1 WEH NI F Wiredor It # gwanre fbd o €1 eritfye w1 w1d
TeR T 37 IATETI 61 THd1 ¢ 1 BIS D1 PN oo & -t ¢ X 398 F ot o ot & o 7 3l o it €1 SreTar g St ¥ P afaw feedt s g |
T g1, Wte I [l ofik 3w #, wrge, frow og foree Tt o 31 # o) 61911 R & wmvm wolt o1 o o dSY g1 BIS Hie} B 9w il Wi 8, R T
WATY SIgHT PR 1S ot 21 37 woft fpar-wardt & vl gierar & Somme & ormer ey g &1 39 Gt gfirn &5t erdorawn wanfaa gt 81 oy oft fwdt o geurg
a1 & ik # vy goa § R sare g & Rfta ymil # diar 81 98 Ry ) 7 srdogamasit # wwer Prfkar s s g g

T WfTE 6 et Sl 1 H1E ST SIar 81 I R Tee faeey g £ oo 39 § € T8 SarTT Wi sigl el 9 Sifie Tt snve e g f
T oW B At O 31 F Fearar g, wel 39t ane w9 omift ow e @ fF E ot el g Reen 9 i wre, w@Re, 99 o ages # o= ae e
I TX IO & Y T 3= # worgy oft v # e I 1 59 SWTe ) WA S B Ot § ofR FR o 2o g v §) SR O o #I SRR
wited €, 91 9ud o I TR 91 argar ¥ 9 9 €, MEwR HRE # @ g @ ok wivedaR sifver | ot 81 sifr Swrg 3w 331 # e € wgl 34 &9 s
B 7 GTWR 9 e R T IR @ e At A e Sere o1 TG R € ofR 987 o/ 7 & TR @ud g1 1 SUTaHT 8, 5 Sl o g faeme gg
¥ ot B 7 Y e a=r v Rl 78 aeR # 3 aee) @) ouR B faw agTs o wadl 81 o & e # Ry 3 ga smardt o1 v dturg R e ok
e # Tgar 81 T & ot it et st et wredt 8 95 579 ) Hecauyl ARl @ TeRsie el oY Wbt

IUT TRIIRT B TSP - U T WA BT S} aagel
W AISHITE 1 geiTad el 82

1. AR

2. g

3.

4, 3qt

Correct Answer :-

« SR

2) nyfre wre & ot gl 3t srforaw g wg o # O g8 § oF Aftevur @ iaaiseR T §1 Sarevu & R argmiaive B e agwieite o
BEET RS F 1 39 FTN F VIRAR & TT % WA 3R 3G B8 3 F a7a 5| Agw AT & iredor T ghvar A g frd e ¥ optfar wT et
HIexX U 30 TET6TVT 61 Godl ¢ 1 WIS o1 oIy 2w & a1t § ik 9og F =it ¥ et & o o 3l o ot €1 srerar 59 St & fraw atew fod erg 2 |
TTa g1, Wte Gee fodt ofiv 32 ¥, wrge, Raw og foree Tovelt oma 3 & &t 11 @) & errve ol Oré e o 95T g1 BTS wie) B W vl wd €, R Tw
AIY SITEHT B G Wl 21 5 Wl Rpar-wardt & g gfar & domm & srmer te1 9@ &1 308 ol g &t erderawn wanfam gt @1 amu oft Rl ema gaue o
a1 ¥ oy ¥ Ay T § et e ghan & Rl uril F @ 31 5o Ry wv o srforaminsit § weer Pl e @ar 2

A T 6 flt dult @) B1E o Bear 81 SHd Rl ugen feey g b ored 3= # € o s o siel sue T eifte smeit1 srven e g
I O™ Bl et 0 31 F wearr Wi, wel gudt ant o0 st g ww @ e o off e get fawer o gt ure, waR, 99 ok qgae § o aw ey
FBiAg W IueH & 3R 37 2201 # Aoge N v # fire 9 €1 59 ITe ot @ ©F 8 Sl § 3K et &1 35T AT ST 8| R o Y $1E HRgeT
wiled €, 91 IS o U AARET g1 a1gaF 3§ g9 g1 €, Wawe Wd & &= gar € iR wivedar siifver A ot #1 Sifod Sare 3w 33 # w e € el g & W
21 T8 TSR P qEren: afe R MR F SreaT TEe! 3 el 3arg o Tt fRm # o 98T o 7 & ey @ g1 9 SurE g, ot S @Y oo faem ger
% forld 1 71 Y o gl v R el i aro o 1 et @t AU e e aerd o wedt €1 omer ¥ S Ry ot e anerd) w1 v dhd e e el
W 7 vEar §1 U St oft pret aifte Rt aree @ 9% o < eyl ATt S AeRET 76 o |
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IUYT T B TSP A I T §E BT I} qa1gel

W ARG (U1 It ST 1 w1 & g s et 8
1. TgT el AT ST 5H 61 8 98] | § el 8

2. ToigR! B et DRt &

3. FHIF NS

4, TUTE A FE FRA ¢

Correct Answer :-

3) anm mﬂq&gﬁmaﬁmmmmﬁﬁﬁﬁaﬁ%ﬁmmmﬁﬁl TR0l & Rl Wi B ST | WIS TR $T

AT # B 1 59 T I WA & TO I WIRG R 97T TS U1 # a4 ¢ | ANt & Siteasr T gitar § smm [ wra ¥ ety o e
HICY U 3= GETe01 B UHaT 81 WIS 31 oY oad # oot § ofe 9o F ot ooy st & fordy v =i e Wit € 1 g s g3 droet 8 Rraw aies ot o dwr A
TR E1, Wie dee fodt ofi 3 #, wige, Raw og free et orma 31 & @) €1 R & wrrver @l oié ren erem 951 g1 WS Aiew B W il o €, R T
WY SiEHT FR T8 Al &1 37 Tt Rrar-waral & gt gl # Jomm & sawr e €19 €1 3od ot g & arferasn wuifaa gt &1 oo oft el e gang o
Fa1 ¥ aiY & wg aed § Rraer Sargs givan & fafin uei & g &1 799 Ry wR ot srdorawnsit # v e o1 s g g

mﬁﬁq%ﬁnﬁmﬁaﬂaﬁ%mm%lmﬁﬁmﬁmmﬁ?m%ﬂﬁﬁmmmﬁqﬁmmaﬁm«rw| e fawred g i
IU S Bl et T 31 H wvarar o, el et AT oW st o wre & et off et gek fiwen of g ure, wafn, 99 ik agae ¥ o aw ey
I TR I B R 57 301 Horge oft e # Fre Wi €1 5 STeeT ) @ @ B Ot 8 Y PR @1 SR GATeT il § | Sl 9a oY wi $Raey

wiied ¥, 9 3ud o uré wafnm g1 agam ¥ o7 91 €, Waww wrd § & gan § o wiveduw sifver § o 31 dﬁnmaﬂ&mﬂm%mﬁﬁ'ﬂ%ﬂlm
B GT9IR ST TAR: Ufe T IR F TIeT TeEt A fedl gere @1 @iie forn @ ofk 98T o 9 & av1ay Wud 19 @t HuTaHT g, | FIE @ e faemw gem
% o 1S 7 H1E diorn g TS Rrel 7 e # 3 TTew! B AU S [9w agrs o 9l ¢l 9w 3 2 # Ay At g Snard) &1 uw gras e 9 6w
e TEar 81 3 F ot ft pret st fAet gt @ 9 1 < eyl SRl @ STeRsiere et @Y Wt

I TR B USHT - U T U B S} aarsel
WE: BIE IR ST S0 TIY U1 T §1 T W I 82
13 A B T

2. S{EI-3{EHT RIH

3.8

4. 77el

Correct Answer :-

o SCT-3ETT R

4) muﬁwmﬁqﬂgﬁmaﬁaﬂmwf&mmmﬁﬁgﬁ%aﬁ%ﬁwwmmﬂﬂ%ﬂ Ferewul ¥ Rl Argswiaive F1 S Agsa 51
TSR o & 1 T IO F WitedeR & 90 o URY 3R o TS 9%1 # 9 € | MemiEite ¥ wiveder T givar F s il v ¥ ettt mrwid
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+ Ot iR IEa

Topic:- General Sanskrit(L2GS)
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FIAARST | T SHaaed TGOl JHiaelldl HRENsa
FAIA-a8Tde | TAAITGGEAT YUTRIFAT fAfdesifd Aldeld, GERGIE
TICUTFAT T I HATHET SR HETeI]Y TR0 3reac| 34t
HAGICATE: TEiIST: TETA| AN TIAeTANAET TAATTHe A
3787l 3T QI oThIssTac| 3McaAmel, [d: g=nfor g3 ufyanfa,
ARAEAT-AYUTH- SNl UellodRadliol JEcehiiel Taeaidsdieasias]]|
262 IH ¥ WATGLNT; $TRACLUH 3Thledded:| Glg JIgT STaelTel:
HETodCd: | 3T HEIATTET RRTed: FEAIANT e7dc| fobhee]
HIET ¥ Siafa’ SIFAIAT § AT STerd 3TARUE WTecare |

STATEET ATl FaEURTAT Seeft 3

. 7T T
Correct Answer :-

.aﬂwmm

2 AgIIRaEy WREr &: ?
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Correct Answer :-

. oRed

22)
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RS Ui T YgHcR Jaad -

YA HAlATATelAg® oATH Ueh: hIRHAIIY: dlahiel: HAdddl T JE&IATd:
fafdear eereaeT qey: Al dFT 6 U STdTelelloRd Sied 37e7dc]|
STATERTT AT ST TaRURTAT enfier Tagersterdr T Afgem 3wl fAar
Stargeey I veh uffsdd Teh T FHled! difoidan| vd aed T
37t TEwaeATS, JMactelTsT SEHIST o IS HAITadle]| STaferamd Sar:
geoused Uftidlsstad| aF g facarerdr srat fRigmaerrd) a3 T sReex
Uedl WreArHl IR gfdfaded: | 30 = fafdcaagRerador araeblell sfedm
PRIARAT| TAET SGeT€d AJGAANOT HiTelleli SRS
SIAA-asTae | TG AU A aaeaesd, et
TICAAFAT T 3 AT ARAET HEIAY TRATOI: 3re7de] 34t
FEICATIY: TglasT: 3| FHEIARNST TR TAATLTAHA
3731ac| 316l HETel RgehlssTad| e, [Oq: g=31for g givara,
ARAEITAYTH- ST Tl &l Jedehliel Taeaidsfcieasias]
¢R6: dH ¥ TAGAT, RAGH 3Thledded: | alg dled SlaRare:
HeMedCd: 3eTad| 3T AQIAsTaEd RRTecl: TEININ0T 3e7ad| fohoe]
e @ shafd’ sgFaiicar § R $fag 3Fde ureddrs |

Correct Answer :=

23)
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4.

aRTSE gfScar 9o Y&HAcR Faad -

AT ATATATIAGS ATH Ueh: RIANIT: dleehlel: Jadd| T: T&IAT:
faferdear esreae™ qRy: Il aFF I[¢ T STaTelelled Sied 337dd]|
STATERET AT AHAAT TIRIAT efHbr Tagersterar I Afgerm Ml far
SATEIET AL Ueh UUsdd Ush T Hiedl foIdltolddlel| Td ded Uq

37T TRealeMSl, TTeleqyl 3GAINT = Jared 3fadlcale]| STHRIT STdg:

gTausey UfvarssTad| aF &3 facgarerdr srat fRrsmaersg| a7 T aReex
Uedl WCATH IR Ufdfaged: | 3 = fAfeaagRe®aor areehrell s{edm
FAANAT | TAET ST FIGAaNTor 3Telledl HRENSAE
SlcgeIde| Tacageedr sryorerecar fafdesieiaseaels, fHeidr,
TICAHFAT T 3T AT HARAET HEIeIY TR 3rsAae)l 34t
HETCANITE: TEiersy: 3Tl AT TIdoTINAed TUATLTTH A
3787dc| 318! HETol, oI@ehIssTdcl| McAST, TU: gAIfor =8 fvarfa,
ARATAT-AYUTH- AN TAfee e qEashie faeafasfd=geras|
?RE dH TY FAGHT HRAGAH hledded:| alg aigd Siaele:
HEMHecIo: 373ac| 3T ApTIsasd RR=c: §EIRIN0T 3787ac| o]
e & Shafd’ sgFaicar @ #RA Sfagrd 3eRUE ureddre |

SaretEd fuq: gica: Twr -

TereTes

Correct Answer :-
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dcUdy:

4, =2

Correct Answer :-

R R

® ot ufeear srenfaféser wemEd YGHAT AT -

STel g fedTdleT shaer: A e |

T & TAfdedlel 43ed I 4o T
Y Tl FATSEY dGeTd H Garel:|
aEATd U U ied T6 USEied™or: |

faczmrsysia ua dear ared

L
Hierelel

2.

, AL

CECGE
4.

Correct Answer :-

. ShHART:

26)
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URTEE UfScar Tead YEHcaN A -

3AEEoR: A Rud IR Grorr 3fd uffeH| g 3 HAfEereT
Fefl, SARE Tl TSI GfdT el fATSHART 3T ATl sAfAvEhE
WWWEﬁﬁTdedI 3y Afger wd: sfd) swgerser
fAfdAar: aen JgdRa oen uAfed| AfUTRTOIREE qUd e Qrdr:
GEIed| $HHAG IR HeHad  wudicd| fe@erae ufdd gaviaieed
3749 faegd| warf 31T Sgfer daAfeauior I 379 Aled| g T
ufdieel AMAOT: 37T O $FTaC: TARILaTET RTAT Felfoc |

ST AT ARAET VRS YU faedmehega 3 31|
HETIATATTAAT: AT el TWFRT e | 3r3can: afvsan: agr fager @
AT UTASST Sefecl | 3fedeh HEIGEST: 374G T AAAH reaido:,
TIHIRIEAT TGledler TR TR o fafgdded: | HoedurE «am:,
§TITaTe, G, STITCI[e: USHUART:, JACTTG:, JeriIgRT:, HARGRT:, 3ed T
J6d: AT 3T APCT G| AcaAlgAATedde Teeud:
fgrgidealderer:, depdidealdeare:, wrll-facards o AT Hd
faferserfar sl Hoeca|

qQUFORT &rE 3T ?
_ TSeI-TSHTA:
el
R
4 H -SRI

Correct Answer :-

JoI-9Ioaal:
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aRTeE gfScar T Y&Hc FIad -

QAT HAlTeoldg® ATH Tch: HIRANIT: dlachlel: Jadd| T JEIAT:
fafdear vereae™ qoy: M| dFF ¢ U9 STaTeelod Siwd 37e7dd]|
STATEET ATAT ANAAT TARIRAT eTTHSBT TASATFAT T Afgerm M| ar
STATeET TSI Ueh UTUsdH Ueh F Hicdl fIAlolddled| g ded Uq
3T TEwaletTs, MiactelTsi SGHTST o IUGd HAIldlel| ITailaiy Sfare:
ZTAUSE Y OTAIssTad| aF g faearerdy 3rat fsmaestd| a7 g IRwex
ged! yreardt (Rd gfafeigea:| 31 I fafReaagReT®qor areehlell 8
PRIART | T Sl TJGATHOT 39elleli HRESIT
SAIAl-asids] | Tadadeear syvrerear fafaersrsidatees, foetdr,
TICAHFAT T 3T HACHT HRAET HETY TRAOI: 3reAae] 3t
HEICARIIEE: TETAIST: 3| HETARNsT T T Raded FUATLTHA
378TacI| 318! HTel oehlseTac]| 3HTcAshaT, fAq: ganfor gsi uivaifa,
ARAHIAYUTH- SACIA Tdfea Qi qedeifa faeafade=asiasi|
¢R6: dH Y AAGAT: $TRAGLH IThleddded:| alg dl&d SARTe:
AETHedCl: 3| 3T AT RRTecl: FEIRINOT 3e7ad| foher]
HIAET & Shafa” SegeFalicdn & HRAY SfAg 3#ETS yreadie|

TARY el $TNT STaTeelTelel ATadlcl-

. e
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IR fScdl TR Yk Faad -

sRfeoRlT: #ed oo AR ARORY ST RG] IR STRH, Siferene
rell, SARE drl IR 9fdd del QUSAET 5T AR S
dRIORAT Uh Hed A ddd| RT AfgAT T M) eerser
fAfAdr: e q@AT e aRAfed| AfIROidTe cUd 3= e
GEded| ARG S9N AlRledd  wedfed | faedemeey ufad gaviAfeed
339 faead| a3 sgfd caAfeeuior o 317 dfed| gud T
ufdfest ATAOT: 37T HETT R faeIeaTET IRTETAT Fefod |

$T AATIN SRATT TS [ faeamehegd AT 3R]
HEIIATEAAAN: 3T Sral 9y fdead| 3r=car: afvsar: e fager @
T UTASST Sefecl | 3fodch HEGEWT: 31T T IAAAH Headed:,
EIHIAEAT g TN TR o fdigdded: | SH0GdUrRIsl A,
SIS G, SIEIE: ASHUAR:, HAAG:, JoGRT:, haRar:, 3 T
Jgd: T 37T AP G| AR gaaHTeld el TEATI:
feeqiaeaidedrery:, Hepdiaeaidere:, Hell-ldeadic o A== $d
fafdrserfel seSuredTTe Hecd |

AR fergfaeafdeaTerIed Femde: -

Correct Answer :-

| T

29)
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IRTSE fScdl TRy el Jaad -
AT A Rud IR GrRoEr sfd affgH| 3T AW AfFee
Fell, SARE Tl IR AT Fel fASTHARAT 5T AT AT
meeﬁ%waﬁmmnﬁmﬁ IR II CRECH

EY

fAfFfar: wer: qEAa oo aRATed| AfROTREe gud 3 e
CEded| SHAG AN AEHEd  Hediod| fdederaey ufdd gaviAieed
3049 faggd| swarfa 31T sgfer daafeauior o 319 Afed| g T
ufdfes ATROT: 37T HETCT $RTac: TaRIREATET SIRTETAT Ffoc |

3T AT ARAET TS e faedmehega 3T 31|
IEIATEATIAAT: AT Sl WFGRT fdead| 3car: qfusdr: e facet o
AT FfASST eftfec | 3feich HETGETT: 33T 3T ATl Hreaded:,
EIHIAEAT TEGToel TN TN o fafgdded: | SUdURE! Sae:,

HIAI I8, TG USHUART:, JHATG:, JeriIeRT:, HARGHT:, Hed T
dgd: AR 3T ANCT Hddd| HAcaAlgaAATedIde TEATUA:
feeglaeafdeare:, depaldaiagare:, rf-faeardis o A &d
faferserfer sRYURATTA HocaT|

‘ SEd: TR 3T NI 3Had ' 3T FeeducHied -
1. AT
3, 3T

e

4,

Correct Answer :-
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Topic:- Mathematics (MAT)

1) Which one of the following statements is true about integer? /

Prafufan & # F-w Fu= gofe & by § a2

1. On multiplying any integer with 0, we get 1. / 0 % w14 =it +ft quiss &) 1o FA W, 2 1 U ST R

2. On multiplying any integer with its multiplicative identity, we get 1./ &0t 3t EIPITE &1 S U TH b Wi 101 H3A U3, & | UG gia gl

3. For every integer, 0 is the additive inverse. i '-I\Ulfﬁﬁ oo, 0 us qnTeHs vladd %

4. On dividing any integer except 0 by its additive inverse, we get -1. /0 @1 Blgan firel 1 quifes &1 Iud dimeres vl @ il o we, 55 -1 wa g 21
Correct Answer :-

+ Ondividing any integer except 0 by its additive inverse, we get -1. / 0 B BIga frelt oft Waﬂm armares ufadm & Rufse s w, g8 -1 v ar g

2) If an amount of Rs. 1368 is distributed amongst 24 persons, then what is the amount that each person gets? [
Tfg 1368 TUU B} w1l 24 &if & St el ot ol &, 9 vde aafda ot fresht wifdr Rredt 22

1. Rs. 122/122%9¢

2. Rs. 53/53%4q¢

3. Rs. 153/153%0C

4, Rs. 57/57%4¢

Correct Answer :-

» Rs. 57/57%4C

3) Afigure on a graph sheet covers 12 fully filled squares and 7 half filled squares. Find the total area. /

TH M e W TF SAFST 12 T &1 T 796 § WRAT & 3T 7 IO B ST W1 2 1 T St ;e Y1
i 9; sq units / 9 2@t gad
1 . 1
) 13 Esqumts! 13;&31’ s
. 15-:~squnits / 15%3?? Lo
4. 19 squnits/ l93"f3$1§

Correct Answer :-

15§squm‘ts / 15%:17% T

4) A floor 4 m long and 3 m wide is covered with square tiles of colour blue, green and red. One-fourth of the floor is covered with blue tiles of side 10
cm. Another one-fourth of floor is covered with green tile of sides 15 cm. The remaining area is covered with red tile of sides 20 cm. Find the number of
blue and red tiles used. /

4mﬁmm3mﬁawm=ﬂﬂ,s¥eﬁ1m?w$aﬂwmﬁmﬂélmeﬁu@mm#ﬁaﬁwaﬁﬁﬂaﬁﬁmg@n%lwﬂm
wgﬁvﬁmmﬁaﬁwaﬁﬁhaﬁaﬁ%mgmﬁﬂw&am YT TS 1T <Igl | ST 3T & 1 SuaiT fy e e ofk e ergel &t W
Fickadl

1. Blue = 300, red = 150/

== = 300, T = 150
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2. Blue = 300, red = 200/
<l = 300, Tl = 200

3. Blue = 150, red =300/
el = 150, 91 = 300

4. Blue = 150, red = 200/
HIal = 150, 91T = 200

Correct Answer :-

« Blue =300, red =150/

el = 300, WIE = 150

5) Ages of Rahul, Rohan & Ram are 10, 6 and 13 respectively. The sum of their ages will give Rajeev’s age. Suma is 5 years older than Rajeev. What will
be the age of Suma after 3 years? /

g, A AR T P g FAL: 10, 6 AR 13 &1 ITHY 31g B Gk IhE F omrg B1 g, IetE A 5 o 7€t 1 3 g6l @@ g FY omg R dnfe

Correct Answer :-

« 37

6) Another name for Formalism is, oF
e (P SR e Am R
1. Abstractionism / S{HTEA0T (QEREERTTIoH)

2. Deductivism / TSSfaefawh

3. Logicism / AehHeie TM0IqdIq, (eilfoifde)

4. Induction / §8a2H

Correct Answer ;-

« Deductivism / f&sfaefasn

(xX)=x*4+ax+b b

7) If the zeros of the polynomial P are -2 and -3 then % and

R ague P =% +art b v .2 o3 3, AW D E:

1.5&-6/50d -6

are: /[

2.5&6/5Td6
3.5&6/-5Td6
4, -5&-6/-5Td -6
Correct Answer :-

« 5&6/5Td6

8) Which of the following explains the commutative property?/
Prafefe & & a-ar safafy 1o 3t rel $a 82

1. 103 + (25 - 35)= (103 + 25) - 35

2. {a+b) = (b+a)

3.35-22=(22-35)
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4. a(b+c) = ab+ac

Correct Answer :-

« (a+b)=(b+a)

9) Which one of the following statements is correct about number? /
Prafafes & ¥ Fi9-m F9= e & 69y § a9 82

1. Every number is a factor of one. / T&T® ¥ T 1 T &ial g1

2. 2 is the only odd prime number. / 2 T&HE fITH 314T=a GET 81

3. 2 is the smallest prime number. / 2 =4 Blel amma‘m%’]

4, One is a prime number. / 1 T 34T &1 §1

Correct Answer :-

+ 2 is the smallest prime number. / 2 T BT U TET B

10) A frog falls into a well of 12 meter depth. It tries to jump out. Each times it jumps up it jumps as high as 3 meter but slides down 2 meter because of

slippery wall of the well. In how many jumps will the frog reach out of the well? /

T How 12 Wew e uw e H fRar 81 95 aret Fows 9 iR v § | Wl 9 9 98 edl € ol 96 3 Hiex S0 U5 wrn € A gen & e gt

R & wror 2 wtex R frae o @1 T @ aex Fe ¥ fig dew 9 frait ar gear a3

112
2.8
3.6

4. 10

Correct Answer :-

- 10

11)  1n ALMN 2M=70° and LM=NM. Then 2N= /

ALMN#, £M=70° Td LM=NM % dar «N=
1,
50
50e
4, 70°
Correct Answer :-

550

12)  \Which of the following is not the sclution of the equation v= §x+5? /

frafafl@a # & Fla-ar THEROT y=1x+5 F g 761 87
1.(4,19)
2. (-6,-16)
3.(-12,37)
4. (-8,23)

Correct Answer :-
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. (-8.23)

13} If§+§= Oandax— by =a®— b?, thenx &y =7 /

?Iﬁ-:-+%=0t!ii'ax—-by=az— b* g, dr xudy =2

_ala®+b%)  bla®+b7)
p R e

_ a®-b%) = b(b*- &%)
2 e Y et

3. x=a(a’+b?), y = b(a?-b?)

4, Xx=a, y=b

Correct Answer :-
_ afa®-b%) _ b(b*- &%)
T S4B 7T aS+bE

e Ifx+:—r= 2 then the value of x —iis: !

e x+Z =28, a x - & HA &

1.2
2.0
3.-3
4, -1
Correct Answer :-

+ 0

15) Find the number of line segments required to make a honey comb structure with 20
compartments arranged linearly? /

@ w1 F caafewd 20 Fisel areh Ue FUYRRI GG g & AU mawas
Y@rgst fir qEar AT &2

1. 100
2. 105
3.101
4,120

Correct Answer :-

« 101

16)
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o ||q and / be the transversal. £1=61° then £2=?/

p g aem 1o RdE @ 81 21=61° §, @1 £2=7

61°

118

60°

1 119

Correct Answer :-

1190

17) ' In a parallelogram ABCD if 2CDB=15° and ~DAB=65°, then 2CBD =? /
Ue AR agasl ABCD #, Ife £CDB=45°31R £DAB=65°%. d@F £CBD =7

60°

2, 45°

652

4 70°

Correct Answer :-
70°

18) A number ‘a’ divides 1320 and 781 exactly. Given a=1, then the number ‘2’ is not a factor of

N

T TEAr ‘2’ 1320 3R 781 T e Renfora aedr 1 o1 f@r mar § ar der @
T UTw A6 Bl

1. 2101

2. Itself / W4

3.539

4,125

Correct Answer :-

. 125

19) mma triangle ABC if ZCAB=70°, and AB=ACthen £B and £C are /
s fasr ABCH, afd 2CAB=70° 31X AB=ACRE, & B3R «C%:

80°, 80°
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4, 20°.80°

Correct Answer :-

539, 55¢°

20) Ixt6_-2 L 2x+6_-2 -
H_=_3—ax = then x=/TfE — g arx

1.2
mi |
3.3

4.4

Correct Answer :-

. 2

21) Choose the number divisible by 9. /
9§ R €9 areit wem &1 997 91
1. 9987123
2. 3425816
3. 6789548

4, 4536279

Correct Answer :-

« 4536279

22) Find the value of m, if one zero of the polynomial (m? +4)x™ +65x +4m g e reciprocal of the other:

afy agug (m* +Dx® +65x + 4m g1 uop I o1 BT HTHH B, T m BT HE T T

Correct Answer :-

- 2

23) Find the value of m if (x-1) is a factor of p(x) = x* +6x? —=2x— 5m. /
Ry PO) = 2% + 61" = 2x = Sty (1) B, Y m BT AA TSN

1.2

2,-1

3.2

4.1

Correct Answer :-

24) Find the whole numbers. / T0T &1 19 T¥ |
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16 x 8725 x 625
1. 87,389,600
2. 87,250,000
3. 83,760,000
4. 87,110,000

Correct Answer :-

+ 87,250,000

25) James is inside an aeroplane flying at a height of 7000 meter above the sea which is below sea level at a level. At a particular point, it is exactly

above a submarine depth of 1/6'™ the height of plane, What is the vertical distance between James and the submarine? /

ST T gaTSoeTS & 9iER § il Wi 99 § 7000 ey F $uE R 93 w1 §1 v fadiv fig W, 1 ve vhgeh ¥ Sl o & i vardee™ ¥ 1/6 SO

Foramn v wer & < §1 S v weg sl & v Seatur gl el @2
1. 8333.33 meter/8333.33 Hiex
2. 9166.66 meter / 9166.66 HleT
3. 9333.33 meter/9333.33 HicX
4. 8166.66 meter / 8166.66 Hiex

Correct Answer :-

+  8166.66 meter / 8166.66 HieT

26) Anil is 6 years older than Akhil. Akhil is 36 months younger than Vijay. If Vijay's age is taken as y, then age of Anil is: /
siferar oy F aifrer & 6 of et 1 arfrer sy W firora & 36 Wl oer ¥1 e fvw ot g y & w0 F ot ot 8, @ o ot amg @
L. 6(y-36)

2. 6+(y-3)

3. 6+(y-36)

4. (y+6)

Correct Answer :-

* 6+(y-3)

27) If 76x — 189y = -37 & -189x + 76y = -302, then find the value of x and y. /
afe 76x — 189y = -37 Td -189x + 76y = -302 , 4l x T4 y & WA 7 Fel
1.x= -2, y=-1

2.x=-2,y=1

3x=2,y=1

4.x=2,y=-1

Correct Answer :-

e Xx=2,y=1

28) ‘Mahabhaskariya’ an astronomical work completed in eighteenth century is written by: /
HETHRSIT 3eRed! T A P rs wia s e vl gRr R man g
1, Aryabhata - 1T / SRIVE - 11

2. Sridhara / #lER

3. Bhaskar Acharya / HIHY 3{TaTed

4, Ramanujan / XHTTeTT

Correct Answer :-
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+ Bhaskar Acharya / HI¥hY e

29) are related to growing plants. /
_ Ggausidweftm

1. Matural numbers /ﬂ@ﬁlﬁ?ﬂ'@ﬂq

2. Real numbers /Wﬁﬁ?’@m

3. Fibonacci numbers / ﬁﬁaﬁﬁ 'H'@ITU.

4. Raticnal numbers / 9RHT TBIT

Correct Answer :-

« Fibonacei numbers / fpaid! S0

30) The length and breadth of a cuboid is 12 cm and 9 em respectively. If the total surface area of the cuboid is 678 cm?2, then the height of the cuboid
ist f

TP U @) darg iR dters maw: 12 99 ol o Al §1 i vy @1 ga gty S 678 A2 8, | w1 s g
1. 15em/ 15 &t

2. 1l em/ 11 3

3. 6em/ 6ot

4.21cm /21 &8t

Correct Answer :-
« 1lem/ 118

31) The sequence of steps for mathematical modelling is:
1) Understand the problem.

2) Mathematical description and formulation.

3) Solving mathematical problem.

4) Interpreting the problem and validating.

| ot e (rtsfeT) % forg =i @1 e 2:
1) WY/ T B THET

2) it ferewor 3R SR

3) TR W/ WIS BT AN ST

4) W4 /AT B ST BT S A AT
1.3,2,1,4

359,48,

3.2,1,3,4

4.1,2,34

Correct Answer :=

. 1,2,34

32) The main body of the lesson plan is based on the Herbartian principle of: [
UGS TSI BT U ___ & gae Rigid W e g1

1. Presentation fﬂﬁm

2. Conclusion / Fepd

3. Introduction ;trf&m

4. Association & Generalization / T ik IR

Correct Answer :-

s Association & Generalization / ey 3R gl
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33) gimplify;- 39¥°(50y% —98) +26y2(5y +7)
. 397°(50y% —98) + 267 (5y +7)

L. 2y(5y-7)

2. 3y(5y+7)

3, Gy -7

4 2yGy+7)

Correct Answer :-

L G -7

34) Two triangles ABC and DEF are similar and the ratio of their areas is 25:9, then the ratio of their corresponding sides is .
31 YW ABC Td DEF WHEY § 341 9% Q9% $1 U 25:9 8, A g @ yenai dromua 71
1. 4:5

2 53

30355

4. 5:4

Correct Answer :-

= 53

35) If mean and mode of a data are 11 and 8 respectively, then median=____ ./
TS TP w1 & WA 3N 9gaS FAY: 11 U8 §, A A= gl
1. 10

2511

3.8

4.12

Correct Answer :-

« 10

36) In a parallelogram ABCD, DC = 16 cm. If the altitude corresponding to the sides AB and AD are respectively 8 cm and 10 em, then AD=__ ./
TH HAHI 9gys ABCD &, DC = 16 9t §1 afe wa Yo AB a1 AD @ Saré svar: s Ft aur 10 9 g, v AD=__ |

1. 16 em/ 16 991

2.12.5 cm/ 12.5 T8

3. 12 em/ 12 8901

4.12.8 cm/12.8 910

Correct Answer :-

« 12.8cm/12.8 G

37) The mean of 25 observations is 36. If the mean of the first 13 observations is 32 and that of the last 13 observations is 39, the 13" observation
is:/

25 F&IUT BT AT 36 1 TS UBd 13 WU &7 Hred 32 U9 Siform 13 Fari o are 39 §, < 1391 e e:
129

2.25
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3.26

4.23

Correct Answer :-

« 23

38) What is the ratio in which the join of A(-4,3) and B(2,-6) divided by the y-axis? /

TF arguTa =T &, ) Faig A(4,3) T B(2,-6) B e arelt Y y-are gry faanfere gt @2
1,14

T2

312

4. 4:1

Correct Answer :-

« 2

39) Construction of altars for the sacrifice, applying geometrical facts to perform duties by fixing east-west was assigned to the

-

qftrg & fore afEt =1 o o, gd- ufim &t fRR 739 gu sdal Ft e & R sufid auf t ar s srerd, I T T AT

1. Sulbhakars / JedlhT
2, Aryabhatta / 3THYE

3. Bhaskara / HT%hY
4, Brahmagupta / sigH]&d

Correct Answer ;-

« Sulbhakars / JedlHY

40) Three cubes each of edge 4 cm are joined end to end horizontally, then the lateral surface area of the resulting cuboid is: /

4 Tvft FopATRY arey i B 1 aifem faig &fow =0 9 912 gu &, ot ufvomdt e &1 widf i deee :
1. 120 em? / 120 32

2. 150 em? / 150 T2

3. 128 cm?/ 128 12

4. 95 cm?/ 95 i

Correct Answer :-

« 128 cm?/ 128 9412

41) Which of the following is an example of a cubic polynomial? /
FraferfRm & & @ 1=-91 97 957 7 TP Sargwvr 82

1843

2. x2+x

3. 834+x

4. 53

Correct Answer :-

o 3x

Page- 52



42) describes steps or a set of do’s and don’ts to a method or strategy. /

T faftr ar ot & TRl ar 9 & 7 v T oA ST avi SRar 2
1. Technique / G-I

2. Tactics / ol

3. Method / T

4. Approach / SUTTH

Correct Answer :-

» Technique fﬂw

43) The respective positions of three friends A, B and C are (3, 2), (6, 5) and (9, 8) respectively. What does the three points joined together make? /

A el A, B Td C & el ®IF S (3, 2), (6, 5) S0 (9, 8) §1 i firvg v w4 ey wan aHrdt 87
1. An obtuse angled triangle / Ta af¥eo ﬁ"jﬁl

2. A line segment / T 3@l €8

3. An equilateral triangle / T HaTg By

4. A right angled triangle / T@ So& T By

Correct Answer :-

- Aline segment / U @I €S

44) One among the below does not belong to creative behaviours and that action verb is N
e §f 9 U TeaTeTe dER S e el vEar e eiR e fhuree v #1

1. reconstruet / ﬁ:ﬁ'ﬂ?ﬂl

2. design / TUEHA

3. compare / geil

4, alter / LIRCrE]

Correct Answer :-

« compare / gl

45) The radius of a circle whose circumference is equal to the sum of the circumference of the two circles of diameters 36 cm and 20 cm is

s g9 3 Bwn 2, ot affr 36 Fuft w20 Avft oy vt <) gt &t aify F A F e

Correct Answer :-

« 28

46) The major aim of mathematics education is: /

T e o1 THE SERa B

1. Preparing for competitive exams fuf?lﬁ’l‘ﬂqﬁ&ﬂ&ﬁ & ]%WWW

2. Mathematisation of the child's thought process / CECINEE E R AR RICRU
3. Solving problems {H%ﬁﬁw

4. Improving computational skills / FTUFTH® S A GUR HIAT
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Correct Answer :-

« Mathematisation of the child's thought process ;a?:rﬁ &1 foar ufsear &1 TS

47) ‘Micro teaching is a scaled down teaching encounter in class size and class time’ was stated by: /

TS RIGTT, F&IT I TPTR AR B4 S TG R0 9 P A0, T0 S FRIPeT 11
1 Piaget{ﬁ'ﬂ'lﬁf

2. DW. Allen / 1.8, TaH

3. Gagne / ‘zﬂ

4. Bruner / §[1}

Correct Answer :-

« DW. Allen / 1.8, TaiH

48) Which of the following is considered as the most suitable approach in mathematics curriculum organization? /

FPraffEa # 2 f5a 1itm wrersw sraw § e SugeE T v AT S 82
1. Psychological / TS

2. Topical / A

3. Unitary / TTHS

4. spiral / i@

Correct Answer :-

« Spiral #'\qﬁﬁ

49) Which of the following is related with Cognitive Domain? /

FrafufEa & & o damee a7 @ wafta
1. Valuing / H&@ &1

2. Applying / T ST

3. Receiving / T80T ¥l

4. Responding rufafaaresr

Correct Answer :-

+ Applying / T 3l

50) Which of the following aim of teaching mathematics help the individual to become self-reliant and independent? /
T wgr & Frafafad SEwdt & & 19 w1 Sy, AfR S st ok Yad 997 # Heg Hvd1 82

1. Disciplinary / S{RITATHE

2. Utilitarian / IUERT

3. Cultural / ST
4, Social / FTHIoIH

Correct Answer :-

« Disciplinary / S{IUNH-THSD

51) Item analysis is a quality assessment strategy to prepare, -

e fasduor : ¥R F3 ¥ e ve Tquran geaie ORI #
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1. Question bank / UY EEd

2. Evaluation / Hedidq

3. Examination / T&f

4, Student performance / B3 Q—Q"Qh

Correct Answer :-

+ Question bank / Yy o

52) CANCELLED

If the radius and height of a cylinder are in the ratio 5:7 and its volume is 550 cubic m, then its radius is i

i us Au B Bwur qaur S $1 U 5:7 ¥ 9U1 §HHT A9a 550 iR g, g e #
1 6em/6 R
2. Tem/ 734
3. Sem/s 3l

4. 45cm /4.5 99

Correct Answer :-

« Sem/s9H

53) CANCELLED

Three-dimensional topology is a branch in mathematics which is more related with ____./
T it gifRufa @ diarsh), M A te@e st & ifte gafia 81

1. Biotechnology /@aﬁa‘rﬁ‘lﬂﬁ

2. Economics / 3R

3. Chemistry / THTHA ﬁ?ﬂq

4. Physics / Wﬁm

Correct Answer :-

« Physics / %mﬂ

54) CANCELLED
The equation of line passing through (2,3) and parallel to x-axis is N

FHYEIOIEADLT B, W (2,3) | B0 [oIeell & T x-S F TR 81

1_x=2

2, ¥="2
3}#:3
g Fe=

Correct Answer :-

. ¥y=3

55) CANCELLED

At e 3R 3TF e @ IoEna 2vd -2 § A gfawa g |

If'the sum and product of whose zeroes are 2 and —% , then the quadratic polynomial is i
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1, 5x?—-10x -3
2, 5x%+10x +3
3, 5x%+10x -3
4 ¥*—10x +3

Correct Answer :-

. 5x2—10x—3

56) CANCELLED

The angle which is 24° less than its complement is: /
a6 HIUT ST U FARE T 24° FA

L 57°

3. 47

3, 33°

4 e

Correct Answer :-

aag

57) CANCELLED

z
Area of a quadrilateral ABCD is 35 “™", The length of the perpendiculars on its diagonal BD from A and D are 3 cm and 4 cm respectively. Find the length
BD. /[

agys ABCD T §%a 35 Afi2 21 A 3l¥ D | 35U fawof BD W o9 At warg wuw: 3 vt 3k 4 Jf1 81 BD F warE F@ B
1. 10cm / 10 350

2. 15em/ 1595

3.25cm /25 92

4,12cem/ 12950

Correct Answer :-

« 10cm/10SH

58) Express 486 as a product of powers of prime factors, [
486 B AU VBT & U F UHEET & ¥ § o 1
137

2.12% 5

3.28 %3

4,53 %2

Correct Answer :-

o« 21x3°

59) Jeevan fills a wall in his room with the photos he took. The size of a photo is 21 cm by 18 cm. If he uses 6 photos, then what is the area of the wall?
/
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SieT 7 U FHY P U SR B U wR o T i § W7 3411 ve o o1 o 21 I x 18 99t 81 9t 98 6 axdR) @1 Sugi Fear €, o daw

FI S fa 82

1. 2068 sq cm / 2068 FIIH
2.2268 sq cm /2268 IGH
3.378 sq cm /378 1 Gt
4, 2334 sq em /2334 FETH

Correct Answer :-

« 2268 sq cm /2268 TG

TR
60) y¢x®—3x+ 25 factorof ¥~ P* T4 ,then find the value of ¥ and 7" /

= 1t —pr’ g gy ¥ — 3%+ 2% @ P ok YW T BY

g Ps=d
2 P=49=3
3.p=2,q=1
g PmSame

Correct Answer :-

% p=5,g=4
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PROFESSIONAL EXAMINATION
p" Professional . BOARD
@bgné%rpcjnotlon Middle School Teacher
Eligibility Test — 2018
24th Feb 2019 09:30 AM

Topic:- Child Development & Pedagogy (CDP)

1) Claustrophobia is a fear of enclosed places. It is an example of : / mm R Canca
BT 1 TS T IT60I &

1. Global Developmental delay / %% ICEaE] %:QQI

2. Obsessive-Compulsive Disorder/ JT-aTHPBRI fdbR
3. Anxiety disorder / G1d fA®R

4. Autism / 3fifeeH

Correct Answer :-
« Anxiety disorder / T1d fd®R

2) In “heuristics,” the child is free to go for any kind of possible rules or ideas to reach the solution.

This rule is called as:/ “WHYIAF My Jomel” §, =8 IUIYHE 6 g9 & o fousdt ot woR & wounfaq
oy sryar faemR &) Weraar @ 94 €, 39 oW & @1 $er S 82

1. rule of thumb/ SIHARIE FUH (=9 3% YTa)
2. differentiated rule/ fqNfed Fm

3. mimicking rule/ {JHU fAog

4, cognitive rule/ TTATHD g

Correct Answer :-

« rule of thumb/ SIHARTE FHIH (T 3{1th Yw)

3) Which is not the step of scientific method? /

e o A S19-91 agf=e YomTelt &1 @R A8l 82
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1. Experiment / TART
2. Interview / &P R

3. Prediction / Ga@iqHM™
4. Observation / 3{d@le

Correct Answer :-

« Interview / HI&TH IR

4) According Jean Piaget, children develop abstract logic and reasoning skill during ./
S e & OER, & R =l § 3d a& SR a9 SIRId [deiad sid ol

1. Concrete operational stage / Ilj HishaTed ST

2. Formal operational stage / 3fToTRes TfhaTeres g

3. Preoperational stage / d-SifFaTeT® Saw

4. Sensorimotor stage / Had] TR )T HIEY( AR

Correct Answer :-

» Formal operational stage / e Tfeharad Siawil

5) A self - directed learning process is arguably the most powerful model for facilitating and inspiring individual,
group and organizational learning and development. It means learners ___ /

e W-FER siftrmy wftsar, aafdama, e Sik we-Tars oftrnT ok fasry &t gfawr 3
.- weE ged TRl Aisw 81 s9®T Aaad & fb siftmmsal |

1. gke responsibility for learning and become goal oriented / AT 1 Rrart e % 3R E‘f&ﬁl’ﬂ,@ gl
I

2. compete with others / m%wmﬂfW%l
3. achieve the best scores / 35T TRUMH U Hd] %I
4. enjoy learning / 3T &I 3G AW@WRI

Correct Answer :-

« take responsibility for learning and become goal oriented / ST Bt TR e § iR ?T&Zhw ERGI

6) In which stage of psychosocial development does the child feel shame and doubt? / G EICRIBE
e & forg =xor & o= @) I SR Hig weH ghar 82
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1. Preschool / ?ﬂ'ﬂ?_d
2. Adolescent / fHRIRTGRIT

3. School age / ¥h ¢ 31Y
4, Early childhood / QJQ"‘\W—(ﬁ CISEAN

Correct Answer :-

« Preschool / UIpa

7) Proper sex education should be rendered at stage. / 3fd T fRra SARIT IR
TG DI ST T1feT

1. Childhood / dTcdp Tl

2. Adolescence /%@ﬂﬂ?«’-ﬂ

3, Adulthood / dU¥h

4. Barly childhood / URfH® STeddh1d

Correct Answer :-

« Adolescence / CRUNERI)

8) The ‘Hypothesis of Critical period’ was proposed by siF ‘Hﬂa’l}:ﬂf 3afy &1 TREedAT
% gRT ywaTfad o1 78 0

1. Helen Keller / %@HW
2. Noam Chomsky/ 19 AR |

3. Bloomﬁeld/ﬂmﬁ@
4, Eric Lenneberglma:l@f

Correct Answer :-

« Eric Lenneberg/ Eﬁﬁ?"a:lﬁ"f

9) Who is credited with the concept of Intelligence Quotient (1Q)? / ﬁﬁ'ﬁ] (IQ)
D YR HT 7 fH fear simar 82

1. Theodore Simon / WW
2. Spearman / AT
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3. Alfred Binet / 38 fo
4. William Stern / faferam T+

Correct Answer :-

. William Stern / faferas e

10) According to Piaget, intellectual growth occurs through adaptation to the world. This happens

g;l(_]ru%gh: / Frams & IguR, fS® e gfHar & srgged & wrerd | ghar 31 98 feas mum &

1. Absorption and Accommodation / S{ARIHU 3R JHGH (THIHSTH)
2. Acquisition and Autocorrelation / U 3R Taa: BRREL

3. Assimilation and Accommodation / STEHTEHRUT 3R FHG (‘Qaﬁ'ﬁ%—?ﬁ)

4. Assimilation and Acclimatisation / TETRIEHROT 3% SpEEAIR

Correct Answer :-

« Assimilation and Accommodation / 3TEFHTERRUT 3R THSH mﬁﬂ%m)

11) According to Albert Bandura, the process that is involved in acquisition, organization and use of
information is called process. / 3a¢ GgT & AR, I8 UfehaT S JET1 & SIRRISUI, Wie+
3R IUIRT F A il &, S Aferar w1 ST 3|

1. Cognitive / HJHTHS
2. Affective / THTS!
3. Self regulation/ & FIHA

4. Motivation/ U0

Correct Answer :-
« Self regulation/ W FITTT

12) What concept of conservation focuses on the amount of a substance that exists? / GI&UT PTHE AT

Rrgia fo=ft Aiver verd St A w Hfea g2
1. Weight / dqd
2. Area / &%
3. Mass / gHHE
4. Length / aTg
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Correct Answer :-
o Mass / gHHH

13) What cognitive ability are children displaying when they attribute human-like qualities to objects? /

T BIH-H WFATHS &HdT 32T I8 & o9 9 a3 1 AT YU & Haifda v 82
1. Egoccntrismf@rlg‘l-ﬂﬁ(ﬂ"ﬁ@%@)

2. Conservation / §&f0r
3. Animism / SI19dIG
4. Object permanence/ d¥] paJjibare |

Correct Answer :-

« Animism / SIS

14) Some children experience excessive anxiety at being away from home, even after a long period of
time. What might they be suffering from? / 9 T 6 THT AP IR oY TAF TG ’l-ﬂ', WY 14 A
TR 3l R o1 3gua Fa g1 I fra A RfEa gt awd 82

1. School phobia / Wlﬁﬁtﬂ

2. Social anxiety / R ISEAER]]

3. Conduct disorder / 3fTeRUl fdehR

4, Separation anxiety / {19 G RG]

Correct Answer :-

« Separation anxiety / 3G CARER]

15) An example of self-report measures of personality is/ i & TeA-RUe SuTal &1 Uh JqleIvul

1. MMPI / GHEAeS
2. Sentence Completion Test / dTeR] q;ufufr&rm

3. Rorschach Test / Idich TRI&0T
4. TAT / et

Correct Answer :-

+ MMPI / THUHUISE
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16) Intense mood swing is a characteristic of / ?‘ﬂﬁ:@'%ﬂ @1 agor g:
1. Learning disorder / STRRTH Sf&rFT

2. Bi-polar disorder / ﬁiﬁf ICEAR

3. Conduct disorder / 3TRRUATA fd®hR

4, Anti-social personality / SIS A fddd

Correct Answer :-

« Bi-polar disorder / ﬁfifcﬁ faPR

17) Which of the following best describes Maturation of a learner? / Frafafea 9 & w1 e Rendf #
URUSHAT BT HTH SIS JUH Bl 82

1. Tt is a continuous process of individual development/ U8 e ﬁwﬁw ET‘IHE@TCIT%I
2. It is related with cognitive capabilities/ T8 HITHD Wﬁ%ﬂaﬁﬁ%l

3. Specific environment is required/ ARy IR Ft sragHAT eI B

4, It takes place at specific age/ 48 fafry S Hed el

Correct Answer :-

« Itis a continuous process of individual development/ 4% HfeaTTd fap™ &1 Us Uad ufehal 21

18) Which type of memory takes special account of context? / 5 yoR ot F[ﬁf e &1 oty sa=
Tl 82

1. Iconic memory / Hﬁ@t_‘fﬂ%

2. Echoic memory / Ui §fd
3. Episodic memory / WTRiRIH F{ﬁ
4. Sensory memory / Fadt F{ﬁ

Correct Answer :-

« Episodic memory / U ¥

19) Students who disturb others in a classroom are likely to have type of learning style./ Elf

gﬁﬁ&nﬁ;ﬂﬁaﬁqﬁmﬂmﬁ%’aﬂ%m THR Bt WG Bt Al g Bt FHTaHT geit
|

1. Kinesthetic/ ﬂﬁ'ﬂﬁfﬁ @Eﬁ@ﬁﬁﬁ)
2. Tactile/ TR (daeEa)
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3. Auditory/ 49Ul

4, Visual / €29

Correct Answer :-

+ Kinesthetic/ TTfagder @Eﬁ@ﬁ'ﬁﬁ)

20) Who carried out an experiment on memory involving nonsense syllables? / ﬁmﬁwﬁrwqwmﬂﬂ
T, o a@arT Rregier =nfHa 42

1. Ebbinghaus / TfeS-TaT
2. Atkinson / Tefch g

3. Posner / URGR

4. Calkins / BTeifch S

Correct Answer :-

» Ebbinghaus / TfsS=amg

21) Who proposed the concept of zone of proximal development? | Frpewy foeTa & & &t sraurn
T I¥ATd foa T@m?

1. Abraham Maslow / Wm
2. Lev Vygotsky / ©id argTiceht

3. Carl Rogers / T T
4. Albert Bandura / 3{GSIC SUGRI

Correct Answer :-

» Lev Vygotsky / GCESIEIRSCA|

22) The spinal cord develops earlier to the heart. This is because of the operation of the following

tendency. / ¢ 9 g3} ged & yd ReRra 81t 81 ue Frar ughy & e & SR g &:
1. General to specific / ITATY ¥ Ay &

2. Cephalocaudal / RitFaiBSST

3. Proximodistal / MIGITHATSC

4, Part to whole/‘-ﬂ"TﬁWW(‘Wf@éﬁ)

Correct Answer :-
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« Proximodistal / TIRIHAT ST

23) The following is an example of a secondary reinforcer. / ﬁaﬁi@aﬁ?ﬂwmww
IeTERu g

1. Ice cream / Hﬁﬁ'ﬁﬂ
2. Dress / UIRI&

3. Money / 8

4. Juice / IH

Correct Answer :-

* Money / U

24) Maladjusted children are generally seen in / HTHI-: Wﬂﬂﬁlﬂ T ﬂ'éf%.@ ST %
1. Broken family / o uRarR #

2. Rural arcas ATTHI0T &1

3. None of these /E:I'Ef T ﬁg T8l
4. Poor family / TRIe gRaR o

Correct Answer :-

» Broken family / foey ufvar &

25) One learns to use one’s muscles and acquires a skill due to: /
U i, AU BT SUINT A1 ARGl § 3R SHP PRI Ueh DI YT HIdT &
1. Maturation /

PITCESGI|

2. Exercise /

SN

3. Learning /

ST
4, Parents’ force /
USR] T SR

Correct Answer :-
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+ Maturation /

26) During the first half of the 20th Century, students, those identified as
having special needs, received few or no special services in the schools.20 / af

YA P UEA DURI P ERME, o, RFd! ugar faiv smawasar
@A aTdl & FUH B T3 A, I @l § O 1 Dy (A=Y HaT gl fyeit A

1. Above average / 3T T 31fds

2. Exceptional / STTERUT

3. Mentally retarded / RS U Y Hg
4. Poor / HRG]

Correct Answer :-

¢ Exceptional / S{HTYRU
27) CANCELLED

VARK model of student learning was proposed by: / ©TA SITH BT a1 Hied E%W
yaTfad foar /™ T

1. Kohlberg /aﬁ@ﬁ

2. Neil Fleming /:ﬂﬁq@iﬁq‘ﬁ
3. Piaget /fﬁm@r

4. E. Erikson / 3. 3R

Correct Answer :-

« Neil FIeming/:ﬁ?ftI@Iﬁ"T
28) CANCELLED

During the emergence of language, the ‘jargon’ period is present during / W%Wa?a?ﬁ, “Rleguilel
AT ST A $6 R Bl 6:

1. Nine months to one year / ﬁiq‘a‘]ﬁ ﬁ@ G
2. Birth to three months / 5+ I 49 7814

3. Three to six months /dH 9 &: A
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4. Six to nine months / @: ¥ 7T II'Eﬂ_;T

Correct Answer :-

« Six to nine months / &: ¥ AT AEA

29) Which of the following is the best way for parents to support and help children cope with

failure? / FFETAITET & A SI-I1 AT gRT a1 BT 3P adar A fAuea & ¥ 39 o
IAP! Hag DI DT T ST A IbT 82

1. Create a comforting environment for the child to engage in another activity to forget their failure / AP

BTl Bl YA & fo18 s ol fpdt o nfafafl Ff ovd v 3 U IRMes uRaw &1 Hafor a1

2. Listen, empathize, then focus on opportunities to learn, not abilities / {1, Hﬁlj‘lﬂzﬁ ], e

TRIA & IR TR &M dhigd H31, 7 b ewarsi i1

3. Create an environment for our kids that shelters them from potential failure or disappointment /

3 g1 & fore U Ui &1 Ao 6% S I8 THITIT SR erdr I HR=n & =

4. Push kids beyond their capabilities / S B ST &S T X HYhET AT G BT

Correct Answer :-

« Listen, empathize, then focus on opportunities to learn, not abilities / I, {-Islj‘ljﬁf -], i

TR & IR TR & Digd H3A1, 7 b eHarsi |

30) Inquiry approach method develops the ability of learners for / Uars efy®ivr faftr & Rrenfat #5
e & o emrar &1 fawr ghan 8:

1. Using the experience of a teacher / Toh fR1&/& & 3JHd BT IUTNT BT
2. Assimilating more information in less time /wwﬁ AP TSR B TEITT B
3. Experimentation /EI@FT

4, Maximizing verbal Iearning/ﬁm &maﬁmﬂ%ﬂmwm

Correct Answer :-
« Experimentation / TaNT

Topic:- General Sanskrit(L1GS)

1)
UiYARTRE! wedH *kal fagda ?
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1. > |

2.§0_ l
| A
. aY |

Correct Answer :-

| Ty v @ R Tasad 2
1, |

Correct Answer :-
Taeff |
4 g

? 3TEATR YT Helwq fohe ?

, da |
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IRHCG |
2. 2 %
da |

B 3
4, ~ |

Correct Answer :-

| 3TEAC |

4

' T wfa ?
L IEEI

, G |
. AGIGRm |

od |
4,

Correct Answer :-

- ANGE |

5)

.y i guerA 36 for@d |

ERICTACCICEE

1

SIAGIECICEE

2,
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MG HAECICCE

3

, gure Harests |

Correct Answer :-

qrelATIaGAH |

|
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3.
AER
B

Correct Answer :-

qg |

¥ ger oA Feal Uy & R ?
i Gieicar |
| Gieged |

_ IR |
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, o8cdl |

Correct Answer :-

. gf¥car |

10) N

Fed HEH Udd ?

| TR |

, Gl I

3 |

AT |

4

Correct Answer :-

11) AN A
FAISATd SIET ¢ PR T fohe ?

ARSI |

. 3hREAAT |

_ RIICT |
, AT |

Correct Answer :-
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? e $d 9E g R |

| VAT ded |

2 AT dcd |

_ €Td A |

& ey |

Correct Answer :-

& qeg |

2 HEa T EcuEg A & ?
) 37T |
31T |
e |
, 3TN |

Correct Answer :-

37T |
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, iHeT: |

Correct Answer :-

[

YU’ SATT qUI, Gordh gereh fored |

.
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gy
1~

Yy %
Ny

g3{T3 % |

3

CERRER S

4

Correct Answer :-
g3IE3II3

TAL-LITAT: AEIATEIhdd= Tohe ?

18)
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TG |
| T |

, Fqed |
| TUEd |

Correct Answer :-

'Yy |

HaH |
| EFEaH |

Correct Answer :-

-tice

20)

STETc $cTed €1d: o ?

STe |
. c

1
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orel |
2. 2
1Emg|

ol
4,

Correct Answer :-

* ursemerd sfa eee et |

SECINE

1.

SEGRI]

2

e |

, 3R

Correct Answer :-

eI

) .
7w arar: o w9 TR 2

3iGid |
eedd |
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_ Teefd |
T |

Correct Answer :-

- Ted |

qUEdT: ... | 39 Raaedms I |
1 © |
dTald: |

2

3_?@9‘%!

[
4 IS loed |

Correct Answer :-

 TeSied |

24) : . [N
QIOTHTEAT Sfd »EdT d87erdl add ?
_ qedaT |

| ST |
| A |
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UsdAl |
4,
Correct Answer :-

g |

| AHSHA |

Correct Answer :-

' gee MY dEar ot o |

Teh a g ccRIC AR He o |

26

1

Uehfd g eI IR U= ae g |

2

NEENE SRR A B ER e

3
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Ueh{d g eI R aE . |
4.

Correct Answer :-

TR (IR S ehUsadeae |

7 397 reeEy aqeft T R 2

SHATEITH |

1

3871 |

2

38T |

 BeTEA |

Correct Answer :-

28)
T s o & ?
37T |
3T |
3707 |

ody |
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Correct Answer :-

29)

HETI®Y: g [dargdrery fohe ?

HETETE! e T |

1.

AgrTal qEALT |
2.

cHslwleT TENRT |

ﬂmzrﬁtn‘wm

Correct Answer :-

AgTeTATAl qERT |

0) fa N
FTTIH §cIed Floeldeae Hed |

3T + IIH |

1.
3t + g |
31T + T |

3T+ 37 |

Correct Answer :-
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Topic:- General Hindi(L2GH)

1) SEIETCl.... Y, T 30 # Hron Il B g ge-=ft gt o1 siftreafaa @1 wremm (A R W T
U forw) ar Y SEISH T (3IHRAN) AT g, Tt | 1, 3HTST U o1 & fore # Sru= usiat, WA-urd wive uRar, ok
3 T & G S Y=IAIG ST § 1P [ UTaT & do? 4t B Sar N IR RE @S 7 8 9ot ot W gea
T AIRTSD BT B A1 | BT 99 a1 81 © [ H OTH B BIg ATUHT 11T a7 ey ot 181 o1 911 e 3 Tt
T 39 A SO 3R e, 3HST WY SR at At A= & FARrar o a4, 399 ui TR SR garsTare-
AT 3¥ gaTerare & el uiefe armazur d fis & fire™ arar meme 1 iR 8t emer off et oik wffaeht
2, STaujg $U-8 $H g ol 1 gul 3R favad B aTdt 3uA W1, HiNS® ararawul &1

ITYe TR B UgHT e IR 7T U HT IR Iq159:

UH- d@® B fF41 7 3ru=t 3R 5w safakiea & wror sy fasan?
1. feTee

2. HgTea guf

3. 9=

SMENKI

Correct Answer :-

2) TEREEI.... @, W 30 F ToT Al R g ge-dt gt o0t sifaafa &1 wrerw (@ SR |dd UsTIa:
em%ﬁmm?ﬁeraﬁﬁm@mmh)maﬁmlamwm$ﬁmﬁsmﬁumﬁ Fr-a19 e uReR, 3R
aru%aaﬂﬂsgnaﬁWﬂﬁ&ﬁﬁﬁ?ﬁﬂﬁmﬁﬁmmﬂﬁﬂﬂ%@aﬂﬁ%aﬁw@ﬂﬁmﬂ@ﬁm
g1 Af&Tes &Y IR AT | IPEE 99 371 81 & [ A oW &2 IS Aresm war a1 ey 3t 98 o g1 A oy
T3 39 THY U SR T, $HHT WY BROT a B A1 AR 3T ua 3, 394 Wit SR SR gamerdns-
UG 3R FeeTaie & fadt wifefie ararazur & st & fram arar wicre=1 siiv &€ smor off sroeft siw wiadh
2, 9Ta5[g BH-O HH G o8l B gl 3R fived 3 a1dt 3rua dehiof, Hinerfie ardravor #1

IUYe TR B UgHR < U T UY HT I Iq159:
- 3BT BT AT g2

INGENGEL

2. GBI

3. gE g

4, o eIl

Correct Answer :-
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3) TEXETE.... @, U 30 & wTo7 A R g we-w gt O st 1 Arerm (@ ofR Wla e Tw:
U forT) TT Y SIS AT (3HRAIN) T g, it | BT, TS U i & foie | 39+ uaiet, WA-urd wi1e uRaR, iR
3T T F I DY UIATE ST § 19 Fohl UTHT B A FH B Slar N IR e @Sl 7 8 ! ol W gy
7 AfRTSs BT8R AT SMEANT T 3971 81 & 1P & 570 B I3 =7 Hom a1 fRieq o5t 78 &< o1 7 7w
T 39 T SO 3R THT, THGT WY SR aF A A= & FRTar iR 4 9, 399 U IRSR SR gargrans.-
T 3R gagTETe & Bt Wit aramazur A st & fem arar widirga | ok &S et ff aroeit ek waedh
?, ITav]g BH-O TH g oIl B guit 3R fvad o= a1dt Sue Hoivl, Fivegriie ardar F1

IUYar TN B U A YD T U BT IR ad154:
- 3 & sargTaTe § ST araraRor A

1. Hfefdre

PARISEIIRED

3. e

4, FTHTSTD

Correct Answer :-

4) SEIEEL.... @), T 30 § HroT g Y g g g M aifreafa &1 Aremw (@ ok 9dd e
3o Rrg) T <Y STt AT (SHR) T I Tre | BT, 37T Teb 97 & g H 3rom il WA-wrd we uiER, ok
3T T & G B UIATE 3T § 19 foh il UTHT BT A FHl F1g SIaR A ORI R TSl 7 8 I &l &Y 534
1 AfRTSS B B8R AdH BT T9 a1 81 & 5 o 59 B BIg FreEn Hior a1 ey ot 78 F= g1 7 A
T 3 T U 3R T, ST TP SR af A a1 & FHRrar o ua &, 379 W GhR SR 3argrans-
AT 3R SATRETE & el Tifefdie ammaru A fE | fiem arar vieime | 9T &t omer ot oot ok diedt
2, FTacie A8 BH g1 il ) gt 3R Rvaa B9 ardt v wasiof, wiverie ardraror &1

IR T B UG 9 IR 1T U BT STR Iersa:
TH- AP BT Y UT?

1, STV GRIR 9§

2. A URAR ¥

3. 9c URaR &

4, PR URAR I

Correct Answer :-

. SCgRaR ¥
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LRI |..... Y, T 30 H Hrr At B gt ge-oft gt 1 siftaafa &1 wem (e SR w3 wer=aa: SR
o) ar at SRISh Ut (SrEE) a1 IS TSI | BT, 3T U aTd & forg & 39 uoiel, fY-ard we e, o s
T F T DI UIAIE 31 § 16 Bl YT $ Y F 318 AR WY IR avE T 7 &1 T o W g8 T
AT B UR A | AHHIT TH SAT 51 € 19 A OH B Plg W11 UTHT 1 167 Y 781 B Fpr1 G A = g
I AT A 3R S, 3BT WY R G A A9 # AR o U9 9, 399 e IR S SareEre-
T 3R gareraTe & fed) Tifefe ararazor & fis @ fram arar diere 1 ok &6 omer oft oot ofiv St
2, ITao[e SH-8 BH T o1 B gET 3R faver B arel U FeH10], Wivaye ardraRv |

IUa T FT UgH? Y IR T UY BT IR IaTga:
TRA- AP ) fohy a1 &1 HY 87

1. el Sl e A ¢ UM

2. HTST T THR S7e0T 7 6 UMl

3. GOt

4. ARG A 9 38 UM

Correct Answer :-

o HTST BT THR 3T 7 6B gl

6) FEETEL.... al, | 30 ¥ yruT gt gere ge-dt got 4t siftrarfaa &1 aream @& SR Wda ueTa:
mﬁmmﬁmm{&mmeﬁmla TS] U a1 & fore & v+ gotel, We-ard oie oRaR, ok
am%a*am%ﬁgnaﬂwha%%ﬁwﬁﬁmwﬁaﬁﬁ%ﬁﬁﬁm@ﬁqaﬂﬁﬁhﬁm
T AFKTSP P UX Adl | T a9 Sa-1 81 & o & o9 $ IS qreqr Hiwr a1 Ried &1 et o< dor1 & 3w
T I T 3O 3R i1, ST TP HROT aF At A1 A FHR1ar iR ua A, 379 Wi TR 307 SATeTane-
WG 3R gaTeTEIe & & WifefQe araravor ¥ for & firem arer wieire1 oiR f&dt st ot sroeit 3k Eiarelt
2, 9Ta9g -0 $H G S 1 gl 3R favad B a1t U A, FiNeT® araravr 1

ITY TR B UGHR A IR ¢ U BT I Id153:
- AP B AHAH 87
1. STH Y BE T8l

2. YTST 1 FIYAT 7 B YA &1

3. YT &1 57 2 UH P
4. HTYT BT TIR-IIR 7 B I B

Correct Answer :-

o HTST B FIYAT T HL UA BT

7) TEETEl.... @, T 30 H i At R g e gt & sftreafda &1 wremw (v SR wda veTaa:
3o forg) ar oY SEiSh T (3rwRI) AT I Tt | T, 3TST U a1 & fore # orue uwsiel, Wd-urd wire uRanw, ok
3T T & T DI Y=aTE o1 § 19 [ a UTAT B A i FIE Srar I TR T ol 7 8§ 9! ot A g§ed
T AIRTwH BT BT Al | SHART T4 a1 81 & [P T TH B Pis AT 9T a7 Rieq ot 781 & "1 G 2 aaf
g@wmarq'—ﬁaﬁ?@'ﬂ wmwa‘rﬁﬁﬁamﬁﬁ?maﬁwaﬁ mmwaﬁvw
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UG 3R gaTsTare & fadl wrfefe aramazor # fil 3 s arar vieare=1 oir &<t emer WY eru=t o witadt
2, 9TaSe $H-Q HH G 9l B guil 3R faved &1 arat 3= Saiof, giverfie ardravor #1

IUYE TR B UgH A1 U T UY BT IR da134:
- AP o1 e fra g a 82

1. UHEE g

2. S g

3. YRdg T H

4, UG G

Correct Answer :-

. SEAGTY

8) WERETal.... al, T 30 F Hron g R gerd ge-i g M aiftreafd &1 Aremw (@ ok wid et
3T forg) At &t SIST AT () AT I, Tl | 21, 31Tl Ueh ard & forg & ova il He-and wie uRaR, oiR
3UR T & G BT YRAATE ol § 19 [l HTHT BT ABY SH BI§ GIaR A IRI aW% TSI 9 51 GB! ol 7R 564
1 Af&Ts B 4R Al | SABET 5 FaT 81 @ (6 & o0 X DI areqr Wi a7 Rrew 3t 78 w5 won) f{é A
T I T U 3R S, ST TP SR af A A= & FHRran iR ua 2, 379 W GpR SR sarerane-
ATy 3R saEEE & fgdl Tiefde ammaru d fEl | fiem arar viearg | 3R &t ame ot oot ene et
2, ITao[E HH-8 BH g1 o1l B gt 1R favers B arel U HeH0l, Winerie ardraRu |

IU T FI USHR 19 U T WY T IR daTsd:
- Rrew g 7

1. fac=h

2. dcHH

3. Tacd
4. ST

Correct Answer :~

9) FERETE|.... A, T 30 T yraT g S g gei gt <01 eiftraafd &1 werw (@ MR W3 wEre:
3= o) Tt SRISR T (SwI) a1 I TSI | BT, 3TST U 91 & forg & o uwiel, a-ard sie oRaR, ok
AT T & I B U=GATG o1 § 19 [pu! UTHT BT DX HU P13 SraR AR TRI avb Wel 7 1 9! of A% gad
7 AfRTSE B8R AdH BT T9 a1 81 8 5 & 577 B BIs =1 Hrer a1 Rreq o1 78 F= g1 7 3 i
T 3 T U 3R S, ST Y SR aF A a1 & FHRrar o ua &, 379 W SpR SR sargrane-
AT 3R gemREE & gl TR ammaru A fml | fiem arer vidime= | 3R &t omer ot oot ofe et
R, STacie A-8 BH g3 il B gt 3R e w3 a1 arva wesiof, wiverie ardrar &1

IR TR BT UGHR A I T WY BT ST Ia134:
- ToTe eg &1 82
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1. 3R}
2. SHATHL
3. BRYT

4, THI

Correct Answer :-

10) FERETAl.... @, T 30 F Hrar Tt Rt gerd et got f sifaaf &1 wemm @ 3R wle Tt
39 Torw) TT <Y SIS AT (3HRTINT) AT g, et | 1, TS T a1 & o | v+ usiet, WA-1d o1e uRaR, iR
3T T $ I DY YRIATE 3T § 19 Fhl UTHT BT A F B1E Slar N IR RE TSl 7 8) ! ol W gy
7T AfETs BT8R A1 SMFANT 99 3971 81 & 15 & 570 B I3 =1 Hrar a7 fRieq ot 78 &% 11 G 2 waf
T 3 I ST 3R T, THST TP SR dF A A7 | FR1ar iR U ¥, 374 W IR AR gargrane-
T 3R gegTaTe & fFdt Wit fRe ez & st & fem arar visarea | ok &€ amer +ff aroeit ek weeh
?, ITdu[g $H-O TH G ol ®1 guit 3R favad w39 a1et Sue Hehivl, Fivgriie arararo &1

IUYe TR B UgHR AT YD T U BT IR ad154:
UH- SR W A A | g?

L. gfesi

2, TtfeiTT

3. TIPS T8l

4. Iy

Correct Answer :-

11) ERETEI.... Y, T 30 H HrwT i ) H3r) gt gt &t siftreafe &1 wveaw (@ ok w9 vaTa:
3 forg) AT Y ST T (BRI) AT 3¢ Teter | B, 3Tef U a1 & forg # Sqy usiel, Re-wrd o uRaR, ok
U T & G BT Y=I41G &l § (% [l UTHT B A Hoft B1S dlar A IR RE WSt 9 8 It ot A 554
7 ARKTSS Pt B A | AT 59 ga- o1 & 5 & 579 $2 18 anemr wror a1 Rew #1783 g & A i
T I T ST 3R ST, FHST WP RO a1 A A9=71 | FRTar iR Ua U, 379 W IR AR ATeTane-
YR 3R gargETe & fBdl wiefRe ez # fE @ frem arar widre | ok &S et o aroeit ofik weeh
7, ITavg $H-A FH T Sl B gut 3R Favad &3 a1dt o= Hasiof, Fivariies araraRor F1

JUR TR BT UGHR A TR 7Y WY BT ITR IaIsa:
TRH- ‘5T’ BT yarIar T8 8?2

1. fea

2.fea

3. gell
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4. BT

Correct Answer :-

12) TERETEI.... @, T 30 ® HTaT g Rt gt ge-si gat A siftraafa o1 wream @ ofk Wed veTaa:
U Torw) ar oY SEISH T (3IHAT) T S, Toret | §1, 3ATST U a1 & g & v usiet, Wa-ard oie uRar, ok
3T T & G BT YIS a1 § 1% Fhl HTAT B A FHt F1E Slar W IR e TSI 7 8 ! &l N 534
1 AfRTSS S R AdH BT T9 31 81 @ 5 & 9 B BIg Fre[T Hrr a1 FRreq &t 78 F= gor1 7 3 i
T3 39 THY U 3R T, BT WY BRUT al B A1 § AR 3R ua A, 394 Wit TR SR garerans-
TR 3R FETeTETe & fBdt Wit ararazur & fst & frem arar vieare=1 oiir &€ amor off sroeft ek wiadh
B, 9Ta5[g BH-O $H U 94l B gt 3R fived 33 et 3rva Shiof, Hiverfie arararo ¥

IUYET T B UgH A1 I T UY BT IR 134
- e iR da fra gu F el @2

1. SMMAI&

2. TIfdETg

3. TANTETS

4. 718 piadm

Correct Answer :-

13) TeETdl.... @, T 30 A UTaT g R Yardt et gt o siftraufda o1 wrenm (e SR Wed veTa:
3o forg) ar it Sidtsit ot (3w a1 I T | BT, 3Tl U a1d & fore 7 v e, ftd-and wire uier, 3R
3T T S Y B Y=IAIE Sl § [ fopail HTT Y A F F1E Srar A IRY RE TS 7 8 I1 St I ged
T AFRTSS B 2R Ad | BT T9 311 81 & fF & &9 $ BIS =T Hien a1 ey o1 78 F= 11 7 3
T 39 TH ST SR ST, ST WP FRUT df A A= | fFAR1a1 3R U U, 374 Wi TR S gargrane-
YT 3R garsTeTe & g} ifefQe aramazor # fos @ fraa arar viears 1 oz & omer oft st oiv waedt
§, ITd5[g $H-O HH T oIl &1 gt 3R fiRed o9 et 3= Hahiof, AiverRie araravor &1

IUa TR B UgHR A YD ¢ UY BT IR dd154:
- AT BT AT 32

1. W&

2. IReW

3.9

4, TS

Correct Answer :-

. RN
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14) TEREIA1.... @, ¥ 30 § HIwT g St g ge-dt gat A siftrafaa &1 arew @ ik wea Taaa:
3O Fore) T oY SiISH AT (3IRANT) AT g, 7Tt | BT, TS U a1 & fore # oo usiet, Wa-urd wie uRarw, ok
I T & G B UATE ST § (P [Pdl UTHT &1 A HWl D1 Slar W TR e @It 7 g gt ol TN gag
T QAT BT B Al | BT 99 a1 51 & [ T OTH B D15 AT HTUT 7 ey 91 981 - 911 B 3«
T I Y AU 3R T, SHST WY SR af A a1 # FHR7ar 3R ud ¥, 374 We TP R 3iR ATeTans-
A 3R gargTae & fedt wifefre araravur & s & fram arar widare=1 ok &S et off sroeft ek wedh
2, FTavig $H-A T g3 Sl B gl iR faved S et 3ru AHIof, Wingre ardravur &1

IUYET TR B U AT U 7T UY BT IR 134
WRH- faRew w1 faaw 82

1, i

2. 3

3. ol

4, T

Correct Answer :-

15) HTH W &} o T8 & =7

w1 fafver # AR 5 § 9nt g

1 St 3 T foran §

IR 1 et foparat ot

T HTA UGTS &+ &9 ¢ § AR /A

CulfE i RIC KTk

R HeR™! 1 ARG

T AR AgH, IR T R WY F S

@ Bl ¢ § GHILSH

ar fbr = €t @ B s g A

e e BT AR BT giar

YIS ¢ Afb 3o off waret a8

& €t it e

IR U Bl Ugh A1 U T Uy HT IR TaA134:
U~ U Bigar A Hid T fasramn ot 3w 3R 3 @182
1. Aot fagraT
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2. 3TH Y BIS A8t
3. FT®- 3 fagwam
4. OIRaIRS® fagramr

Correct Answer :-

. G- e fagmam

16) OTH R I 1% § g2

0 fafver & iR 8 & At 18

a1 St A T foran &

|RY 1 ot fomaral 1

T HT UETS & 19 ga T & 9N f{aa
a1 et ybu i gg TR §

IR HeRd 31 gARA

TR A, IR T 3R R & i
W 81 Y § THIISD

e s ft 7 § s gfrar #e

a1 WA BIAT SRR UHT Bl

AT § At 509 i suTeT U

% & Al A seewmgE

SRIT U= i UgHR 1 IS T U HT IR Iars:
ULH- GEIATHE BT 3f 8 2

1. YTIfST

2. gy

3. gYIad

4. JYRIHT

Correct Answer :-

o YYIdd

17) ©TH R T 9138 & o222
a1 3fafver ¥ AR 1 € I 1S
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w1 §et A @ forar &

TRt 3 faf} faral <t

FITHTA UGTS $ =119 gd T § AR faas
w0 R yHpud s e

TR HeT! P gARA

1 TR e, AR TR 3R R & effr
W §1 7Y § UHITH

at ftpe s € & g9 g A

e ya® gar SR T g

WA § afes 598 Wi suraT U

¥ & ardt A seemmg@

SRT TR I UgH 1 U YUY HT IR Ia13:
- U1 Qe Pl g e &2

1. HTA UGTS & =i

2 RIF R

3. iR &

4, FEM & =il

Correct Answer :-

.« DI TGS & d

18) PTH W 7 w178 & a=?

a1 Siafve A iR 18 § 9™ A

a1 vl A @ frar &

| 3 foatt feparat &Y

HT TS UETS F =1 ga MY & A et
w1 it YU A e IR §

TR ARl B AR

T TR A, IR TR o WY & S
@ g1 Y § TS

Y bR T Y T @ g g e

T vraTTes giaT 3R T gl
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HUTS § e g Wi surer ug

& & wrdt i geamTE

IUYad UL &I Ugh A1 UD 7T UY HT SR Jarga:
- g @ - frarel &1 o @ e g2

1. T=AA A

2. §Hpl A

3. YBIRIbI =

4. fagmea =

Correct Answer :-

ECI ]

19) ®TH W 4 1 T8 & F=l?

1 Sfafver ¥ iR w8 & A 1

1 ST A T foran &

) 1 Rt fparal &1

FT P YSTS F =19 &d ¢ § W1 et
TR yFudAceE e

R HeRE! oY RS

FIT IR AeH, TR T 3R IR & ST
T 1T B THIH

o wrar €t o & T g

e waT® giar SR T g
YOS § A s Wl <areT a8

o & wrt ot geawTg@

IR TR B UgH -1 ID Y U HT IR IaIsa:
URA- Hea | ared 82

1. HIATHT YUY

2. AR BT 9w

3. Rran-=a

4, ARG
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Correct Answer :-

. TR

20) TTH R T 137 & T2
 Safver # AR 1 & It A1

a1 Sl A @ fRrar §

TRt 3 et fparal &t

T BT USIS & - ¢q ¢ & 918 f@aq
T it yBu A e IR §

TR TRl Bt 3R

T IR A, R T 3R R & i
T 1Y § TP

@ e o ft 7 @ s g He

faer vare giaT 3R TaT giar

AT § Wb e Wi suTaTr 98

fo 8wt <l geemTE

ST IR B UGHR ~ TR 7T U3 BT SR qa153:
- e @ 3l SaRAT R

1, TR

2. STegTaRT

3. GTaT
4, qgIH

Correct Answer :-

21) BH W I SR & a=?

a1 Saive W R 18 § 9N S

a1 St A @ foran &

I 31 foht fparat &Y

T P TgTS & -9 g9 U € 9 /e
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T Pt ysu e &

WR TRl Y gARA

FIT IR HeH, AR T 3R TR F S

W B Y B THTeS

Al o2 s €t T & sw gl de

a1 WS ST SRR VT Bl

WA § difee g W SaTeT g

5 & ardt A seumga

ST U= i UgH 11 IS T U HT IR gars:
- TRgd Piadl A Hid Sita- B 5w Srawy1 &1 Arfiie v Harg?
1. U

2. g

3. gaATaRIT
4, foaRma=r

Correct Answer :-

22) BTH W T o1 3R & a=?

a1 fafve # R § I A

1 Sl A @ forar §

Tt 3 foaft fovarai ot

1 P TgTS & -4 ga U § 9 /e
1 fRft Yy A g e ©

R HevE! B AR

T IR B, TR T o R & S
W §1 7Y ¢ TP

o R s €t @ s g
ey FiaT R T g
YIS g afe saw Wt surer g8

% & 9t i seenmga

IUYa TR B USHR A1 YD T 7Y BT IR Iarsa:
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WA Bfd B ug i fra 9 A 82
1. BANA 9

2. Sfafeer |

3. gHaTd

4. YU g

Correct Answer :-

23) B W | 918 & a=?

T4 Sfafvel § AR T & a1

w1 Sl A @ R §

Ry 31 foft foparat &Y

T HT UGTS & A1 & 7Y § AN FRaaH
FfFRt ysudica e

TR weTH! P 3R

FIT IR A, AR T Y R & S

WA g1 7Y ¢ TP

@ R s St v 3 s g A

a1 v gYaT SRR BET Bl

WA § diferT gl Wl wuTeT U8

% & Ot RS seawTIE

IUYT TR B g A1E UD 7T UY P S<R Jalsd:
URA- BT R ) o1 V8 § T’ bl 919 82
1. UYaTas aray

2. 570 QB T

3. THRIAD AT

4, P RTHD dlH]

Correct Answer :-

« JYarEsd 9]
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24) ®TH R T o138 § a=?

1 Sfafve # iR € § A A4

T ) A @ Rorar €

Tt 3 faaf} fvarai ot

1 FTA TgTS & -4 gd ¢ & uR f[{a
T fF ypudss e

TR Heww B ARG

T IR M, TR T oY R & S
T Y E THID

it O3 o €t § s gfar /e

e YT SraT R ¥ g

YIS g Afce 5o i su1e1 a8

% & ardt A seumga

IR U= B g -9 T T U BT 3T Iaq153:
- ‘S’ TH TSR 5T 52

1. BABIAH

2. fordit 1=

3. Uard

4, BICTdIC

Correct Answer :-

25) B W T 1% § =22

a1 siafve # R 8 § 9 A

a1 Sl A @ Rrar €

|t 31 faatt fvarat ot

FT BT UETS & 1 ga 1Y & W faas
7 et yHu A o T ¥

R HewHl B gARA

41 R #gM, AR T 4R R & i
T B Y B THIIS
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at fbx s ) e § s g A

a1 YT BT SRR QT il

WIS § AferT 5o Wi <araT a8

& & ot il geawT@

ST TR B UeHR 1 UD T UY HT IR Jars:
- “UgTS’ &1 qaigardl gim?

1.9Y

2. 3
3. 7RG
4, Ik

Correct Answer :-

26) BTH R I &1 & T

1 Jfafver  fie s & w18

1 SRt 3 @ foran §

TR T s farai ot

FT HTA UETS &+ gd 7Y & AR f@as
R yHpuAEE

TR AT B FARS

FIT IR AH, AR T oY o= & S
T E Y & TP

A 53 &= &t / § s g e

e HaT BT 8RR T ia

YIS ¢ Al 399 Wi saer ag

% & ) i sewmg@

SRIT UL B UgHT 1 I T U HT IR IaIg:
- BT UgTS’ B T &2

LG8

2. 34t
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3, IGSY
4, FHYRY

Correct Answer :-

27) B R I A3 & g2

1 3iafer #F R § e 1

T ) A @ Rrar §

AR} 1 faht fovarat &t

FTHTA TETS & -1 g9 T¢ § IR fyas
T fFR yHU AT TR T

TR HETH! B FAR

FIT IR HEH, TR T 3T Wi & SR
W™ B Y § THIIS

it fO5R s €t & g gfar |

famT ware giaT eRR BT gian

HATS § AferT s HI SaTaT 98

& & Ot A geawTge

IUYa UL H1 UgH A YD T UY P IR Jagy:
- fpara o1 yaigandt wres T8 82
LU

2.

3. Ol

4, &I

Correct Answer :-

28) B R T A1 & =2
1 Safve # R & 9t 1
1 et A @t R §
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Tt 3 faaf frarai ot

FT P UGTS F =iId gd MY § W1 e
T fER yFuAcE = e

R HeREl B gARA

FIT IR M, TR 0 3R IR & S
W §1 7T ¢ THTTH

o R wrar €t @ g g

foram v grar SR T gia

YOS g afee s +ft sarer u

% & st A sxewmg@

IR U B UgH 1 I T U HT IR IaI5:
- “HATHS T BT R UIT 2
1.4

2, 3fIdd

3, fa@wra
4, GaRATH

Correct Answer :-
. g
290) HTH TR I &1 B & T2
a1 Sfaf¥er A iR g F At 48
1 St A @ forar §
TR} 3 fadft frarel &t
FTHTA UGTS $ 119 gd ¢ § AR fads
F PR yHUd e T E
TR T P gHRA
41 IR e, IR i ok W= & 3ifr
T §1 7Y § UhITH
4t fth 5= g1 & § s gl A
feen e giaT 3R T gl
YIS g o sow W sareT 9%
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o & il 9 eawTE
SUYeRT U= 1 UGHR -11d I T Y BT IR da13d:
URH- T HY HT TG4 HIRT?

1. S &1 G0 9F & 197 & SRR Bral o |
2. S=] BT TEUH Wd-Be 3R & B a8 |
3. 9| DI 90 U Gl B BT Al

4. Id| DI Tod & Fold AR Hie=1 A1

Correct Answer :-

. I BT IO WA-Fg R e b a3l

30) TEVETAL.... &Y, 6 3o F wren At R gerd et gt & eftreafe w1 wremm (i ok wia wwTa: oo )
Tt Srof AT (SIEERT) a1 S T | B, 3T T 7 & forg # oraa uwtel, @ sire uRar, ok s seq &

YU DI YAATG T § [ [Pl HTHT B ADX PH DI GIaR WX IRI dXB Wl A 51 GbI oIl A% §¢7 U1 W& B O aAelt |

INT &7 311 81 2 o 7 50 R 1S Arer=m Wrow a1 ey 31 8 o e | & 3 0t g9 39 awy o ok @i,

U1 TP HRUT a1 7 a1 7 FR1e 3k v 3, 399 W TR 3R geerETe- vary SR sameEs & fd uitf@e

qraTaRor ¥ fry & fire= arer vieare 1 3iR fEdh amet aft it ik e €, arase 0-3 &0 U3 S 31 55! R fRaw

FRA T U HH VL, WIWSIHIAS qrarawvr &

FRIT TR B UgH) A U T Y FT IR gaT3a:

U=H- AP P a1 § BIH | B A2

1. f&R, §=

2. 5T Y PIg A8l

3. UHG, IRUTe

4, frTen, 4a

Correct Answer :-

Topic:- Mathematics (MAT)

1) Which one of the following statements is true about integer? /
fFrafalea # @ F19-91 $y= Uife & J9y § T@ 272
1. On multiplying any integer with 0, we get 1. / 0 & ¥ fait +ft quifes &1 7om =71 W, &8 1 W g g

2. On multiplying any integer with its multiplicative identity, we get 1. / a5l lﬁ‘{mﬁ?ﬁ 3D TS Teadd
F Y PIFAWR, T 1 T g gl
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3. For every integer, 0 is the additive inverse. / PPk EUTTH? a%ﬁ‘-m, 0Uh TS UfaeH %

4. On dividing any integer except 0 by its additive inverse, we get -1./ 0PI BISHR fhl ‘J-ﬁ‘{uﬁﬁ(ﬂ%
e vfadm ¥ fauifid 33 R, 85 -1 I g gl

Correct Answer :-

« On dividing any integer except 0 by its additive inverse, we get -1./0 DI BISHR bl ﬁ@]ﬁ?ﬁaﬂ%
Ihmeres gfam € fauifid &3 R, g6 -1 U gl gl

2) If an amount of Rs. 1368 is distributed amongst 24 persons, then what is the amount that each
person gets? /

Tfe 1368 U BT Y=RIAT 24 dFN & S fFalka &t o<t 2, @ vde aafed &1 feast i fred 82
1. Rs. 122 /1223%0U

2. Rs. 53/53¥Q

3. Rs. 153/153 34T

4. Rs. 57/57 %9

Correct Answer :-

o Rs.57/57%UU

3) A figure on a graph sheet covers 12 fully filled squares and 7 half filled squares. Find the total
area. /

gwsﬂzwwaﬂw 12 I B T TRE ¥ LRl & 3fIX 7 I B YT HRAT § | $o B Jid
I

. 9% sq units / 9%33??35!?
; 13 2 sq units / 13 >t gar
3 15§sqmﬂtsf15%m’f$‘tﬁlﬁ

4. 19 sq units / 19 I 3BT

Correct Answer :-

15%sqtm.its / 15%%? EHIS

Ll
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A floor 4 m long and 3 m wide is covered with square tiles of colour blue, green and red. One-fourth
of the floor is covered with blue tiles of side 10 cm. Another one-fourth of floor is covered with green
tile of sides 15 cm. The remaining area is covered with red tile of sides 20 cm. Find the number of
blue and red tiles used. /

4 ez 9a1 3R 3 Hex et v Bl iR, 3 iR a1 ¥ & anieR ergal 9 T §o 8| B3 1 U quTs
UTT 10 T &1 Yot aret il eTgal | ShT 9T 81 BRI &1 TH 37 TUTS YT 15 Tt Bt Yo a1dd 8L [T Bt
SISl | 3T g3 81 AW & 20 A YoIr a1t <T3al | ePT g3 21 IUANT fbu 71w et 3R et ergal @t
TS JA B
1. Blue =300, red = 150/
=¥eir = 300, ¥Tel = 150
2. Blue = 300, red = 200/
=TT = 300, €Te = 200
3. Blue =150, red =300/
+fIeir = 150, 716 = 300
4, Blue = 150, red = 200/
Htdlr = 150, €16 = 200
Correct Answer :-
« Blue =300, red =150/
T = 300, AIE = 150

5) Ages of Rahul, Rohan & Ram are 10, 6 and 13 respectively. The sum of their ages will give
Rajeev’s age. Suma is 5 years older than Rajeev. What will be the age of Suma after 3 years? /

G, T 3R | B AT HHR: 10, 6 3R 13 &1 ST AT BT TN Ioi1g BT TG &1 AT, TSNT A 5
¢ 9t ¥1 3 Tul a1g g Pt 3y et gri?

1. 34
2. 30
3. 29

4. 37

Correct Answer :-

« 37

6) Another name for Formalism is ./
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WReUare (bR d R e _ @)
1. Abstractionism / SFEETIET (U o)

2. Deductivism / f&SfaeiasH

3, Logicism / TerHaeTIOIaTG (ATTfb )

4. Induction / SR

Correct Answer :-

+ Deductivism /%3%@

=x?+ax+b

7) 1f the zeros of the polynomial 2¥) are -2 and -3 then @ and ? are: /

qﬁmp{x)=x3+ax+bmw_2 -3 %,?ﬁaqﬁb?:
1.5&-6/5Td -6

2.5&6/5Td6

3.-5&6/-5Td 6

4.-58&-6/-5Td-6

Correct Answer :-

¢ 5&6/5Ud6

8) Which of the following explains the commutative property?/
frofaf@a # @ S-u1 sufafig 1o sren s g2

1. 103 + (25 - 35) = (103 +25) - 35

2. (atb) = (b+a)

3.35-22=(22-35)

4. a(b+c) = ab+ac

Correct Answer -

+ (atb) = (b+a)

9) Which one of the following statements is correct about number? /
Fufafaa & @ F19-91 Y9 98I & da # 94 8?2
1. Every number is a factor of one. / i I&IT TP &1 UeH oidl gl
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2. 2 is the only odd prime number. / 2 TeHE WA 3rHT F@IT 81
3. 2 is the smallest prime number. / ZWWG{WE’@T%I

4, One is a prime number. / 1 T& 34T @7 €|

Correct Answer :-

+ 2isthe smallest prime number. / Zﬂﬁ'ﬁiﬁé’fﬁﬁ-ﬂmw%l

10) A frog falls into a well of 12 meter depth. It tries to jump out. Each times it jumps up it jumps as
high as 3 meter but slides down 2 meter because of slippery wall of the well. In how many jumps
will the frog reach out of the well? /

T Hew 12 Hiex TeR TH $om # FRdr 81 78 a1ex Foa Bt SR &vdr ¢ 1 Ui ) ofd 98 $adT ¢ a
g 3 Hiex SR Ugd WIIT & A 3T & e arell §laR & FROT 2 Hiex ) fraa o 81 o8 | awR
o & o dew &) frat aR T uewm?

1. 12
2. 8
3.6

4, 10

Correct Answer :-

1) In ALMN 2M=70° and LM=NM. Then ~N= /
ALMN &, ~M=70° Ud LM=NM &, T zN=

. 60°

50°
4, 10°

Correct Answer :-

Page- 46



Which of the following is not the solution of the equation y=§x+5? I

ﬁﬁﬁﬁﬁﬁﬁﬁﬂ-ﬂﬂ?ﬁngﬁswwaﬁﬁ?
1. (4,19)
2. (-6,-16)
3, (-12,-37)
4, (-8,23)

Correct Answer :-

. (-823)

13) IfE-}-%: 0 and ax— by = a? — b?, thenx & v =7 /
gfe §+%=Oﬁéax—by=az— b2§, df xTd y =2

e a(e."-l-b::l _ bl:a:-]- b::l

1 al-ht at-h*
_ala*-b?)  b(b*-a?)
T atib® YT atapt
2.

3. x= a(a?+b?), y = b(a-b?)
4, x=a, y=b
Correct Answer :-

_ a[a"—sz _ 'blt'bz— 31]
i T TEaye

14) Ifx+§= 2 then the value of x —iis:.-’
?:r%x+§=z’5‘, Fﬂ'x—i H AT B

1.2

2.0
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4. -1

Correct Answer :-

15)
Find the number of line segments required to make a honey comb structure with 20

compartments arranged linearly? /

(o ¥ F cgafud 20 &30 atell Tk HYHRI IG g & [T aeds

1. 100
2. 105
3. 101

4. 120

Correct Answer :-
« 101

16)  , ||g and /e thetransversal. ~1=61° then £2=7/

2 ||e T [T T Y@ 81 21=61° §.ar 2=

% 1 2
% -
/3
L 61e
5. 118
3, 60¢
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4 119¢°

Correct Answer :-

119¢

17)  In a parallelogram ABCD if 2CDB=45° and 2 DAB=65°. then 2CBD =7/
T FHEIGR dgeiel ABCD#, afg 2cDB=45° 3R £DAB=65°%, @ £CBD =?

60°

4,
Correct Answer :-
70¢

18) A number “a” divides 1320 and 781 exactly. Given a=1, then the number ‘a’ is not a factor of
i

Teh TEAT ‘2’ 1320 3R 781 &1 qoich: fasnfara et &1 o21 f&m amar 8, ar |ear 2
__ T HEs F@R gl

1. 2101

2. Itself / T
3,539

4. 125

Correct Answer :-

19) TIn atiangle ABC if ZCAB=70°, and AB=AC then £B and 2C are /
T T ABCH, i £CAB=70° iR AB=AC#H, a B3R .C§:
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80e, 80°

55¢, 80°

55", 55°

20¢, 80°

Correct Answer :-
3% hae

20) 2xi6_-2 o 2x+6 -2 _
Ifa_g - then x=/Tf¢ PR %‘, ar x=

1.2
2.1
3.3

4. 4

Correct Answer :-

21) Choose the number divisible by 9. /
9 ¥ faviora 1 arelt wEn &1 999 F3
1. 9987123
2. 3425816
3. 6789548

4. 4536279

Correct Answer :-
* 4536279

+ 65x + 4m

2 2
22) Eind the value of m, if one zero of the polynomial (m? +4)x is the reciprocal of the

other: /

gfg agug (m* + 42 + 652 + 4m o1 yep U 37T BT G 8, A m B A T BY:
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1, V2
2.3

3.1

4, 2

Correct Answer :-

R 2 —
23) Find the value of m if (x-1) is a factor of P} = ¥° +6x* —2x— 5m.

.qﬁp(x} =x3 + 632 —2x— Smmw(x_l) 2, A m &1 54 3 $31
1.2
2.-1
3.2

4. 1

Correct Answer :-

24) Find the whole numbers, / U0 &1 T B3|

16 x 8725 X 625
1. 87,389,600
2. 87,250,000
3. 83,760,000

4, 87,110,000

Correct Answer :-
« 87,250,000

25) James is inside an aeroplane flying at a height of 7000 meter above the sea which is below sea

level at a level. At a particular point, it is exactly above a submarine depth of 1/6 the height of
plane. What is the vertical distance between James and the submarine? /
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R U gATSIETS & 3ieX & Wil Ug% a4 § 7000 Hex $1 Hurs R 3¢ 671 81 U@ vy fig v, a8
TH Tgsdl & 3IP FHUR & O FARoe & 1/6 TS 1T IY% a9 & AId 81 9T Td Ugedt &
7 SR il fpadi 82

1. 8333.33 meter /8333.33 Hiex

2. 9166.66 meter / 9166.66 HieT

3. 9333.33 meter/9333.33 Hiex

. 8166.66 meter / 8166.66 HicY

N

Correct Answer :-

«  8166.66 meter / $166.66 HIET

26) Anil is 6 years older than Akhil. Akhil is 36 months younger than Vijay. If Vijay's age is taken as
y, then age of Anil is: /

e omg ¥ e & 6 ad ae1 31 e g A g A 36 wdH oter 81 3fe s ot amg y & wu §
ST &, @ Sffa ot oy &:

1. 6(y-36)
2. 6+(y-3)
3. 6+(y-36)
4. (y+6)

Correct Answer :-

27) If 76x — 189y = -37 & -189x + 76y = -302, then find the value of x and y. /
Tfe 76x — 189y = -37 UG -189x + 76y = -302 §, dl x UF y & HIF FId B3|
l.x=-2,y=-1

2.x=-2,y=1

.x=2,y=1

4. x=2,y=-1

Correct Answer :-

28) '‘Mahabhaskariya’ an astronomical work completed in eighteenth century is written by: /
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"HETHRSAY’ S3REdl Tdled) § quf fpar mnes @iieig e R grr e man g1
1. Aryabhata - IT / TIYE - |

2. Sridhara / H14R

3. Bhaskar Acharya / YR 3{TaR

4. Ramanujan / JHITST

Correct Answer :-

o Bhaskar Acharya / HRHX 3

29) ____arerelated to growing plants. /
god Y | Wafa g

1. Natural numbers / U@ﬁﬁﬁ =AU

2. Real numbers / W%WTE{

3. Fibonacci numbers / Ww

4, Rational numbers / TR T@ATY

Correct Answer :-

« Fibonacci numbers /w J=a

30) The length and breadth of a cuboid is 12 cm and 9 cm respectively. If the total surface area of
the cuboid is 678 cm?2 , then the height of the cuboid is: /

maﬁﬁaﬁaﬁﬁﬁaﬁm: 12 9} il 9 Fft B1 ol oy &1 pa gty dawa 678 W2 8, o wnv @t

1. 15cm/ 15 TH
2. 11 ¢m/ 11 9+t
3. 6cm/ 6 IH

4,21 cm /21 Tt

Correct Answer :-

o 1lem/ 119

31) The sequence of steps for mathematical modelling is:
1) Understand the problem.
2) Mathematical description and formulation.
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3) Solving mathematical problem.
4) Interpreting the problem and validating.

/ Tifvrdta wferegur (disfeiT) & fore wvoil &1 3w B:
1) U/ THETd S FHSAT

2) iRt faraRor SR EwRon

3) MO WS/ HHRATS BT HHTYTH HIAT

4) VY /IR Bt TS BT 3R AT AT
1534814

2.1,4,3,2

3.2,1,3,4

4.1,2,34

Correct Answer :-

32) The main body of the lesson plan is based on the Herbartian principle of: /

TS T BT T-T UTT & gd¢ fygia R anutia g1

1. Presentation / mﬁ"f
2. Conclusion / B

3. Introduction / uReg
4. Association & Generalization / T 3R A

Correct Answer :-

« Association & Generalization / T SR FH=iieu

33) simplify:- 0¥ (50¥% —98) + 26y*(5y +7)
v IHE0? - 98) + 265255+

L. 2y(5y-7)

2. 3y(5y+7)

3 By =7

4 20y +7)

Correct Answer :-
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34) Two triangles ABC and DEF are similar and the ratio of their areas is 25:9, then the ratio of their
corresponding sides is, i

a’rﬁgﬁrgscqﬁDEF TUEY § aYT §9% AT BT SUTd 25:9 B, df 3! T Yorrait &7 rgurd
I

1. 4:5
2. 53
3. 3:5

4. 54

Correct Answer :-

35) If mean and mode of a data are 11 and 8 respectively, then median=___ ./
Ife U SHST & AT SR Iga® HHS: 11 AUT8 &, A WfddT=_ I

1. 10

2,11

3.8

4,12

Cﬁrréct Ar.lswér":-

« 10

36) In a parallelogram ABCD, DC = 16 cm. If the altitude corresponding to the sides AB and
AD are respectively 8 cm and 10 cm, then AD=___./

T WHHIGR 9G4St ABCD #, DC = 16 91 81 afe I YT AB TUT AD F1 4TS HH: 8 AH a1
10T, TAD=___ |

1. 16 cm/ 16 I
2.12.5 cm/12.5 99
3. 12 cm/ 12 94t

4.12.8 cm/12.8 9
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Correct Answer :-

o 12.8 cm/12.8 &t

37) The mean of 25 observations is 36. If the mean of the first 13 observations is 32 and that of
the last 13 observations is 39, the 13th observation is : /

25 DN T HTE 36 B 1 TS Ued 13 W&ol T AIed 32 U 3ifaw 13 Ueron &1 A1ex 39 §, ot 1397 H&ur g:
1.22
2.25
3.26

4. 23

Correct Answer :-

« 23

38) What is the ratio in which the join of A(-4,3) and B(2,-6) divided by the y-axis? /

I8 ST 1 B, R g A(4,3) T B(2,-6) Y fra arelt Y y-arer g1 Ry gt 22
1. 1:4

2.2:1

%12

4, 4:1

Correct Answer :-

39) Construction of altars for the sacrifice, applying geometrical facts to perform duties by fixing east-
west was assigned to the Vi

Fftrer & fore afeaY &1 fmfor v, od- afdm &t fRR F7d 3T el 9 oA & forg snfda
T B AR B T DY, P T T AT

1. Sulbhakars / JedlhX
2. Aryabhatta / GH'ff'l-IE'

3. Bhaskara / HIXPY
4. Brahmagupta / STgl{ &
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Correct Answer :-

+ Sulbhakars / {edllh

40) Three cubes each of edge 4 cm are joined end to end horizontally, then the lateral surface area of the
resulting cuboid is: /

4 T FHRY ara e v 1 eiforw g Afte o A 92 gu ?, O uRumt w1 uief gty derea @:
1. 120 cm?/ 120 2

2. 150 cm?/ 150 2

3. 128 cm?/ 128 Ifi2

4. 95 cm? / 95 T2

Correct Answer :-

. 128 cm?/ 128 T2

41) Which of the following is an example of a cubic polynomial? /
FrafaRaa § § $1=-91 4 9gUG BT U IEI0 87

L X503

2. X24x

3. x3+x

4. x4x3

Correct Answer :-

o X34x

42) describes steps or a set of do’s and don’ts to a method or strategy. /

o fAf¥ g1 oIS & == a1 9l & HIA U A8l PR BT 9uiH BT gl
1. Technique/?‘lﬁ_"ﬂag

2. Tactics / Hﬁf
3. Method / fafer

4. Approach / SUNTH
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Correct Answer :-

» Technique / GERIED

43) The respective positions of three friends A, B and C are (3, 2), (6, 5) and (9, 8) respectively. What
does the three points joined together make? /

A SR A, B Ud C & Gl R w0 (3, 2), (6, 5) 31 (9, 8) &1 A1 fag ue Ty firaress Fam 9l 82
1. An obtuse angled triangle / T amurﬁvﬂ

2. A line segment / T &1 TS

3. An equilateral triangle / T 9HaTg Y

4. A right angled triangle / @WUT ﬁﬂjﬁr

Correct Answer :-

« Aline segment / T8 41 ©8

44) One among the below does not belong to creative behaviours and that action verb is sl
579 H A U@ YIS e ¥ Haw 81 twdi ¢ iR a8 fhurere fbar__ ®1

1. reconstruct / Hqﬁ'qu

2. design / UIHT

3. compare / eIl

4. alter/‘TR’aT‘T:[

Correct Answer :-

« compare / &I

45) The radius of a circle whose circumference is equal to the sum of the circumference of the two
circles of diameters 36 cm and 20 cm is ./

TmgdIEe ® Rrae aiiiy 36 D 9yt 20 9 oy a1 < g B R S AT S SRR 21
1. 56
2. 24
3. 28

4. 14

Correct Answer :-
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46) The major aim of mathematics education is: /

1. Preparing for competitive exams / uﬁuﬁuﬂ&nﬁ%%@ﬂﬁ C2EI
2. Mathematisation of the child's thought process / = B[R Ufehar &1 RSB
3. Solving problems /ﬂ%ﬁﬁw

4. Improving computational skills / GITUTHTHD GANY ﬁﬂ‘éﬂ—\’Eb_FIT

Correct Answer :-

. Mathematisation of the child's thought process / &= @1 AR UfehdT &1 TTOMAH T

47) ‘Micro teaching is a scaled down teaching encounter in class size and class time’
was stated by: /

TS RIGT, F&T P SATHR 3R H&IT S FHa § Raror Jod #t a1, 59
_ S ERISEIA

1. Piaget/ﬁm@f
2. DW. Allen / S1.8&Y, TaiH
3. Gagne/ﬁe[

4. Bruner / §[-IX
Correct Answer :-

. DW. Allen / 81 8¢, Tl

48) Which of the following is considered as the most suitable approach in mathematics curriculum
organization? /

fafifaa & & fra i ureumy sraw # T SugeEd Y v /1T ST @2
1. Psychological ;’IF'ﬁaEITﬁTﬁ
2. Topical / TTHRI®
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3. Unitary / UBRTHD
4, Spiral / gt

Correct Answer :-

« Spiral / gita

49) Which of the following is related with Cognitive Domain? /
fFrafed o & B WS & @ Hefta g2

1. Valuing / Hgd Coll

2, Applying / TIR] T

3. Receiving / UG UT BT

4, Responding;‘maﬂ

Correct Answer :-

» Applying / TR AT

50) Which of the following aim of teaching mathematics help the individual to become self-
reliant and independent? /

Tford wg= & fFafifed Sexal d O o 91 3exg, fed & R ok wag s |
HeE BIal 82

1. Disciplinary / S{IRITHIHDP
2. Utilitarian / SUARIT

3. Cultural / ﬂ@ﬁﬁﬁ
4. Social / TMHTRIH

Correct Answer :-

« Disciplinary / S{RITIHDP

51) Item analysis is a quality assessment strategy to prepare il
e fa=auor TR S & 1T TP orawn Yeaid T 2

1. Question bank / gy d

2. Evaluation / Gedicbd

Page- 60



3. Examination / Ryt

4, Student performance / EIER LT

Correct Answer :-

« Question bank / U¥ §&

52) CANCELLED

If the radius and height of a cylinder are in the ratio 5:7 and its volume is 550 cubic m, then its
radius is Wi

uﬁwéa;aﬁﬁmw“mﬁmmsv%wwwsso e Hiex §, o g9t AW
|

1. 6 cm/ 6 9Hl
2. 7cm/79H
3. Scm/5TH

4, 4.5 cm /4.5 It

Correct Answer :-

¢ 5cm/saHl

53) CANCELLED

Three-dimensional topology is a branch in mathematics which is more related with

v

%ﬂqmm(ﬂu’lﬁﬁﬁ)ﬂfﬂmﬁww%ﬁ q aifere Hefta
|

1. Biotechnolog\//aaﬁ@ﬁaﬁ
2. Economics / SR

3. Chemistry / 910 a3

4. Physics / Hifaiep fagm
Correct Answer :-

. Physics / Wifas fagme
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54) CANCELLED

The equation of line passing through (2,3) and parallel to x-axis is o
39 Y@ &1 gHer 2, 511 (2,3) ¥ b ol 8 TUT x-348f & THHIR 2

1 r=2

55) CANCELLED

Ifthe sum and product of whose zeroes are 2 and —% . then the quadratic polynomial is i

afe AT 3R 3TS AT F AUIAHS 2 T —g AGIRACIECI S gl

1 5x2—10x -3
2. Sx%+10x +3
3, SxZ+10x —3
4. x%—10x +3

Correct Answer :-

5x%—10x —3

56) CANCELLED

The angle which is 24° less than its complement is: /
TE HIOT ST ITeT THQ R I 24° HH G

1L 57

= 47

3, 33°
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Ade
4 24

Correct Answer :-

57) CANCELLED

Z
Area of a quadrilateral ABCD is 35 CM~" The length of the perpendiculars on its diagonal BD from A
and D are 3 cm and 4 cm respectively. Find the length BD. /

TG ABCD HT 7% 35 GHI2 81 A 3R D ¥ 59 faw vl BD W da &1 oaTs sha=n: 3 A i 4
I+l 81 BD &} wiars 31d B

1. 10 cm/ 10 TH
2. 15em/ 15 9Ht
3. 25 cm /25 9Ht

4, 12 cm/ 12 Tt

Correct Answer :-

e 10 cm/ 10 Tt

58) Express 486 as a product of powers of prime factors. /
486 HI AU UIH| & °Td & UMD & U H oJad B |
1,3

2 x5

321x3°

4,55 %2

Corréct Ansﬁrer :-.

- Plaedd

59) Jeevan fills a wall in his room with the photos he took. The size of a photo is 21 cm by 18 cm. If
he uses 6 photos, then what is the area of the wall? /

ST A 3T IR P TP IR ) WU gRT A TS TR A 4R fean) v ok 1 3R 21 I x
18 A B 1 92 98 6 TR &1 ST HaT B, A IR BT &A% fba=r 272

1. 2068 sq cm /2068 TR

Page- 63



2. 2268 sq cm / 2268 aHT
3.378 sq cm /378 i
4. 2334 sq cm /2334 AU
Correct Answer :-
« 2268 sq cm /2268 AIGH
& _ 2
60) 1¢x° — 3%+ 245 4 factor of ¥~ P T4 then find the value of © and 7' /
afy ¥ Pt O grgem ¥~ 30+ 28 G ok T o ar F R
r
1.p:5,q=4
2.p=4lq=3
3.?3:21@:1
g 0= 8g=2

Correct Answer :-

. p:s,qzq-
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